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gm‘mÝ¶ AÜ¶¶Z
11) AmYw{ZH$ ^maVmMm {deofV: ‘hmamï´>mMm B{Vhmg
12) ^maVmMm {deofV: ‘hmamï´>mMm ŷJmoc
13) hdm‘mZ ~Xc, H$maUo n[aUm‘ d Cnm¶, AmnÎmrMo n[aUm‘ d ì¶dñWmnZ
14) ^maVr¶ amÁ¶ì¶dñWm, H$ë¶mUH$mar amÁ¶
15) AW©ì¶dñWm
16) {dkmZ
17) amï´>r¶ d Am§Vaamï´>r¶ Mmcy KS>m‘moS>r

(15) AW©ì¶dñWm
45) ZrVr Am¶moJ d amï´>r¶ {dH$mg n[afX
46) n§Mdm{f©H$ ¶moOZm§Mm B{Vhmg
47) gyú‘ {Z¶moOZ
48) ~oamoOJmar, H$m¡eë¶ {dH$mg d ñd¶§amoOJma
49) ^maVr¶ AW©ì¶dñWm, Am{W©H$ {dH$mg d {Z¶moOZ

(16) {dkmZ
50) gm‘mÝ¶ {dkmZ
51) Amamo½¶ d nmofH$ Amhma (hoëW A±S> Ý ỳ{Q´eZ), CnMmaemñÌr¶ AÞ
52) n¶m©daU nyaH$ Kao
53)  ‘yc ŷV g§JUH$ V§ÌkmZ, g§n«ofU, _m{hVr d g§kmnZ V§ÌkmZ

(17) amḯ>r¶ d Am§Vaamḯ>r¶ Mmcy KS>m‘moS>r
1) OmJ{VH$ amOH$s¶ KQ>Zm -

Am§Vaamï´>r¶ g§~§Y, {eIa n[afXm, {ZdS>UwH$m, g§ajU{df¶H$ KQ>Zm, ‘mZdr h¸$ g‘ñ`m, Am§Vaamï´>r` g§KQ>Zm - UN,

ASEAN, BRICS, European Union, G20, OPEC, SCO, SAARC, NAM

2) amîQ́>r¶$ amOH$s¶ KQ>Zm -
amOH$s` nj, {ZdS>UwH$m, àemgZ, Ý¶m¶mb¶rZ {ZH$mb, Am¶moJ, H$m¶Xo d KQ>ZmXþéñË¶m, Am§XmobZo, amï´>r` / ‘hmamï´>
ñVamdarb g§KQ>ZmË‘H$ d g§ñWmË‘H$ ~m~r

3) OmJ{VH$ Am{W©H$ d {dÎmr¶ KQ>Zm -
OmJ{VH$ ñVamdarb Am{W©H$ KS>m‘moS>r, {dXoer ì¶mnma, OmJ{VH$ ~±H$, IMF, WTO

4) amîQ´>r¶$Am{W©H$ d {dÎmr¶ KQ>Zm -
amï´>r` CËnÞ, {dH$mg H$m ©̀H«$‘, AW©g§H$ën d gmd©O{ZH$ {dÎm, ~±qH$J, H¥$fr d J«m‘rU {dH$mg, Xm[aX²Œ¶ d ~oH$mar, CÚmoJ
Am{U nm¶m ŷV joÌmVrb KQ>Zm

5) V§Ìd¡km{ZH$ KQ>Zm -
D$Om© V§ÌkmZ d AmpÊdH$ àH$ën, Am¶grQ>r, AdH$me{dkmZ

6) d¡km{ZH$ KQ>Zm -
d¡km{ZH$ g§ñWm d g§emoYH , O¡dV§ÌkmZ, amoJ{dkmZ $
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7) gm‘m{OH$ d e¡j{UH$ KQ>Zm -
gm‘m{OH$ gwajoMo CnH«$‘ d nwT>mH$ma, gd©g‘mdoeH$Vm, d§{MV O‘mVr Am{U g‘wXm`

8) e¡j{UH$, H$m¡eë¶ {dH$mg d Amamo½¶ joÌmVrb KQ>Zm -
e¡j{UH$ d Amamo½¶ joÌmVrb KQ>Zm, amoOJma {Z{‘©Vr d H$m¡eë¶ {dH$mg

9) ^m¡Jmo{bH$ d n¶m©daU{df¶H$ KQ>Zm -
àH$mePmoVmVrb ñWio, gr‘m Am{U g§Kf©, amOYmZr Am{U ‘hÎdmMr ehao, YaUo Am{U àH$ën, amOH$s¶ ŷJmob,
n¶m©daU n[afXm, g§dY©Z, H$m¶Xo, AmnÎmr ì¶dñWmnZ

10) gm§ñH¥${VH$ d n¶©Q>Z KQ>Zm -
g§JrV d Z¥Ë¶, {MÌnQ> Am{U CËgd, ¶mÌm, g§ñWm d ñ‘maHo$

11) gm{hpË¶H$ KQ>Zm -
àH$mePmoVmVrb nwñVHo$ d boIH$, _amR>r gm{hË` g§_ocZ d BVa CnH«$‘

12) Zo‘UwH$m, {Z¶wº$s d àH$mePmoVmVrb ì¶º$s -
Am§Vaamï´>r`/amï´>r`/‘hmamï´> - ZoVo, AÜ`j, n§VàYmZ, ‘wËgÔr

13) nm[aVmo{fH$, nwañH$ma d ~hþ‘mZ -
Am§Vaamï´>r`/amï´>r`/‘hmamï´> - ZmJar nwañH$ma, em¡̀ ©, {MÌnQ>, gm{hË`

14) H«$sS>m{df¶H$ KQ>Zm -
H«$sS>m ñnYm©, IoimSy>§Mr H$m‘{Jar, àH$mePmoVmVrb IoimSy> d à{ejH$, Am°qb{nH$, Am{e`mB© Ioi, A°Wbo{Q>Šg, hm°H$s,
~°S>q‘Q>Z, ~w{Õ~i, {H«$Ho$Q>, ’w$Q>~m°b, Q>o{Zg

15) gm‘mÝ¶kmZ -
‘hÎdmMo {Xdg d df©, gd©àW‘, gdm©V ‘moR>o/N>moQ>o, Eo{Vhm{gH$ KQ>ZmH«$‘
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g‘mOH$ë¶mU ghm¶H$ Am¶wº$ narjm Aä¶mgH«$‘
* ‘amR>r
1) gd©gm‘mÝ¶ eãXg§J«h
2) dm³¶aMZm
3)  ì¶mH$aU
4) åhUr d dm³àMma ¶m§Mm AW© Am{U Cn¶moJ B.

* B§J«Or
1) Common Vocabulary

2) Sentence structure

3) Grammar

4) Uses of Idioms and phrases and their meaning etc.

g‘mO H$ë`mU AÜ``Z

1) g‘mO H$ë`mU AÜ``Z
2) g_mOH$ë¶mU  àemgZ
3) ^maVr¶ gm‘m{OH$ g‘ñ¶m d Cnm¶¶moOZm
4) g~brH$aU d gm‘m{OH$ gwajm g§X^m©Vrb H$m¶Xo
5) J««m‘rU g‘mO gwYmaUm CnH«$‘
6) H$ë¶mUH$mar amÁ¶
7) ‘mZdr h¸${df¶H$ ~m~r
8) g‘mOH$m¶m©À¶m g§~§{YV g‘mOemó, ‘mZgeñó/{ejU d AW©emó
9) _mZdr A{^d¥Õr d ì¶{º$‘Îd {dH$mg -  ì`{º$‘Îd d gm‘mOrH$aU
10) ‘yc ŷV g§emoYZ kmZ

gm‘mÝ¶ AÜ``Z

11) AmYw{ZH$ ^maVmMm {deofV: ‘hmamï´>mMm B{Vhmg, g‘mO gwYmaH$m§Mo H$m¶©
12) ^maVmMm {deofV: ‘hmamï´>mMm ŷJmoc
13) hdm‘mZ ~Xc, H$maUo n[aUm‘ d Cnm¶, AmnÎmrMo n[aUm‘ d ì¶dñWmnZ
14) ^maVr¶ amÁ¶ì¶dñWm
15) AW©ì¶dñWm
16) {dkmZ
17) amï´>r¶ d Am§Vaamï´>r¶ Mmcy KS>m‘moS>r
18) ~w{Õ‘Îmm MmMUr
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g‘mO H$ë`mU AÜ``Z
1) g‘mO H$ë`mU AÜ``Z
2) g_mOH$ë¶mU  àemgZ
3) ^maVr¶ gm‘m{OH$ g‘ñ¶m d Cnm¶¶moOZm
4) g~brH$aU d gm‘m{OH$ gwajm g§X^m©Vrb H$m¶Xo
5) J««m‘rU g‘mO gwYmaUm CnH«$‘
6) H$ë¶mUH$mar amÁ¶
7) ‘mZdr h¸${df¶H$ ~m~r
8) g‘mOH$m¶m©À¶m g§~§{YV g‘mOemó, ‘mZgeñó/{ejU d AW©emó
9) _mZdr A{^d¥Õr d ì¶{º$‘Îd {dH$mg -  ì`{º$‘Îd d gm‘mOrH$aU
10) ‘yc ŷV g§emoYZ kmZ

(1) g‘mO H$ë`mU AÜ``Z
1) g‘mOH$m¶m©Mm B{Vhmg d VÎdkmZ, g‘mOemó d AW©emó
2) g‘mOH$m¶m©À¶m nÕVr
3) g‘mOH$m¶m©Mr ‘yë¶o d VÎdo
4) g‘mOH$m¶m©Mr joÌo
5) ^maVmVrb g‘mOH$m¶m©Mo à{ejU, gm‘m{OH$ H$m¶©H$Ë¶mªMr ŷ{‘H$m d ñd¶§godr g§ñWm§Mo ¶moJXmZ d hñVjon

(2) g_mOH$ë¶mU  àemgZ
1) gm‘m{OH$ Ý¶m¶ d g_mOH$ë¶mU  ImVo -g§ñWm, Am¶moJ
2) emgH$s¶ gm‘m{OH$ YmoaUo
3) amîQ´>r¶ d Am§Vaamï´>r¶ ñVamdarb YmoaUo
4) emgH$s¶ d AemgH$s¶ g§KQ>Zm§Mo H$m¶©H«$‘ d godm
5) àemgH$s¶ H$m‘H$mO d {Z¶‘mdbr
6) àemgH$s¶ gwYmaUm
7) Ý¶m¶m{YH$aU , Am¶moJ d g{‘Ë¶m
8) ñd¶§godr g§ñWm - àH$ma d ì¶dñWmnZ
9) {Zdmgr g§ñWm ì¶dñWmnZ - àemgH$s¶ {Z¶‘ d gw{dYm- dg{VJ¥hm§Mo CÔoe, àemgH$s¶ O~m~Xmar,

Am{W©H$ ~m~r, gmo¶rgw{dYm nwadR>m, n¶©dojU, nmcH$Ëd, {eñVnmbZ
10) nm¶m ŷV gw{dYm {dH$mg

(3) ^maVr¶ gm‘m{OH$ g‘ñ¶m d Cnm¶¶moOZm
* ^maVmVrb  ‘hÎdmÀ¶m gm‘m{OH$ g‘ñ¶m -

1) e¡j{UH$ g‘ñ¶m - {ZajaVm
2) Amamo½¶{df¶H$ g‘ñ¶m - ŷH$~ir d Hw$nmofU
3) gm‘m{OH$ g‘ñ¶m - OmVrdmX d OmVr¶dmX, A§YlÕm, ì¶gZmYrZVm
4) bmoH$g§»¶m{df¶H$ g‘ñ¶m
5) Am{W©H$ g‘ñ¶m -~oamoOJmar
6) amOH$s¶ g‘ñ¶m - «̂ï>mMma, {h§gmMma
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* d§{MVm§À¶m ( {ó¶m, ‘wbo, ¶wdH$, d¶mod¥Õ, {Xì¶m§J, Hw$Qw>§~) g‘ñ¶m d gm‘m{OH$ H$m¶Xo -
7) ‘{hbm§À¶m g‘ñ¶m, gdmªJrU {dH$mg d gwa{jVVm, ‘{hcm gj‘rH$aU
8) ~mbH$m§À¶m g‘ñ¶m
9) ¶wdH$m§À¶m g‘ñ¶m
10) d¶mod¥Õ/Á¶oîR  ZmJ[aH$m§À¶m g‘ñ¶m
11) {Xì¶mJm§À¶m g‘ñ¶m
12) V¥Vr¶n§Wr¶m§À¶m g‘ñ¶m d Cnm¶
13) eoVH$ar, ŷ{‘hrZ eoV‘Oya, ñWcm§V[aV eoV‘Oya ({deofV: D$gVmoS> H$m‘Jma) ¶§mÀ¶m g‘ñ¶m d Cnm¶
14) Ag§K{Q>V H$m‘Jmam§À¶m g‘ñ¶m d Cnm¶
15) ‘mJmgdJu¶m§À¶m g‘ñ¶m d Cnm¶
16) nm¶m ŷV gw{dYm -eharH$aU d ~H$mc dñË¶m, g’$mB© H$m‘Jmam§À¶m g‘ñ¶m d Cnm¶
17) {dH$mg-n¶m©daU hmZr d  nwZd©gZmMr g‘ñ¶m

(4) g~brH$aU d gm‘m{OH$ gwajm g§X^m©Vrb H$m¶Xo
* Xþ~©c KQ>H$m§gmR>r gm‘m{OH$ gwa{jVVm H$m¶Xo -

1) ñ§{dYmZmË‘H$ VaVwXr
2) ‘{hcm gwajm H$m¶Xo
3) ~mbmµH$ - gm‘m{OH$ gwajm H$m¶Xo (nrgrAma, nrAmoE, ~mbH$m‘Jma)
4) Á òð> ZmJ[aH$-  AmB©, dS>rc d Á¶oð> ZmJ[aH$m§À¶m M[aVmW© d H$ë¶mUmgmR>r A{Y{Z¶‘ - 2007/2010
5) AZwgy{MV OmVr d AZwgy{MV O‘mVr,
6) {Xì¶m§J ì¶³Vr
7) H$m‘Jma H$m¶Xo
8) BVa ‘hÎdmMo gm‘m{OH$ H$m¶Xo

* ZmJ[aH$mgmR>r ‘hÎdmMo emgH$s¶ H$m¶Xo -
9) «̂ï>mMma à{V~§Y A{Y{Z¶‘ 1988
10) J«mhH$ g§ajU A{Y{Z¶‘ 2019
11) ‘hÎdmMo emgH$s¶ H$m¶Xo, XheVdmX à{V~§YH$ H$m¶Xo
12) ‘m{hVr V§ÌkmZ A{Y{Z¶‘, 2000
13) ‘m{hVrMm A{YH$ma A{Y{Z¶‘, 2005
15) ‘mZdr h¸$m§Mo g§ajU A{Y{Z¶‘, 1993

(5) J««m‘rU g‘mO OrdZ
1) J««m‘rU g‘mO OrdZ, ~cwVoXmar nÕV, OmVr ì¶dñWm d OmVr ì¶dñWoMm g‘mOmda hmoUmam n[aUm‘.
2) O‘rZ YmaUm ‘Yrc Ag‘mZVm, {d{dY nÕVr - O‘rZXmar, a¶Vdmar, ‘hmcdmar, ImoVr nÕV
3) ñdV§Ì ^maVmVrc O‘rZ ‘mcH$s gwYmaUm CnH«$‘, ŷXmZ Midi d J«m‘XmZ Midi g‘mO gwYmaH$m§Mo H$m¶©
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(6) H$ë¶mUH$mar amÁ¶

1) H$ë¶mU, {dH$mg, g~brH$aU
2) emídV {dH$mg - E‘S>rOr, EgS>rOr
3) ‘Zwî¶~i {dH$mg
4) gd©g‘mdoeH$Vm
5) àmXo{eH$ Ag‘Vm

(7) ‘mZdr h¸${df¶H$ ~m~r
1) g§H$ënZm - Am§Vaamï´>r` _mZdr h¸$ _mZH$
2) _mZdr h¸$ g§X^m©Vrc ^maVr` amÁ`KQ>ZoVrc VaVyX
3) ^maVmVrc _mZdr h¸$ d O~m~Xmè`m §̀ÌUoMr A§_c~OmdUr d g§ajU, ^maVmVrc _mZdr h¸$ Midi,
4) ‘mZdr A{YH$mam§Mm OmJ{VH$ OmhraZm‘m, 1948
5) ‘mZdr A{YH$mam§Mm OmJ{VH$ OmhraZm‘m, 1966
6) _mZdr h¸$mnmgyZ d§{MV amhÊ`mÀ`m g_ñ`m, Jar~r, {ZajaVm, ~oH$mar, gm_m{OH$ - gm§ñH¥${VH$ - Ym{_©H$ àWm

`mgma»`m AS>MUr, ([h§gmMma, «̂ï>mMma, XheVdmX, H$m_Jmam§Mo emofU, g§a{jV JwÝhoJmar, BË`mXr.)
7) amï´>r¶ ‘mZd A{YH$ma Am¶moJ  , amÁ¶ ‘mZd A{YH$ma Am¶moJ
8) amï´>r¶ ‘mJmgdJu¶ Am¶moJ
9) amï´>r¶ AZwgy{MV OmVr Am¶moJ
10) amÁ¶ AZwgy{MV OmVr d AZwgy{MV O‘mVr Am¶moJ
11) amï´>r¶ AZwgy{MV O‘mVr Am¶moJ
12) amï´>r¶ ‘{hcm Am¶moJ , amÁ¶ ‘{hcm Am¶moJ
13) amï´>r¶ Aëng§»¶m§H$ Am¶moJ
14) ‘m{hVr Am¶moJ
15) amÁ¶ ‘mJmgdJ© Am¶moJ

(8) g‘mOH$m¶m©À¶m g§~§{YV g‘mOemó, AW©emó
1) g‘mOH$m¶m©À¶m g§~§{YV g‘mOemó
2) g‘mOH$m¶m©À¶m g§~§{YV ‘mZgemó / {ejUemó
3) g‘mOH$m¶m©À¶m g§~§{YV AW©emó

(9) _mZdr A{^d¥Õr d ì¶{º$‘Îd {dH$mg -  ì`{º$‘Îd d gm‘mOrH$aU
1) {Zdmgr g§ñWmVrb {dÚmÏ¶m©§Mm ì`{º$‘Îd {dH$mg-

‘mZ{gH$, ~m¡{ÕH$, ì`{º$‘Îd d H$m¡eë¶ {dH$mgmVrb ŷ{‘H$m, ZdrZ CnH«$‘
2) {Xì¶m§J ì¶º$s¨Mm ì`{º$‘Îd {dH$mg
3) _mZdr A{^d¥Õr d ‘mZd g§gmYZ {dH$mg
4) ì¶{º$‘Ëd {dH$mg -ì¶{º$‘Ëd d gm‘mOrH$aU
5) {ejU d _mZdr A{^d¥Õr
6) Amamo½¶ d _mZdr A{^d¥Õr
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(10) ‘yc ŷV g§emoYZ kmZ
1) g§emoYZmMo  àH$ma, g§emoYZmMr à{H«$¶m
2) g§emoYZ AmamIS>m
3) g§emoYZ A{^`mo½`Vm
4) dmMZ AmH$bZ
5) AmYmagm_J«r AW©CH$b
6) AÜ`mnZ A{^`mo½`Vm
7) Cƒ {ejU nÕVr
8) ì¶mdgm{¶H$ {ejU H$m¡eë¶ {dH$mg

gm‘mÝ¶ AÜ¶¶Z

(11) AmYw{ZH$ ^maVmMm {deofV: ‘hmamḯ>mMm B{Vhmg

1) ẁamo{n`Z Am{U A±½bmo - {~«{Q>e ẁÕo
2) {~«{Q>e àemgZ - JìhZ©a OZaëg Am{U ìhmB©gam°̀ m§Mr ŷ{‘H$m
3) {~«{Q>e amOdQ>rVrb KQ>ZmË‘H$ gwYmaUm, H$m`Xo, Am¶moJ d g{‘Ë¶m
4) gm‘m{OH$ Ym{‘©H$ gwYmaUm
5) {ejU Am{U àog
6) {~«{Q>e amOdQ>rMm Am{W©H$ n[aUm‘
7) amï´>dmX Am{U amOH$s` g§KQ>Zm§Mm CX`
8) H«$m§{VH$maH$ g§KQ>Zm d amï´>dmX
9) H$m±J«og nj - g§ñWmnH$, A{YdoeZo, R>amd
10) ñdmV§Í¶ Midi - H$m±J«og, ñdXoer, Agh`moJ, g{dZ` H$m`Xô §J, ^maV N>moS>mo
11) eoVH$ar Am§XmobZ Am{U H¥$fr gwYmaUm
12) H$m‘Jma Midir Am{U H$m‘Jma g§KQ>Zm
13) ‘wpñb‘ brJ Am{U ’$miUr
14) ñdmV§Í¶ Am{U g§~§{YV g‘ñ`m
15) g§̀ wº$ ‘hmamï´> Midi d ñdmV§Í¶moÎma ^maV

(12) ^maVmMm {deofV: ‘hmamḯ>mMm ŷJmoc
1) ^m¡{VH$ ŷJmob - nd©V, nR>ma, dmid§Q>, {H$ZmanÅ>r, ~oQ>o
2) dZo Am{U dZñnVr, n[apñW{VH$s, n`m©daU
3) ‘hmamï´>mVrb O{‘ZrMo àH$ma
4) à‘wI {nHo$ - eoVr
5) ehao Am{U ZmJarH$aU
6) Am{W©H$ ŷJmob - I{ZOo Am{U D$Om© g§gmYZo, dmhVyH$ Am{U n ©̀Q>Z
7) CÚmoJ
8) amOH$s` ŷJmob - bmoH$g§»`m, ^mfm, O‘mVr Am{U d§e, ñWmZo Am{U gr‘m
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(13) hdm‘mZ ~Xc, H$maUo n[aUm‘ d Cnm¶, AmnÎmrMo n[aUm‘ d ì¶dñWmnZ

27) hdm‘mZ ~Xc, H$maUo n[aUm‘ d Cnm¶
28) Z¡g{J©H$ d ‘mZd{Z{‘©V AmnÎmrMo n[aUm‘ d ì¶dñWmnZ

(14) ^maVr¶ amÁ¶ì¶dñWm, H$ë¶mUH$mar amÁ¶
29) ^maVr¶ amÁ¶KQ>Zm ({deofV: amÁ¶KQ>ZoMr àmñVm{dH$m)
30) ‘yc ŷV h¸$, ‘mJ©Xe©H$ VÎdo d ‘yc ŷV H$V©ì¶o)
31) amÁ¶KQ>ZoMm B{Vhmg
32) cmoH$emhrMr g§§H$ënZm, àH$ma d ^maVmVrc cmoH$emhr
33) amÁ¶ àemgZ d ñWm{ZH$ àemgZ (J«m‘rU VgoM ehar) ¶m§Mr aMZm, A{YH$ma d H$m¶©o
34) n§Mm¶VamO, gÎmoMo {dH|$ÐrH$aU, 73 dr d 74 dr KQ>ZmXþéñVr, nogm H$m¶Xm, dZ h¸$ A{Y{Z¶‘ 2006
35) ‘m. gdm}ƒ Ý¶m¶mc¶mMo Ý¶m¶ {ZU©¶ (B§Ðm ghmZr {déÕ H|$Ð emgZ, ‘mYwar nmQ>rc {déÕ Ana Am¶wº$ Am{Xdmgr

{dH$mg

(15) AW©ì¶dñWm
45) ZrVr Am¶moJ d amï´>r¶ {dH$mg n[afX
46) n§Mdm{f©H$ ¶moOZm§Mm B{Vhmg
47) gyú‘ {Z¶moOZ
48) ~oamoOJmar, H$m¡eë¶ {dH$mg d ñd¶§amoOJma
49) ^maVr¶ AW©ì¶dñWm, Am{W©H$ {dH$mg d {Z¶moOZ

(16) {dkmZ
50) gm‘mÝ¶ {dkmZ
51) Amamo½¶ d nmofH$ Amhma (hoëW A±S> Ý ỳ{Q´eZ), CnMmaemñÌr¶ AÞ
52) n¶m©daU nyaH$ Kao
53)  ‘yc ŷV g§JUH$ V§ÌkmZ, g§n«ofU, _m{hVr d g§kmnZ V§ÌkmZ

(17) amḯ>r¶ d Am§Vaamḯ>r¶ Mmcy KS>m‘moS>r
1) OmJ{VH$ amOH$s¶ KQ>Zm  -

Am§Vaamï´>r¶ g§~§Y, {eIa n[afXm, {ZdS>UwH$m, g§ajU{df¶H$ KQ>Zm, ‘mZdr h¸$ g‘ñ`m, Am§Vaamï´>r` g§KQ>Zm - UN,

ASEAN, BRICS, European Union, G20, OPEC, SCO, SAARC, NAM

2) amîQ́>r¶$ amOH$s¶ KQ>Zm -
amOH$s` nj, {ZdS>UwH$m, àemgZ, Ý¶m¶mb¶rZ {ZH$mb, Am¶moJ, H$m¶Xo d KQ>ZmXþéñË¶m, Am§XmobZo, amï´>r` / ‘hmamï´>
ñVamdarb g§KQ>ZmË‘H$ d g§ñWmË‘H$ ~m~r

3) OmJ{VH$ Am{W©H$ d {dÎmr¶ KQ>Zm  -
OmJ{VH$ ñVamdarb Am{W©H$ KS>m‘moS>r, {dXoer ì¶mnma, OmJ{VH$ ~±H$,  IMF, WTO

4) amîQ´>r¶$Am{W©H$ d {dÎmr¶ KQ>Zm  -
amï´>r` CËnÞ, {dH$mg H$m ©̀H«$‘, AW©g§H$ën d gmd©O{ZH$ {dÎm, ~±qH$J,  H¥$fr d J«m‘rU {dH$mg, Xm[aX²Œ¶ d ~oH$mar, CÚmoJ
Am{U nm¶m ŷV joÌmVrb KQ>Zm
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5) V§Ìd¡km{ZH$ KQ>Zm  -
D$Om© V§ÌkmZ d AmpÊdH$ àH$ën, Am¶grQ>r, AdH$me{dkmZ

6) d¡km{ZH$ KQ>Zm -
d¡km{ZH$ g§ñWm d g§emoYH , O¡dV§ÌkmZ, amoJ{dkmZ $

7) gm‘m{OH$  d e¡j{UH$ KQ>Zm -
gm‘m{OH$ gwajoMo CnH«$‘ d nwT>mH$ma, gd©g‘mdoeH$Vm, d§{MV O‘mVr Am{U g‘wXm`

8) e¡j{UH$,  H$m¡eë¶ {dH$mg d Amamo½¶ joÌmVrb KQ>Zm  -
e¡j{UH$ d Amamo½¶ joÌmVrb KQ>Zm, amoOJma {Z{‘©Vr d H$m¡eë¶ {dH$mg

9) ^m¡Jmo{bH$ d n¶m©daU{df¶H$ KQ>Zm -
àH$mePmoVmVrb ñWio, gr‘m Am{U g§Kf©, amOYmZr Am{U ‘hÎdmMr ehao, YaUo Am{U àH$ën, amOH$s¶ ŷJmob,
n¶m©daU n[afXm, g§dY©Z, H$m¶Xo, AmnÎmr ì¶dñWmnZ

10) gm§ñH¥${VH$ d n¶©Q>Z KQ>Zm  -
g§JrV d Z¥Ë¶, {MÌnQ> Am{U CËgd, ¶mÌm, g§ñWm d ñ‘maHo$

11) gm{hpË¶H$ KQ>Zm -
àH$mePmoVmVrb nwñVHo$ d boIH$, _amR>r gm{hË` g§_ocZ d BVa CnH«$‘

12) Zo‘UwH$m, {Z¶wº$s  d àH$mePmoVmVrb ì¶º$s -
Am§Vaamï´>r`/amï´>r`/‘hmamï´> - ZoVo, AÜ`j, n§VàYmZ, ‘wËgÔr

13) nm[aVmo{fH$, nwañH$ma  d ~hþ‘mZ -
Am§Vaamï´>r`/amï´>r`/‘hmamï´> - ZmJar nwañH$ma, em¡̀ ©, {MÌnQ>, gm{hË`

14) H«$sS>m{df¶H$  KQ>Zm -
H«$sS>m ñnYm©, IoimSy>§Mr H$m‘{Jar, àH$mePmoVmVrb IoimSy> d à{ejH$, Am°qb{nH$, Am{e`mB© Ioi, A°Wbo{Q>Šg, hm°H$s,
~°S>q‘Q>Z, ~w{Õ~i, {H«$Ho$Q>, ’w$Q>~m°b, Q>o{Zg

15) gm‘mÝ¶kmZ  -
‘hÎdmMo {Xdg d df©, gd©àW‘, gdm©V ‘moR>o/N>moQ>o, Eo{Vhm{gH$ KQ>ZmH«$‘

(18) ~w{Õ‘mnZ MmMUr
* ~w{Õ‘mnZ MmMUr - C‘oXdma {H$Vr bdH$a d AMyH$nUo {dMma H$é eH$Vmo ho AO‘mdÊ¶mgmR>r

A§H$J{UV - ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma,  Xem§e AnyUmªH$ d Q> o̧$dmar

~w{Õ‘mnZ MmMUr -
86) g§»¶m Am{U dU©‘m{bH$m
87) gm§Ho${VH$ ^mfm, gmå¶, VwbZm, dJuH$aU
88) ‘erZ BZnwQ  Am{U {MÝho, J{UVr` VH©$, n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo
89) {dYmZo Am{U ẁ{º$dmX, {dYmZo Am{U J¥{hVHo$, {dYmZo Am{U {ZîH$f©
90) ~¡R>H$ d ‘m§S>Ur ì`dñWm
91) ZmVog§~§Y
92) AmH¥$Ë`m§darb àíZ, KZmdarb àíZ
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A§H$J{UV -
1) g§»¶m Am{U dU©‘m{bH$m
2) gm§Ho${VH$ ^mfm, gmå¶, VwbZm, dJuH$aU
3) ‘erZ BZnwQ  Am{U {MÝho, J{UVr` VH©$, n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo
4) {dYmZo Am{U ẁ{º$dmX, {dYmZo Am{U J¥{hVHo$, {dYmZo Am{U {ZîH$f©
5) ~¡R>H$ d ‘m§S>Ur ì`dñWm
6) ZmVog§~§Y
7) AmH¥$Ë`m§darb àíZ, KZmdarb àíZ
8) g§»`màUmbr - bgm{d, ‘gm{d, dJ©‘yi Am{U KZ‘yi
9) ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma, Xem§e AnyUmªH$
10) Q> o̧$dmar, ^mJrXmar, gamgar, g§̂ mì`Vm
11) JwUmoÎma Am{U à‘mU, {‘lU, gmIir {Z`‘
12) doi Am{U A§Va,aoëdo, ~moQ> Am{U Obàdmh, H$mi Am{U H$m‘
13) Z’$m Am{U VmoQ>m, {dH«$s Am{U IaoXr, gmYo Am{U MH«$dmT> ì`mO
14) ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr
15) KS>çmi, H°$b|S>a, d`, {Xem{ZX}e, doZ AmH¥$Ë`m§darb àíZ
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(15) AW©ì¶dñWm
1) ZrVr Am¶moJ d amï´>r¶ {dH$mg n[afX
2) n§Mdm{f©H$ ¶moOZm§Mm B{Vhmg
3) gyú‘ {Z¶moOZ
4) ~oamoOJmar, H$m¡eë¶ {dH$mg d ñd¶§amoOJma
5) ^maVr¶ AW©ì¶dñWm, Am{W©H$ {dH$mg d {Z¶moOZ

1) ZrVr Am¶moJ d amḯ>r¶ {dH$mg n[afX

1) Imcrc {dYmZo {dMmamV ¿¶m.
a) àYmZ‘§Ìr ZrVr Am¶moJmMo AÜ¶j AgVmV.
b) ZrVr Am¶moJmMm ‘w»¶ CÔoe XoemMo Am{W©H$ YmoaU R>a{dÊ¶m‘Ü¶o amÁ¶ gaH$mam§Mm gh^mJ dmT>mdm hm Amho.
c) ZrVr Am¶moJmÀ¶m ì¶dñWmnZ ‘§S>imV gd© amÁ¶m§Mo ‘w»¶‘§Ìr Am{U H|$Ðem{gV àXoem§Mo àemgH$ AgVmV.
darcn¡H$s H$moUVo {dYmZ/{dYmZo MwH$sMo Amho/AmhoV ?
1) ’$º$ c 2) ’$º$ a 3)  a, b  Am{U  c 4) darcn¡H$s Zmhr

1) Consider the following statements.

a) The Prime Minister is the Chairman of NITI Aayog.

b) The main objective of NITI Aayog is to increase the participation of State government in deciding

the economic policy of the country.

c) The management board of NITI Aayog consists of Chief Ministers of all the states and

administrators of the union territories.

Which of the above statement(s) is/are incorrect ?

1) Only c 2) Only a 3) a, b and c 4) None of the above

2) 'ZrVr' Am¶moJmMr C{ÔîQ>ço H$moUVr?
a) V§ÌkmZ gwYmaUm Am{U j‘Vm {Z‘m©U H$aÊ¶mda bj H|${ÐV H$aUo.
b) amï´>r¶ {dH$mgmMo àmYmÝ¶H«$‘, joÌo Am{U YmoaUo ¶m§Mr gm‘m{¶H$ Ñï>r {dH$grV H$aUo.
c) '{dZmer amÁ¶m§Mm A{dZmer g§K' åhUyZ dmT>{dUo.
d) YmoaUmË‘H$ Am{U XrK©H$mcrZ YmoaU Am{U H$m¶©H«$‘m§Mr aMZm H$aUo.
darbn¡H$s H$moUVr {dYmZo gË¶ AmhoV?
1) darb gd© 2) (a), (b) Am{U (c) 3) (a), (b) Am{U (d) 4) (b), (c) Am{U (d)

2) What are the objectives of 'NITI' Aayog?

a) To focus on technology upgradation and capacity building.

b) To evolve a shared vision of National development priorities, sectors and strategies

c) To foster as 'an idestructible Union of destructive states'.

d) To design strategic and long term policy and programmes.

Which of the statements given above are true?

1) All above 2) (a), (b) and (c) 3) (a), (b) and (d) 4) (b), (c) and (d)
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3) ZrVr (NITI) Am¶moJm~m~V Imcrcn¡H$s H$moUVo {dYmZ/Zo ~amo~a Amho/AmhoV ?
A) ZrVr (NITI)Am¶moJmMo C{Ôï> emídV {dH$mg C{Ôï>o gmÜ¶ H$aUo Am{U XoemVrc ghH$mar g§KamÁ¶ dmT>dUo ho Amho.
~) ^maVmMo n§VàYmZ ho ZrVr (NITI) Am¶moJmMo nX{gÕ AÜ¶j AmhoV.
H$) ZrVr (NITI) Am¶moJm‘Ü¶o AmR> nyU©doi gXñ¶ AmhoV.
n¶m©¶r CÎmao :
1) ’$º$ ~ Am{U H$ 2) ’$º$ ~ 3) ’$º$ A 4) ’$º$ A Am{U ~

3) Which of the following statements is/are correct about the NITI Aayog ?

A)The aim of NITI  Aayog is to achieve sustainable development goals and to enhance Co-operative

Federalism in the country.

B) The Prime Minister of India is the Ex-officio Chairperson of the NITI Aayog.

C) There are 8 full time members in the NITI Aayog.

Answer options :

1) Only B and C 2) Only B 3) Only A 4) Only A and B

4) .......... hr ZrVr Am¶moJmMr H$V©ì¶o AmhoV.
a) ghH$m¶© Am{U ñnYm©Ë‘H$ g§~§YmMr {Z{‘©Vr b) amï´>r¶ H$m¶©H«$‘ n{ÌH$m am~{dUo.
c) {dH|${ÐV {Z¶moOZ gwé H$aUo. d) VÁk§mMo Omio V¶ma H$aUo
¶mo½¶ n¶m©¶ {ZdS>m :
1) (a),(b) Am{U (c) ¶mo½¶ AmhoV 2) (a),(b) Am{U (d) ¶mo½¶ AmhoV
3) (b),(c) Am{U (d) ¶mo½¶ AmhoV 4) darc gd© ¶mo½¶ AmhoV

4) ............ are, the functions of NITI Aayog.

a) Cooperative and competitive federalism b) Shared National Agenda

c) Decentralised planning d) Network of Expertise

Answer options :

1) (a), (b) and (c) are correct 2) (a), (b) and (d) are correct

3) (b); (c) and (d) are correct 4) All above are correct

5) Imbrb {dYmZo {dMmamV ¿¶m …
a) ‘hmboIm narjH$mMo (CAG) doVZ Am{U ^Îmo amï´>nVr R>a{dVmV.
b) ‘hmboIm narjH$ ho boIm (Accounting) Am{U boImnarjU (Audit) hr XmoÝhrhr H$m¶©o nma nma nS>VmV.
c) ‘hmboIm narjH$mMo doVZ Am{U ^Îmo ^maVmÀ¶m AmH$pñ‘H$ {ZYrVyZ {Xbo OmVo.
d) ‘hmboIm narjH$mMo doVZ Am{U ^Îmo ^maVmÀ¶m AmH$pñ‘H$ {ZYrVyZ {Xbo OmVo.
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (b) 2) (b) Am{U (c) 3) ’$º$ (d) 4) darbn¡H$s EH$hr Zmhr

5) Consider the following statements :

a) The salary and allowances of the Comptroller and Auditor General (CAG) are determined by

the President.

b) The CAG performs both accounting and audit functions.

c) The salary and allowances of the CAG are paid out of contingency fund of India.

d) The CAG holds office during the pleasure of the President.

Which of the statements given above is/are correct ?

1) (a) and (b) only 2) (b) and (c) 3) Only (d) 4) None of the above
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6) 'gmd©O{ZH$ CnH«$‘ g{‘Vr'~m~V Imbrb {dYmZo {dMmamV ¿¶m. (g§gXoÀ¶m g§X^m©V)
a) VËH$mbrZ {dÎm ‘§Ìr ‘moamaOr XogmB© ¶m§À¶m {e’$maerZwgma 1964 gmbr gXahÿ g{‘VrMr ñWmnZm Pmbr.
b) ‘ycV… Ho$di bmoH$g ôVrb 15 gXñ¶ ¶m g{‘VrV hmoVo na§Vw 1978 gmbr {VMr gXñ¶g§»¶m 22 n¶ªV dmT>br

(bmoH$g ôVyZ 15 Am{U amÁ¶g ôVyZ 7)
c) lr. g§VmofHw$‘ma J§Jdma ¶m§Mr 2022-23 gmR>r {VÀ¶m AÜ¶jnXr {Z¶wº$s Pmbr Amho.
d) lr. A{Zb XogmB© Am{U lr. àH$me OmdS>oH$a ho ‘hmamï´>mVrb g§gX gXñ¶ ¶m g{‘VrMo g^mgX AmhoV.
darbn¡H$s H$moUVr {dYmZ/Zo ~amo~a Amho/V?
n¶m©¶r CÎmao …
1) (a) Am{U (b) 2) (c) ’$º$ 3) (c) Am{U (d) 4) (a), (b) Am{U (d)

6) Consider the following statements regarding ‘Committee on Public Undertakings’ : (with ref. to

Parliament)

a) This Committee was constituted in 1964 on the recommendation of Morarji Desai, the then

Finance Minister.

b) Originally, it had 15 members from Lok Sabha only, however in 1978 its membership was

raised to 22 (15 from Lok Sabha and 7 from Rajya Sabha)

c) Shri. Santoshkumar Gangwar is appointed as its Chairperson for the year 2022-23.

d) Shri. Anil Desai and Shri. Prakash Javadekar members of Parliament from Maharashtra are the

members of this committee.

Which of the statements given above is /are correct ?

1) (a) and (b) 2) (c) only 3) (c) and (d) 4) (a), (b) and (d)

7) Imbrb {dYmZm§n¡H$s ¶mo½¶  {dYmZ/Zo AmoiIm.
a) 4 OmZodmar 2021 amoOr ^maVr¶ g§gXoÀ¶m bmoH$boIm g{‘VrMm eVmãXr g‘mamoh gmOam H$aÊ¶mV Ambm.
b) bmoH$g^m à{H«$¶m Am{U H$m¶©MbZ {Z¶‘mÀ¶m 308 (1) {Z¶‘mZwgma bmoH$ boIm g{‘VrMr ñWmnZm Ho$br OmVo.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) (a) Am{U (b) XmoÝhr 4) ¶mn¡H$s Zmhr

7) Which of the following statements is/are correct ?

a) Centenial celebration of Public Account Committee of Parliament of India was held on 4th

January 2021.

b) Public Account Committee is constituted under the rule 308 (1) of the rules of procedure and

conduct of Business in Loksabha.

Answer Options :

1) Only (a) 2) Only (b) 3) both (a) and (b) 4) Neither
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2) Am{W©H$ {dH$mg d {Z¶moOZ - n§Mdm{f©H$ ¶moOZm§Mm B{Vhmg, emídV {dH$mg -
E‘S>rOr, EgS>rOr

1) Am{W©H$ {dH$mg d {Z ¶moOZ d ¶moOZm§Mm B{Vhmg
2) emídV {dH$mg - E‘S>rOr, EgS>rOr

1) Am{W©H$ {dH$mg d {Z¶moOZ,n§Mdm{f©H$ ¶moOZm§Mm B{Vhmg

1) Zohê$§À`m gm‘m{OH$ {dH$mgmÀ¶m g§H$ënZo‘Ü¶o nwT>rcn¡H$s H$moUË¶m KQ>H$mMm g‘mdoe Zmhr ?
1) g‘mOdmX Am{U {Z¶moOZ~Õ Am{W©H$ {dH$mg    2) Am¡Úmo{JH$aU, {dkmZ d V§ÌkmZ {dH$mg
3) ŷ. gwYmaUm§À¶m ‘mÜ¶‘mVyZ J«m‘rU g‘mOmMr gwYmaUm   4) gm‘m{OH$ ~XcmH$[aVm gË¶ Am{U Aqhgm

1) Among the following, what is not the ingredient of Nehru's concept of Social Development ?

1)  Socialism and planned economic development

2)  Industrialization, development of Science and Technology

3)  Improvement of rural society through land reforms

4)  Truth and non-violence for social change

2) Ama. E’$. h°am°S>Zo Ë¶mÀ¶m Am{W©H$ {dH$mgmÀ¶m à{V‘mZmgmR>r Imbrbn¡H$s H$moUË¶m {dH$mg XamÀ¶m doJdoJù¶m g§H$ënZm
dmnaë¶m AmhoV?
a) dmñV{dH$ dmT>rMm Xa b) h‘r dmT>rMm Xa c) dm{f©H$ dmT>rMm Xa d) Z¡g{J©H$ dmT>rMm Xa
n¶m©¶r CÎmao …
1) a, b Am{U c 2)  b, c Am{U d 3) a, b Am{U d 4) darbn¡H$s gd©

2) Which of the following distinct concepts rates of growth are used by R. F. Harrod for his economic

growth model ?

a) Actual Rate of Growth b) Warranted Rate of Growth

c) Annual Rate of Growth d) Natural Rate of Growth

Answer options :

1) a, b and c 2) b, c and d 3) a, b and d 4) All of the above

3) ""Am{W©H$ {dH$mg åhUOo XaS>moB© CËnÞmV dmT> hmoUo hmo¶."" hr Am{W©H$ {dH$mgmMr ì¶m»¶m H$moUr ‘m§S>cr Amho ?
1) ‘oAa d ~mëS>{dZ 2) àm. {dë¶‘gZ 3) àm. co{dg 4) AmoH$Z d [aMS>©gZ

3) Who stated the definition of economic development as "Economic Development means, increase

in per-capita income."

1) Mayer and Baldwin 2) Prof. Williamson 3) Prof. Lewis 4) Okan and Richardson

4) ì¶mnma MH«$m§À¶m g§X^m©V Imbrb {dYmZo {dMmamV ¿¶m.
a) EH$mnmR>monmR> EH$ Aem ¶oUmè¶m Am{W©H$ {H«$¶mVrb dmT> Am{U KgaUrÀ¶m AdñWm§Zm ì¶mnma MH«o$ Ago åhQ>bo OmVo.
b) Ho$ÝgÀ¶m ‘Vo, Am{W©H$ {H«$¶mVrb MT>CVma ho EHy$U à^mdr ‘mJUrVrb MT>CVmam§‘wio {Z‘m©U hmoVmV.
c) gd©gmYmaUnUo ì¶mnma MH«$mÀ¶m VrZ AdñWm AgVmV Ë¶m åhUOo dmT>, {eIa Am{U KgaU
darbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
n¶m©¶r CÎmao …
1) a Am{U b ~amo~a AmhoV 2) ’$º$ a ~amo~a Amho
3) ’$º$ b ~amo~a Amho 4) a Am{U c ~amo~a AmhoV
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4) Consider the following statements about business cycles.
a) The alternating periods of expansion and contraction in economic activity are called business

cycles.
b) According to Keynes, the fluctuations in economic activity are due to fluctuations in aggregate

effective demand.
c) Generally business cycles have three phases, viz, expansion, peak and contraction.
Which of the above statements are correct ?
1) a and b are correct 2) Only a is correct 3) Only b is correct 4) aandc are correct

5) 10 ì¶m n§Mdm{f©H$ ¶moOZoZwgma ^maVmVrb Imbrbn¡H$s ...... amÁ¶m‘Ü¶o 100% IoS>çmMo {dÚwVrH$aU Pmbobo Zmhr.
1) Amgm‘, Amo[agm, CÎma àXoe, ‘hmamï´> 2) CÎma àXoe, ‘Ü¶ àXoe, amOñWmZ, Jmodm
3) JwOamV, Amgm‘, amOñWmZ, CÎma àXoe 4) amOñWmZ, ‘Ü¶ àXoe, Amgm‘, Amo[agm

5) According to 10% Five Year Plan in States in the India, villages are not 100% electrified.

1) Assam, Orissa, Uttar Pradesh, Maharashtra

2) Uttar Pradesh, Madhya Pradesh, Rajasthan, Goa

3) Gujarat, Assam, Rajasthan, Uttar Pradesh

4) Rajasthan, Madhya Pradesh, Assam, Orissa

2) emídV {dH$mg - E‘S>rOr, EgS>rOr
1) Am°JñQ> 2018 nmgyZ àYmZ‘§Ìr OZYZ ¶moOZm (nrE‘OoS>rdm¶) ‘Yrb gwYmaUm§{df¶r Imbrb {dYmZo Vnmgm.

a) {dÚ‘mZ Amoìha S´>mâQ> (AmoS>r) ‘¶m©Xm é. 5,000 Vo é. 10,000 gwYm[aV H$aÊ¶mV Ambr.
b) AmoS>r gw{dYm {‘iÊ¶mgmR>r d¶mo‘¶m©Xm 18-60 dfm©nmgyZ 18-65 df} n¶ªV gwYm[aV H$aÊ¶mV Ambr.
c) 28 Am°JñQ> 2018 Z§Va nrE‘OoS>rdm¶ ImVo CKS>boë¶m ZdrZ éno H$mS>© YmaH$m§gmR>r AnKmVr {d‘m g§ajU {dÚ‘mZ

1 bmI én¶m§dê$Z én¶o 2 bmI Aer dmT>{dÊ¶mV Ambr.
n¶m©¶r CÎmao …
1) (a), (c) {dYmZo ¶mo½¶ AmhoV. 2) (a), (b) {dYmZo ¶mo½¶ AmhoV.
3) (b), (c) {dYmZo ¶mo½¶ AmhoV. 4) darbn¡H$s gd© {dYmZo ¶mo½¶ AmhoV.

1) Check the following statements about the modificatons in Pradhan Mantri Jan Dhan Yojana
(PMJDY) since August 2018.
a) Existing Over Draft (OD) limit of Rs.5,000 revised to Rs.10,000.
b) Age limit for availing OD facility revised from 18-60 years to 18-65 years.
c) The accidental insurance cover for new RuPay card holders raised from existing Rs. One lakh

to Rs.two Lakh to new PMJDY accounts opened after 28th August 2018.
Answer Options :

1) (a), (c) Statements are correct 2) (a), (b) Statements are correct
3) (b), (c) Statements are correct 4) All of the above Statements are correct

2) g§¶wº$ amï´>g§K {dH$mg Ahdmb 2019 Zwgma ^maVmÀ¶m ‘mZd {dH$mg {ZX}em§H$m~m~VMr H$moUVr {dYmZo ~amo~a AmhoV?
a) B§Q>aZoQ> dmnaH$V} EHy$U 30.5% d bmoH$g§»¶oÀ¶m à‘mUmV amoOJma (15 df© Am{U Ë¶mnojm OmñV d¶moJQ>mVrb

40.6% Amho.
b) ‘mV ‘Ë¶©Vm à‘mU (EH$ bmI {O{dV OÝ‘m‘mJo) 174 Amho.
c) OÝ‘mÀ¶m doiog Am¶w‘m©Z (df©) 69.4 d qbJ {dH$mg {ZX}em§H$ 0.829 Amho.
d) Ano{jV embo¶ {ejU d,7 12.3 d Hw$eb H$m‘Jma eº$s 17.6% Amho.
n¶m©¶r CÎmao …
1) (a), (b) Am{U (c) 2) (b), (c) Am{U (d) 3) (a) Am{U (b) 4) gd© n¶m©¶ ~amo~a AmhoV
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2) According to the United Nations Development Report 2019, which statements about India's Human

Development Index are correct?

a) Total of 30.5% Internet users and Employment ot Population Ratio (15 yrs. and above) is

40.6%.

b) Maternal Mortality Ratio (deaths per 1,00,000 live births) is 174.

c) Life expectancy at birth (years) 69.4 and Gender Development Index it is 0.829.

d) Expected schooling year 12.3 and skilled manpower is 17.6%.

Answer Options :

1) (a), (b) and (c) 2) (b), (c) and (d)

3) (a) and (b) 4) All options are correct

3) 'g§¶wº$ amï´>o ì¶mnma Am{U {dH$mg n[afXo' (UNCTAD) ~m~V Imbrb {dYmZo {dMmamV ¿¶m …
a) g§¶wº$ amï´>g§KmÀ¶m Am‘g ôZo 1964 gmbr ñWmnZ Ho$bobr hr EH$ ñWm¶r Am§Va-emgH$s¶ g§ñWm Amho.
b) {VMo ‘w»¶mb¶ n°[ag, ’«$mÝg ¶oWo Amho.
c) Vr g§¶wº$ amï´>g§KmÀ¶m g{Mdmb¶mMm EH$ ^mJ Amho.
darbn¡H$s H$moUVo {dYmZ/Zo ~amo~n Amho/V?
1) ’$º$ (a) 2) (b) Am{U (c) 3) (a) Am{U (c) 4) darb gd©

3) Consider the following statements about 'United Nations Conference on Trade and Develoment

(UNCTAD)' :

a) It is a permanent inter governmental body established by the UN General Assembly in 1964.

b) It's headquarter is located in Paris, France.

c) It is part of the UN Secretariat.

Which of the statements given above is/are correct?

1) (a) only 2) (b) and (c) 3) (a) and (c) 4) All above

4) g§¶wº$ amï´>o {dH$mg H$m¶©H«$‘ UNDP À¶m H$moUË¶m ‘m{hVr V§ÌkmZmda AmYm[aV CnH«$‘mMr AmIUr eoVH$è¶m§Zm
OmUdUmè¶m ‘m{hVrMr H$‘VaVm ^ê$Z H$mT>Ê¶mgmR>r Ho$br Jobr?
1) emídV {dH$mg ZoQ>d{Hª$J àmoJ«m‘ - SDNP 2) H¥$fr ‘m{hVr Am{U V§ÌkmZ H$m¶©H«$‘
3) MS-CIT Mo Aä¶mgH«$‘ 4) ‘wº$ ì¶mnma àXoe

4) Which Information and Technology (IT) based initiative was designed by the UNDP, the United

Nations Development Programme to help bridge the information gap faced by farmers?

1) Sustainable Development Networking Programme - SDNP

2) Krishi information and Technology IT Programme

3) MS-CIT Courses

4) Free Trade Areas

5) g§¶wº$ amï´>m§À¶m ì¶mnma Am{U {dH$mg n[afXo (UNCTAD) g§~§Yr Imbrb {dYmZo {dMmamg ¿¶m.
a) Vr EH$ ñWm¶r Am§VaemgH$s¶ g§ñWm AgyZ {VMr ñWmnZm g§¶wº$ amḯ>mÀ¶m Am‘g ôÛmam 1964 ‘Ü¶o H$aÊ¶mV Ambr.
b) Vr g§¶wº$ amï´> g§KmÀ¶m Am‘g ôMm Am{U VgoM OmJ{VH$ ì¶mnma g§KQ>ZoMmhr {hñgm Amho.
c) {VMo ‘w»¶mb¶ dm°qe½Q>Z S>r. gr. ¶oWo Amho.
d) 2017 ‘Ü¶o g§¶wº$ amï´> ì¶mnma Am{U {dH$mg n[afX Am{U pìhEVZm‘ emgZm‘Ü¶o H$O© Am{U {dH$mg Am{W©H$

YmoaUmg§~§Yr gm‘§Oñ¶ H$ama Pmbm Amho.
darbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
1) (a), (b), (c) 2) (a) Am{U (d) 3) (b), (c), (d) 4) (a), (b), (d)
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5) Consider the following statements regarding United Nations Conference on Trade and

Development (UNCTAD) :

a) It is a permananet intergovernmental body established by the United Nations General Assembly

in 1964

b) It is a part of the UN General Assembly and aslo a part of World Trade Organisation.

c) It headquartered at Washinagton D. C.

d) In 2017, UNCTAD and government of Vietnam signed a memorandum of understanding on

debt and development finance strategies.

Which of the above statements are correct?

1) (a), (b), (c) 2) (a) and (d) 3) (b), (c), (d) 4) (a), (b), (d)

6) g§¶wº$ amï´>o {dH$mg H$m¶©H«$‘mMo ‘w»¶ bú¶H|$ÐrV joÌo AmhoV …
a) ‘mZdr h¸$ d {dÎmr¶ {dH$mg b) hdm‘mZ d AmnÎmr bd{MH$Vm
c) bmoH$emhr emgZ d em§VVm {Z‘m©U d) emídV {dH$mg
n¶m©¶r CÎmao …
1) ’$º$ (a), (b), (c) 2) ’$º$ (a), (b), (d) 3) ’$º$ (a), (c), (d) 4) ’$º$ (b), (c), (d)

6) The United Nations Development Programme (UNDP) concentrated main focus areas are ............

a) Human Rights and financial development

b) Climate and disaster resilience

c) Democratic governance and peace building

d) Sustainable Development

Answer Options :

1) Only (a), (b), (c) 2) Only (a), (b), (d) 3) Only (a), (c), (d) 4) Only (b), (c), (d)

7) à¶ËZm§À¶m H|$Ð^mJr bmoH$m§Zm R>odUmè¶m, "2030 emœV {Q>H$mD$ {dH$mg {df¶n{ÌH$m' amï´>g§KmÀ¶m (UN) gXñ¶amï´>m§Zr
H$Yr pñdH$mabr ?
1) gßQ>|~a, 2015 2) ‘mM©, 1995 - World Summit for S.D

3) OyZ, 2000, {OZodm UNGA Session 4) darbn¡H$s Zmhr
7) When did the UN member states adopt ‘2030 Agenda for sustainable Development’ which put

people at the centre of efforts ?

1) September, 2015 2) March, 1995 - World Summit for §.D

3) June, 2000 , Geneva UNGA Session 4) None of the above

8) {dH$mg à{H«$¶oÀ¶m ‘w»¶ àdmhmV qbJ Ñ{ï>H$moZ AmUUo ho ...... Mo C{Ôï> Amho.
1) amï´>r¶ e¡j{UH$ YmoaU 1986 2) ór g~brH$aUmgmR>r amï´>r¶ YmoaU 2001
3) nmd©Vr~mB© ‘bJm|S>m g{‘Vr 4) H$moR>mar Am¶moJ

8) Mainstreaming a gender perspective in the development process is the objective of ......

1) National Education Policy 1986.

2) National Policy for the empowerment of women 2001

3) Parvatibai Malgonda committee

4) Kothari Commission
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3) gyú‘ {Z¶moOZ, ‘hmJmB© - H$maUo, n[aUm‘, {Z §̀ÌU

‘hmJmB© - H$maUo, n[aUm‘, {Z §̀ÌU

1) Ho$ÝgÀ¶m ‘Vo, H$moUË¶m hoVygmR>r n¡emMr ‘mJUr Ho$br OmVo?
a) ì¶dhma hoVy b) XjVm hoVy c) gÅ>o~mOr hoVy d) ~MV hoVy
n¶m©¶r CÎmao …
1) a, b Am{U d 2) b, c Am{U d 3) a, b Am{U c 4) darbn¡H$s gd©

1) According to Keynes, money is demanded for what motives ?

a) Transaction motive b) Precautionary motive

c) Speculative motive d) Saving motive

Answer options :

1) a, b and d 2) b, c and d 3) a, b and c 4) All of the above

2) MbZdmT>rMm g§aMZmË‘H$ {gÕm§V ...... ¶m§Zr ‘m§S>bm hmoVm.
a) Or. {‘Xm©c b) Oo. Ho$Ýg c) E‘. ’«$sS>‘Z d) nr. ñQ´>rQ>oZ
n¶m©¶r CÎmao …
1) a Am{U b 2) b Am{U c 3) a Am{U d 4) b Am{U d

2) The structural theory of Inflation was proposed by

a) G. Myrdal b) J. Keynes c) M. Friedman d) P. Streeten

Answer options :

1) a and b 2) b and c 3) a and d 4) b and d

3) Imbrbn¡H$s H$moUVo/Vr {dYmZ/Zo ~amo~a Amho/V?
a) 2022-23 ‘Ü¶o eoV‘Owam§gmR>r grnrAm¶da AmYm[aV ‘hmJmB© 6.8 Q> o̧$ hmoVr.
b) 2022-23 ‘Ü¶o J«m‘rU ‘Owam§gmR>r grnrAm¶da AmYm[aV ‘hmJmB© 7.0 Q> o̧$ hmoVr.
n¶m©¶r CÎmao …
1) ’$º$ a ~amo~a Amho 2) ’$º$ b ~amo~a Amho
3) XmoÝhr a Am{U b ~amo~a AmhoV 4) darbn¡H$s H$moUVohr ~amo~a Zmhr

3) Which of the following statement/s is /are correct ?

a) Inflation based on CPI for agricultural labourers was 6.8 percent during 2022-23.

b) Inflation based on CPI for rural labourers was 7.0 percent during 2022-23.

Answer options :

1) Only a is correct 2) Only b is correct

3) Botha and b are correct 4) None of the above are correct

4) {’${bßg dH«$ MbZdmT> Am{U ...... ¶m§À¶mVrb ì¶ñV g§~§Y Xe©{dVo.
1) ì¶mnma g§VwbZ 2) AW©ì¶dñWoVrb dmT>rMm Xa
3) qH$‘V dmT>rMm Xa 4) ~oamoOJmar

4) The Phillips curve shows the inverse relationship between inflation and

1) The balance of trade 2) The rate of growth in an economy

3) The rate of price increases 4) Unemployment
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5) Imbrbn¡H$s H$moUVo 'JwUdñVy' (merit goods) Mo CXmhaU Amho?
1) Xm[aÐçaofoImbrb Hw$Qw>§~mgmR>r gmd©O{ZH$ {dVaU ì¶dñWm
2) eoVH$è¶m§Zm drO dmnamda {Xbobo AZwXmZ
3) gmd©O{ZH$ ~JrMm
4) darbn¡H$s gd©

5) Which of the following is an example of merit goods ?
1) Public distribution system for below poverty line families
2) Subsidies granted to farmers on electricity
3) Public Park
4) All of the above

6) AW©ì¶dñWoVrb dmT>Vr MbZ àd¥Îmr (^mddmT>) amoIÊ¶mgmR>r ^maVr¶ [aPìh© ~±H$ H$moUVo YmoaU am~{dVo?
1) ñdñV n¡emMo YmoaU 2) ì¶mOmMo Xa H$‘r H$aÊ¶mMo YmoaU
3) ‘w~bH$ n¡emÀ¶m nwadR>çmMo YmoaU 4) H$S>H$ n¡emMo YmoaU

6) What policy does the Reserve Bank of India implement to curb the growing trend in the inflation?

1) Cheap Money Policy 2) Interest rate reduction policy

3) Policy for the heavy supply of money 4) Dear money policy

7) Imcrcn¡H$s H$moUVo g‘rH$aU McZ g§»¶m‘mZ {gÕm§VmÀ¶m amoI {e„H$ Ñ{ï>H$moZmMo à{V{Z{YËd H$aVo ?
1) M=K

p
R 2) M=PT/VT 3) Y =M,V (e

t 
r

e
) 4) M=PY

7) Which of the following equations represents cash-balance approach to the quantity theory of

money ?

1) M=K
p
R 2) M=PT/VT 3) Y =M,V (e

t 
r

e
) 4) M=PY

8) Imcrcn¡H$s H$moUVo {dYmZ "Cƒeº$s n¡gm" ¶m g§koMo dU©Z H$aVo ?
1) ¶mV ’$º$ amoI a¸$‘ Am{U Mmcy R>odrMm g‘mdoe hmoVmo.
2) ho McZ XoemÀ¶m gaH$maZo Omar Ho$coco AgVo.
3) hm AW©ì¶dñWoVrc n¡emMm Agm ^mJ Amho Á¶mcm amIrd {ZYrMo g‘W©Z Amho.
4) AW©ì¶dñWoVrc n¡emMm hm Agm ^mJ Amho Omo ì¶mnmar ~±H$m§Zr {Z‘m©U Ho$cm Amho.

8) Which of the following describes the concept of ‘high powered money’ ?

1) It only includes cash and current deposits"

2) It is a currency issued by the government of a country

3) It is that part of the money which is backed by supporting reserves

4) It is that part of money supply which is created by the commercial banks

9) n¡emMm McZ g§»¶m‘mZ  {gÕm§V :
a) n¡emÀ¶m g§»¶oVrc ~Xcm§À¶m à‘mUmV n¡emÀ¶m ‘yë`m‘Ü ò hmoUmao ~Xc ñnï> H$aVmo.
b) S>opìhS> [aH$mS>m}À¶m "n¡emMr IaoXreº$s" ¶m nwñVH$m‘Ü¶o ¶m {gÕm§Vmcm g§»¶mË‘H$ ê$n àmá Pmco.
n¶m©¶r CÎmao :
1) {dYmZ (a) ~amo~a Amho ‘mÌ  {dYmZ (b)  MwH$sMo Amho.
2) {dYmZ (b) ~amo~a Amho ‘mÌ {dYmZ (a) MwH$sMo Amho.
3) XmoÝhr {dYmZo (a) Am{U (b) ~amo~a AmhoV.
4) XmoÝhr {dYmZo (a) Am{U (b) MwH$sMr AmhoV.
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9) Quantity theory of money :

a) explains changes in the value of money in terms of changes in the quantity of money.

b) got its quantity form in the book ‘The Purchasing Power of Money’ by David Ricardo.

Answer Options :

1) Statement (a) is correct but (b) is false 2) Statement (b) is correct but (a) is false

3) Both (a) and (b) are correct statements 4) Both (a) and (b) are false statements

10) Imcrcn¡H$s H$moUVo {dYmZ ~amo~a Amho ?.
a) ‘yë¶‘mnZmMo gmYZ ho n¡emMo àmW{‘H$ H$m¶© Amho.
b) ‘yë¶‘mnZmMo gmYZ ho n¡emMo Xþæ¶‘ H$m¶© Amho.
n¶m©¶r CÎmao :
1) (a) ~amo~a 2) (b) ~amo~a
3) (a) Am{U (b) ~amo~a AmhoV 4) darcn¡H$s H$moUVohr ~amo~a Zmhr

10) Which of the following statement is correct ?

a) The measure of value is the primary function of money.

b) The measure of value is the secondary function of money.

Answer options :

1) (a) is correct 2) (b) is correct

3) (a) and (b) are correct 4) None of above are correct

11) "McZdmT>rVrc A§Va" ¶m g§koMm Ho$ÝgÀ¶m ‘Vo Imcrcn¡H$s H$moUVm AW© Amho ?
1) IM© Am{U ^{dî¶H$mimVrc CËnmXZ ¶m‘Yrc A§Va
2) Ano{jV IM© Am{U CncãY CËnmXZ ¶m‘Yrc A§Va
3) EHy$U ‘mJUr Am{U EHy$U nwadR>m ¶m‘Yrc A§Va
4) EHy$U ‘mJUr Am{U CncãY CËnmXZ ¶mVrc A§Va

11) According to Keynes "Inflationary Gap" means which of the following statements ?

1) Gap between expenditure and future output

2) Gap between anticipated expenditure and available output

3) Gap between aggregate demand and aggregate supply

4) Gap between aggregate demand and available output

4) ~oamoOJmar, H$m¡eë¶ {dH$mg d ñd¶§amoOJma , J[a~r

1) ~oamoOJmar d amoOJma {Z{‘©Vr H$m ©̀H«$‘
2) H$m¡eë¶ {dH$mg d ñd¶§amoOJma
3) J[a~r

1) ~oamoOJmar d amoOJma {Z{‘©Vr H$m ©̀H«$‘

1) 1950 ‘Ü¶o H$mohbrZ ŠcmH©$ ¶m§Zr Ho$boë¶m A§XmOmZwgma MrZ, ^maV Am{U nm{H$ñVmZ ¶m Xoem§Zr Ë¶m§À¶m dmT>Ë¶m
l‘eº$sbm gm‘mdyZ KoÊ¶mgmR>r Am{U Ë¶m§À¶m nyduÀ¶m CËnmXH$VoMm Xa dmT>{dÊ¶mgmR>r amï´>r¶ CËnÞmÀ¶m ......% ~MV
H$aÊ¶mMm Bemam {Xbm hmoVmo.
1) 15.5 2) 12.00 3) 40.50 4) 12.5
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1) In 1950, Colin Clark estimating the capital needs of China, India and Pakistan pointed out that

they must save ______  percent of the National Income to absorb the increasing labour force and

the past rate of increase in Productivity.

1) 15.5 2) 12.00 3) 40.50 4) 12.5

2) Imbrb {dYmZo {dMmamV ¿¶m.
a) Owb¡ 2020 - OyZ 2021 ‘Ü¶o amOñWmZMm ZmJar ~oamoOJmarMm Xa XoemV gdm©{YH$ hmoVm.
b) Owb¡ 2020 - OyZ 2021 ‘Ü¶o {g¸$s‘Mm ZmJar ~oamoOJmarMm Xa XoemV gdm©V H$‘r hmoVm.
n¶m©¶r CÎmao …
1) XmoÝhr a Am{U b ¶mo½¶ AmhoV 2) ’$º$ b ¶mo½¶ Amho
3) ’$º$ a ¶mo½¶ Amho 4) darbn¡H$s H$moUVohr ¶mo½¶ Zmhr

2) Consider the following statements.

a) Rajasthan had the highest urban unemployment rate in the country during July 2020 — June

2021.

b) Sikkim had the lowest urban unemployment rate in the country during July 2020 — June 2021.

Answer options :

1) Both a and b are correct 2) Only b is correct

3) Only a is correct 4) None of the above are correct

3) Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho?
a) ^JdVr g{‘VrÀ¶m AhdmbmZwgma (1973) gaH$maZo XoemVrb ~oH$mar Xÿa H$aÊ¶mgmR>r {d{dY Cnm¶ ¶moOZm§Mr

A§‘b~OmdUr Ho$br.
b) XoemVrb ~oH$mar H$‘r H$aÊ¶mgmR>r joÌ {dH$mg ¶moOZm am~dbr Jobr.
c) ~oH$mar H$‘r H$aÊ¶mgmR>r bhmZ eoVH$ar {dH$mg g§ñWm (SFDA) ¶moOZm gwê$ Ho$br Jobr.
n¶m©¶r CÎmao …
1) ’$º$ a 2) ’$º$ b 3) a Am{U b XmoÝhr c 4) b Am{U c

3) Which of the following statement is correct ?

a) According to Bhagwati Committee Report (1973), the Government implemented various

Scheme’s to reduce the unemployment in the country.

b) Area Development Scheme was implemented to reduce the unemployment in the country.

c) Small Farmers Development Agencies Scheme was introduced to reduce unemployment.

Answer options :

1) Only a 2) Only b 3) a, b and c 4) b and c

4) Ho$Ýg ¶m§Mm CËnÞ d amoOJma {gÕm§V Ago J¥hrV YaVmo H$s
1) doVZ Am{U qH$‘Vr pñWa AgVmV. 2) doVZ Am{U qH$‘Vr ApñWa AgVmV.
3) ‘Owar Am{U Cn^moJ pñWa AgVmo. 4) CËnÞ Am{U Cn^moJ pñWa AgVmo.

4) Keyne’s theory of income and employment assumes that

1) Wages and prices remain constant 2) Wages and prices remain unconstant

3) Wages and consumption remain constant 4) Income and consumption remain constant
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5) OmoS>çm Owidm.
                  JQ> A                     JQ> ~
a) gm‘mÝ¶ ‘w»¶ pñWVr ~oamoOJmar i) nyU© gámhm‘Ü¶o ~oamoOJma
b) gmám{hH$ pñWVr ~oamoOJmar ii) Iwbr ~oamoOJmar
c) Mmby X¡{ZH$ pñWVr ~oamoOJmar iii) gámhm‘Yrb H$mhr {Xdg ~oamoOJma
n¶m©¶r CÎmao …

a b c

1) ii i iii

2) i iii ii

3) ii iii i

4) i ii iii

5) Match the following :

                  Group A       Group B

a) Usual Principal Status Unemployment i) Unemployed for whole week

b) Weekly Status Unemployment ii) Open Unemployment

c) Current Daily Status Unemployment iii) Unemployed for some days in a week

Answer options :

a b c

1) ii i iii

2) i iii ii

3) ii iii i

4) i ii iii

6) ~oH$mar åhUOo :
a)$H$m‘ H$aÊ¶mMr BÀN>m ZgUo.
b)$l‘eº$s H$m‘ H$aÊ¶mÀ¶m CncãY ñWmZm§À¶m g§»¶onojm A{YH$ AgVo.
c)$H$m‘ H$aÊ¶mMr BÀN>m Am{U eº$s AgyZ hr H$m‘ Z {‘iUo.
d)$àM{cV ‘OwarÀ¶m XamV H$m‘ Z {‘iUo
n¶m©¶r CÎmao …
1)$’$º$ (b)$ 2) (a)$Am{U (b) 3) (a),(b)$Am{U (c) 4) (b),(c)$Am{U (d)

6) Unemployment means :

a)  Not wanting to work

b)  The worMorce exceeds the number of work openings

c)  Not getting a job despite the desire and strength to work

d)  Not getting work at prevailing wage rates

Answer Options :

1)  Only (b) 2)  (a) and (b) 3)  (a), (b) and (c) 4)  (b), (c) and (d)

7) ~oamoOJmar {ZpíMV H$aÊ¶mg§~§YrMr VrZ AmYma ŷV VÎdo …
a) ì¶º$s‘Ü¶o H$m‘ H$aÊ¶mMr j‘Vm Agbr nm{hOo. b) ì¶º$sbm H$m‘ H$aÊ¶mMr BÀN>m Agbr nm{hOo.
c) H$m‘ emoYÊ¶mgmR>r à¶ËZ Ho$bm nm{hOo. d) ì¶º$sbm AmnmoAmn H$m‘ {‘imbo nm{hOo.
darbn¡H$s H$moUVo {dYmZ/{dYmZo MwH$sMo Amho/AmhoV?
1) ’$º$ (c) 2) ’$º$ (d) 3) (a), (b) Am{U (c) 4) darbn¡H$s Zmhr
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7) Three basic principles of determining unemployment :

a) The person must have the ability to work b) The person must have a desire to work.

c) Efforts should be made to find work. d) The person should get the job automatically.

Which of the statement(s) given above is/are incorrect?

1) Only (c) 2) Only (d) 3) (a), (b) and (c) 4) None of the above

8) H$moUË¶m à¶ËZm§Zr g§aMZmË‘H$ ~oamoOJmar ‘moR>çm à‘mUmda H$‘r hmoD$ eH$Vo?
a) nwZ©-à{ejU XoD$Z
b) ZmoH$arVrb à{ejU
c) bmoH$m§Zm ì¶mdgm{¶H$ÑîQ>çm bd{MH$ H$aUo
d) bmoH$m§Zm dV©‘mZmVrb amoOJma g§aMZm ~XbÊ¶mg ào[aV H$aUo
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (d) 2) ’$º$ (a), (b) Am{U (c)

3) ’$º$ (d) 4) darbn¡H$s gd©
8) Structural unemployment can be reduced to great extent by :

a) Providing retraining

b) On job training

c) Making people occupationally flexible

d) Motivating people to change existing employment structure

Answer Options :

1) (a) and (d) only 2) (a), (b) and (c) only

3) (d) only 4) All of the above

9) Imcrc {dYmZo {dMmamV ¿¶m :
a) ‘ZaoJm åhUOo ‘hmË‘m Jm§Yr amï´>r¶ J«m‘rU amoOJma h‘r ¶moOZm hmo¶.
b) ‘ZaoJmMr gwédmV 2 ’o$~«wdmar, 2006 amoOr H$aÊ¶mV Amcr.
c) ‘ZaoJm A§VJ©V à{V Hw$Qw>§~ e§̂ a {XdgmMm amoOJma XoÊ¶mMr h‘r XoÊ¶mV Amcr Amho.
darcn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
1) ’$º$ a 2) a Am{U c 3) darc gd© 4) a Am{U b

9) Consider the following statements :

a) MGNREGS means Mahatma Gandhi National Rural Employment Guarantee Scheme.

b) MGNREGS was launched on 2"4 February, 2006.

c) Guaranteed 100 days of employment per family under MGNREGS.

Which of the above statement(s) is/are correct ?

1) Only a 2) a and c 3) All of the above 4) a and b

2) H$m¡eë¶ {dH$mg d ñd¶§amoOJma

1) naXoemVrc ̂ maVr¶ d§emÀ¶m g‘wXm¶mcm ̂ maVmVrc g§emoYZ d {dH$mgm‘Ü¶o ¶moJXmZ XoÊ¶mMr g§Yr Imcrcn¡H$s H$moUË¶m
¶moOZo A§VJ©V CncãY H$éZ XoÊ¶mV Amcr ?
a)$dO« b)$ñQ>mQ>©An B§{S>¶m c)$ñQ>°ÝS>An B§{S>¶m d)$‘oH$ BZ B§{S>¶m
darcn¡H$s H$moUVm n¶m©¶ ~amo~a Amho  ?
1) (d) 2) (b) 3) (a) 4) (c)
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1) Under which of the following schemes was the opportunity given to the Indian origin community

from  abroad to contribute to the research and development of India ?

a)  VAJRA b)  Startup India c)  Standup India d)  Make in India

Which of the option given above is correct ?

1)  (d) 2)  (b) 3)  (a) 4)  (c)

2) Imcrcn¡H$s H$moUË¶m ¶moOZoMm CÔoe hm "ZmoH$ar ‘mJUmam, ZmoH$ar XoD$ eHo$c" hm Amho ?

a)$ñQ>mQ>©An B§{S>¶m b)ñQ>°ÊS> An B§{S>¶m c)$H$m¡eë¶ ^maV d)$‘oH$ BZ B§{S>¶m

n¶m©¶r CÎmao …

1) ’$º$ (d)$ 2) ’$º$ (b)$
3) (a),$(c)$Am{U (d)$ 4) darcn¡H$s gd©

2) Which of the following schemes aim ia job aeeker will be job providef ?

a)  Startup India           b)  Stand up India c)  Skill India             d)  Mabe in India

Answer Options :

1)  Only (d) 2)  Only (b)

3)  (a), (c) and (d) 4)  All of the above

3) 25 gßQ>|~a, 2014 ‘Ü¶o Omhra Ho$coë¶m "‘oH$ BZ B§{S>¶m" ¶m H$m¶©H«$‘m§VJ©V Imcrcn¡H$s H$moUË¶m ~m~rda ^a XoÊ¶mV
Amcm ?
a)$H$aàUmcr gmonr d nmaXe©H$ H$aÊ¶mda ^a.
b)$^maVmMm gdm©V ‘moR>m ~«°ÊS> ~Z{dUo.
c)$^maVmcm CÚmoJmgmR>r OmJ{VH$ XOm©Mo {Z{‘©Vr H|$Ð ~Z{dUo.
d)$Jw§VdUwH$sgmR>r ‘yc ŷV gmoB© nwa{dUo.
darcn¡H$s H$moUVo/H$moUVm n¶m©¶ ~amo~a Amho/AmhoV ?
1) ’$º$ (b)  ©2) (b) Am{U (c) 3) (b),(c) Am{U (d) 4) darcn¡H$s gd©

3) Which of the following was/were emphasized under ‘Make in India’ program announced on 25th

September, 2014 ?

a) Emphasis on making the tax system simple and transparent.

b) Making India the largest brand.

c) To create India as a world class manufacturing hub for the industry.

d) To provide basic facilities for investment.

Which of the option(s) given above is/are correct ?

1)  Only (b)                  2)  (b) and (c) 3)  (b), (c) and (d) 4)  All of the above

3) J[a~r - g§H$ënZm, J[a~rMo ‘moO‘mn, Xm[aX²Œ¶ {Z‘y©bZ H$m ©̀H«$‘

1) lr. cH$S>mdmcm g{‘VrZo Xm[aÐçmg§~§YrMm Ahdmc gaH$macm H$Yr gmXa Ho$cm hmoVm ?
1) 1990 2) 1991 3) 1992 4) 1993

1) When was the report related to poverty by Shri. Lakadawala Committee submitted to the

government?

1) 1990 2) 1991 3) 1992 4) 1993
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2) OmJ{VH$ ~±Ho$Zo gßQ>|~a 2022 ‘Ü¶o Am§Vaamï´>r¶ Xm[aÚ«aofoMm (AË¶§{VH$ Xm[aÚ« aofm) {ZH$f gwYmê$Z .......... àVr
ì¶º$s àVr {XZmÀ¶m EodOr ................... àVr ì¶º$s àVr {XZ BVH$m dmT>dbm.
1) 1 S>m°ba, 2 S>m°ba 2) 185 S>m°ba, 250 S>m°ba
3) 1.75 S>m°ba, 2.25 S>m°ba 4) 1.90 S>m°ba, 2.15 S>m°ba

2) The World Bank updated the (extreme poverty line) international poverty line from to per person

per day in September 2022.

1) $1,$2 2) $1.85, $ 2.50 3) $1.75, $ 2.25 4) $1.90, $ 2.15

3) ¶mo½¶ H$WZ/Zo AmoiIm.
a) XmXm^mB© Zm¡amoOr ¶m§Zr Ë¶m§À¶m "nm°dQ>u A°ÊS> AZ{~«{Q>e ê$b BZ B§{S>¶m' J«§WmV 1867-68 ‘Ü¶o Xm[aÚ« aofoMm gdm©V

OwZm A§XmO ê$.16 Vo ê$.35 XaS>moB© Xa df© Ho$bm Amho.
b) 1938 ‘Ü¶o amï´>r¶ {Z¶moOZ g{‘VrZo XaS>moB© Xa‘hm ê$. 15 Vo ê$. 20 Xm[aÚ« aofm gwM{dbr Amho.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) (a) d (b) XmoÝhr 4) darbn¡H$s Zmhr

3) Select the correct statement/s :

a) Dadabhai Naoroji in his book ‘Poverty and un-British Rule in India’, made the earliest estimate

of poverty line at 1867-68 prices Rs. 16 to Rs. 35 per capita per year.

b) In 1938, the National Planning Committee suggested a poverty line ranging from Rs. 15 to

Rs. 20 per capita per month. °

Answer Options :

1) Only (a) 2) Only (b) 3) Both (a) and (b) 4) None of the above

4) Xm[aÐç ‘mnZmÀ¶m nÕVrMo nwZamdcmoH$Z H$aÊ¶mgmR>r gZ 2012 ‘Ü¶o {Z¶moOZ Am¶moJm‘m’©$V ñWmnZ H$aÊ¶mV
Amcoë¶m VÁk JQ>m§Mo AÜ¶j ........... ho hmoVo.
1) S>m°. Eg. ‘hoÝÐ Xod 2) S>m°. gr a§JamOZ
3) S>m°. Eg. V|Sw>cH$a 4) S>m°. dm¶. Ho$. AcK

4) The expert group set up in 2012 by the Planning Commission to review the methodology for

measurement of poverty was chaired by

1) Dr. S. Mahendra Dev 2) Dr. C. Rangarajan

3) Dr. S. Tendulkar 4) Dr. Y..K. Alagh

5) Imbrbn¡H$s H$moUË¶m g{‘VrZo Xm[aÐçmMr ì¶m»¶m hr Cî‘m§H$m§da (Calories) AmYm[aV Zgmdr Aer gyMZm Ho$br?
1) bH$S>mdmbm g{‘Vr 2) Xm§Vdmbm g{‘Vr
3) V|Sw>bH$a g{‘Vr 4) a§JamOZ g{‘Vr

5) Which of the following committees on measurement of poverty, suggested to move away from

Calories based definition of poverty ?

1) Lakdawala Committee 2) Dantwala Committee

3) Tendulkar Committee 4) Rangarajan Committee

6) 1973-74 À¶m VwbZoV gZ 1999-2000 ‘Ü¶o EHy$U Xm[aÐçmMo à‘mU ObXJVrZo gdm©V OmñV à‘mUmV H$‘r
H$aUmar hr amÁ¶o AmhoV?
1) Oå‘y-H$mí‘ra, Jmodm, {~hma 2) ‘hmamï´>, {~hma, Jmodm
3) Jmodm, n§Om~, Oå‘y-H$mí‘ra 4) JwOamV, ‘hmamï´>, Jmodm
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6) These States have showed the fastest reduction in total poverty in 1999-2000 as compared to

1973-74.

1) Jammu-Kashmir, Goa, Bihar 2) Maharashtra, Bihar, Goa

3) Goa, Punjab, J ammu-Kashmir 4) Gujarat, Maharashtra, Goa

7) ~hþAm¶m‘r Xm[aÐç {ZX}em§H$m ~m~VrV Imbrbn¡H$s H$moUVo {dYmZ/{dYmZo AMyH$ AmhoV?
a) ~hþAm¶m‘r Xm[aÐç {ZX}em§H$mMr g§H$ënZm 2010 À¶m ‘mZd {dH$mg AhdmbmV ‘m§S>Ê¶mV Ambr.
b) ~hþAm¶m‘r Xm[aÐç {ZX}em§H$ hr g§H$ënZm ‘mZdr Xm[aÐç {ZX}em§H$mÀ¶m EodOr dmnaÊ¶mV Ambr.
c) ~hþAm¶m‘r Xm[aÐç {ZX}em§H$m‘Ü¶o Amamo½¶, {ejU, amhUr‘mZmMm XOm© ¶m~m~VrVrb ì`º$sMr d§{MVVm {dMmamV

KoVbr OmVo.
d) ~hþAm¶m‘r Xm[aÐç {ZX}em§H$mMo ‘yë¶ OodT>o A{YH$ VodT>o Xm[aÐçmMo à‘mU A{YH$.
n¶m©¶r CÎmao …
1) {dYmZ c 2) {dYmZ b d c 3) {dYmZ a Am{U c 4) {dYmZ a, b, c Am{U d

7) In case of Multidimensional Poverty Index which of the following statement/s are correct ?
a) The concept of Multidimensional Poverty Index was presented in Human Development Report

of 2010.
b) The concept of Multidimensional Poverty Index is used in the place of Human Poverty Index.
c) In Multidimensional Poverty Index the deprivation of the person of health, education, living

standard were taken into consideration.
d) Higher value of Multidimensional Poverty Index indicates higher proportion of poverty.
Answer options :

1) Statement c 2) Statement b and c
3) Statement a and c 4) Statement a, b, c and d

8) Imbrb {dYmZo {dMmamV ¿¶m.
a) amOrd Jm§Yr J«m‘rU {Zdmam gwYm[aV ¶moOZm-II hr Xm[aÐç aofoImbrb bm^mÏ¶mªZm Ka ~m§YÊ¶mH$[aVm am~{dÊ¶mV ¶oVo.
b) amOrd Jm§Yr J«m‘rU {Zdmam gwYm[aV ¶moOZm-II A§VJ©V à{V KaHw$c é. EH$ bmI IM© {ZYm©[aV H$aÊ¶mV Ambm.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ Amho/V?
1) ’$º$ (a) ¶mo½¶ Amho. 2) XmoÝhr (a) Am{U (b) ¶mo½¶ AmhoV.
3) ’$º$ (b) ¶mo½¶ Amho. 4) darbn¡H$s H$moUVohr Zmhr.

8) Consider the following statements :
a) Revised Rajiv Gandhi Gramin Niwara Yojana - II is being implemented for below poverty line

beneficiaries for construction of houses.
b) Under Revised Rajiv Gandhi Gramin Niwara Yojana - I, the cost of each house is fixed at % one

lakh.
Which of the statement/s given above is/are correct ?
1) Only (a) is correct 2) Both (a) and (b) are correct
3) Only (b) is correct 4) None of the above

9) Xm[aÐçmÀ¶m ‘moO‘mnZmÀ¶m g§X^m©Vrc Imcrcn¡H$s H$moUVr g§km ‘mZdr {dH$mg Ahdmc - 2010 ‘Ü¶o ‘m§S>cr Jocr?
1) ‘mZdr Xm[aÐç {ZX}em§H$ 2) Xm[aÐçmMm ~hþAm¶m‘r {ZX}em§H$
3) qcJ gj‘Vm ‘mnH$ 4) qcJ {df‘Vm {ZX}em§H$

9) Which of the following concepts of poverty measurement was introduced by the Human

Development Report of 2010 ?

1) Human Poverty Index 2) Multi-dimensional Poverty Index

3) Gender Empowerment Measure 4) Gender Inequality Index
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5) ^maVr¶ AW©ì¶dñWm d Am{W©H$ gwYmaUm

1) CËnÞ - OrìhrE, OrS>rnr
2) Am{W©H$ Am{U {dÎmr` YmoaUo
3) H$a ‘hgyb
4) AW©g§H$ën
5) gmd©O{ZH$ IM©
6) Am{W©H$ gwYmaUm

1) CËnÞ - OrìhrE, OrS>rnr

1) 2012-13 ‘Ü¶o godm joÌmVrb gdm©{YH$ ¶moJXmZ .............. ¶m XoemMo Amho.
1) ^maV 2) A‘o[aH$m 3) OnmZ 4) MrZ

1) 2012-13 Highest contribution in service sector is of .............. country.

1) India 2) America 3) Japan 4) China

2) ^maVmVrc Am{W©H$ gd}jU H$moU àH$m{eV H$aVo ?
1) ^maVr¶ [aPd© ~±H$ 2) Zr{V Am¶moJ
3) {dÎm ‘§Ìmc¶, ^maV gaH$ma 4) n§VàYmZ H$m¶m©c¶

2) Economic Survey in India is published by

1) Reserve Bank of India 2) NITI Aayog

3) Ministry of Finance, Government of India 4) P.M.O.

3) H$WZ I … ''1991 Z§VaÀ¶m H$mimVrb ^maVr¶ AW©ì¶dñWoMr d¥Õr hr godm joÌmÀ¶m ZoV¥ËdmImbrb d¥Õr Amho.''
H$WZ II … ''AmJm‘r XmoZ XeH$m‘Ü¶o ^maVmbm AmYw{ZH$ AW©ì¶dñWm åhUyZ nwT>o Om¶Mo Agob Va Am¡Úmo{JH$sH$aUmMr
AdñWm {dgê$Z MmbUma Zmhr.
n¶m©¶r CÎmao …
1) H$WZ I A¶mo½¶ AmhoV. 2) H$WZ I A¶mo½¶ Amho.
3) H$WZ I Am{U II, XmoÝhrhr A¶mo½¶ AmhoV. 4) H$WZ I Am{U II, XmoÝhrhr ¶mo½¶ AmhoV.

3) Statement I : "The growth of Indian Economy in the Post 1991 period has been service led

growth".

Statement II : "If India is to transition to a Modern Economy in next two decades it cannot escape

the Industrialisation stage".

Answer options :

1) Statement I is incorrect 2) Statement II is incorrect

3) Statement I and II both are incorrect 4) Statement I and II both are correct

4) ~mOma qH$‘Vrg ñWyc Xoem§VJ©V CËnmXZ Am{U KQ>H$ IMm©g ñWyc Xoem§VJ©V CËnmXZ ¶mVrc ’$aH$ hm àm‘w»¶mZo
......... ‘wio {Z‘m©U hmoVmo.
1) àË¶j Am{U AàË¶j H$a 2) àË¶j H$a Am{U AZwXmZo
3) AàË¶j H$a Am{U AZwXmZo 4) AZwXmZo Am{U H$O©o
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4) The difference between Gross Domestic Product at market price and Gross Domestic Product at

factor cost arises mainly because of ..........

1) Direct and indirect taxes 2) Direct taxes and subsidies

3) Indirect taxes and subsidies 4) Subsidies and loans

5) ~mø gmd©O{ZH$ H$Om©À¶m  ~m~VrV Cƒ H$O© naV’o$S>-~MV à‘mUmMm AÝd¶mW© - Agm hmoVmo.
1) A§VJ©V ^m§S>dc {Z{‘©Vr‘Ü¶o KQ> 2) A§VJ©V ^m§S>dc {Z{‘©Vr‘Ü¶o dmT>
3) {Z¶m©V CËnÞm‘Ü¶o KQ> 4) {Z¶m©V CËnÞm‘Ü¶o dmT>

5) In case of external public debt, a high debt service - savings ratio implies

1) Fall in domestic capital formation 2) Increase in domestic capital formation

3) ‘Fall in export earnings 4) Increase in export earnings

6) nwT>rcn¡H$s H$moUVo CXmhaU/CXmhaUo ñWyc Xoem§VJ©V CËnmXZ ‘moO‘mnmMm ^mJ Zmhr ?
a) H$ma {Z{‘©VrgmR>r dmnacoë¶m Q>m¶aMo ‘yë¶ b) OwÝ¶m/dmnacoë¶m nwñVH$m§Mo {dH«$s ‘yë¶.
c) hñVm§VaU Xo¶Ho$. d) ‘mc‘Îmm {dH«$s ì¶dhma ‘Ü¶ñWmcm {Xcocr Xcmcr.
¶mo½¶ n¶m©¶ {ZdS>m :
1) ’$º$ (a) 2) (a),(b) Am{U (c) 3) (a),(b), (c) Am{U (d) 4) (b) Am{U (d)

6) Which of the following examples can not be a part of Gross Domestic Product Accounting ?

a) The value of the tyres used to build a car. b) The transaction value of second hand books.

c) Transfer payments. d) Brokerage paid to real estate agent.

Answer Options :

1) Only (a) 2) (a), (b) and (c) 3) (a), (b), (c) and (d) 4) (b) and (d)

7) EHy$U Xoem§VJ©V CËnmXZ GDP Am{U EHy$U amï´>r¶ (GNP) CËnmXZ ¶m‘Yrc ’$aH$ Imcrcn¡H$s H$moUË¶m {dYmZmV
à{Vq~{~V hmoVmo?
1) GDP Am{U GNP ¶m XmoÝhr g§H$ënZm EH$M AmhoV.
2) GDP ‘Ü¶o XoemVrc CËnmXZ KQ>H$m§Zr naXoemV Ho$cocr àmár ‘moOcr OmVo.
3) GDP ‘Ü¶o XoemVrc CËnmXZ KQ>H$m§Zr naXoemV Ho$cocr àmár ‘moOcr OmVo.
4) GNP ¶m g§koV ^m§S>dcr Kgmam dJicm OmVmo.

7) A difference between Gross Domestic Product (GDP) and Gross National Product GNP) is

reflected by which of the following statements ?

1) GDP and GNP are one and the same concepts

2) GNP includes receipts from Abroad made to the Country’s factors of production

3) GDP includes receipts from Abroad made to the Country’s factors of production

4) GNP excludes the capital depreciation

8) ^maVmVrc amï´>r¶ CËnÞmÀ¶m ‘mnZmg§X^m©V Imcrc {dYmZo {dMmamV ¿¶m :
a) {Zdm©h eoVr‘wio AmnUmg amï´>r¶ CËnÞmMm H$‘r AmH$S>m àmá hmoVmo.
b) dñVy {d{Z‘¶ nÕVrÀ¶m ApñVËdm‘wio AmnUmg amï´>r¶ CËnÞmMm OmñV AmH$S>m àmá hmoVmo.
c) H$mù¶m AW©ì¶dñWoÀ¶m ApñVËdm‘wio AmnUmg amï´>r¶ CËnÞmMm OmñV AmH$S>m àmá hmoVmo.
darcn¡H$s H$moUVr {dYmZ/Zo ~amo~a AmhoV ?
1) (a),(b) Am{U (c) ~amo~a AmhoV 2) (a) Am{U (b) ~amo~a AmhoV
3) (a) Am{U (c) ~amo~a AmhoV 4) ’$º$ (a)  ~amo~a Amho.
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8) Consider the following statements about national income accounting in India.

a) We get an underestimate of national income due to subsistence agriculture.

b) We get an overestimate of national income due to presence of barter system.

c) We get an overestimate of national income due to operation of black economy.

Which of the above statement/s are true ?

1) (a), (b) and (c) are correct 2) (a) and (b) are correct

3) (a) and (c) are correct 4) Only (a) is correct

9) ^maVmgma»¶m {dH$gZerb XoemV amï´>r¶ CËnÞ ‘moOÊ¶mV Imbrbn¡H$s H$moUË¶m AS>MUr AmhoV?
a) Ag§K{Q>V Am{U {dIwabobo CËnmXZ b) {Zdm©h eoVr
c) nwaoem gm§p»¶H$s¶ AmH$S>odmarMr CnbãYVm d) {ZajaVm
n¶m©¶r CÎmao …
1) a, b Am{U c 2) a, b Am{U d 3) b, c Am{U d 4) darbn¡H$s gd©

9) Which of the following difficulties are in measuring National Income in developing countries

like India ?

a) Unorganised and Scattered Production b) Subsistence farming

c) Availability of adequate statistical data d) Illiteracy

Answer options :

1) a, b and c 2) a, b and d 3) b, c and d 4) All of the above

10) amoI {e„H$ Ñ{ï>H$moZmÀ¶m ‘me©bÀ¶m g‘rH$aUm‘Ü¶o, M = KPY, ‘K’ ho Aja ...... Xe©{dVo.
1) n¡emMm nwadR>m
2) n¡emMm «̂‘U doJ
3) dmñVd CËnÞmMm Agm ^mJ Omo bmoH$ ñdV…Odi amoI ñdê$nmV ~miJy BpÀN>VmV.
4) qH$‘V nmVir

10) In the Marshallian equation of the Cash Balance Approach, M = KPY, the letter ‘K’ stands for

1) Supply of money

2) Velocity of circulation of money

3) Fraction of real income which people desire to hold in money

4) Price level

2) Am{W©H$ Am{U {dÎmr` YmoaUo

1) Imbrb OmoS>çm‘YyZ A¶mo½¶ OmoS>r AmoiIm.
a) 12 dm {dÎm Am¶moJ - gr. a§JamOZ - 2005-2010
b) 13 dm {dÎm Am¶moJ - Ho$. gr. n§V - 2010-2015
c) 14 dm {dÎm Am¶moJ - S>m°. dm¶. ìhr. aoÈ>r - 2015-2020
d) 15 dm {dÎm Am¶moJ - EZ. Ho$. qgJ - 2020-2026
n¶m©¶r CÎmao …
1) a Am{U c 2) ’$º$ b 3) ’$º$ a 4) ’$º$ d
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1) Find out incorrect pair from following.

a) 12th finance commission — C. Rangrajan — 2005-2010

b) 13th finance commission — K. C. Pant — 2010-2015

c) 14th finance commission — Dr. Y. V. Reddy — 2015-2020

d) 15th finance commission — N. K. Singh — 2020-2026

Answer options :

1) a and c 2) Only b 3) Only a 4) Only d

3) H$a ‘hgyb
1) Imbrbn¡H$s H$moUVo {dYmZ/Zo MwH$sMo/AmhoV?

a) 1968 ‘Ü¶o àW‘ ôQ> H$a bmJy H$aÊ¶mV Ambm.
b) 1 E{àb, 1991 amoOr qH$dm Ë¶mZ§VaÀ¶m ôQ>dñVy§da ôQ> H$a aÔ H$aÊ¶mV Ambm.
n¶m©¶r CÎmao …
1) Ho$di a MyH$ Amho 2) Ho$di b MyH$ Amho
3) XmoÝhr a Am{U b MyH$ AmhoV 4) darbn¡H$s Zmhr

1) Which of the following statement/s is /are incorrect ?

a) A Gift Tax was first introduced in 1968.

b) Gift Tax was abolished on gifts made on or after April 1, 1991.

Answer options :

1) Only a is incorrect 2) Only b is incorrect

3) Both a and b are incorrect 4) None of the above

2) Imbrb {dYmZo {dMmamV ¿¶m …
a) S>m¶ao³Q> Q>°³g H$moS> 2012 Zo e¡j{UH$ H$Om©darb H$amVrb gyQ> Amho VerM Mmby R>odbr.
b) S>m¶ao³Q> Q>°³g H$moS> 2012 Zo aOm àdmg ^Î¶mdarb H$amVrb gyQ> Amho VerM Mmby R>odbr.
c) S>m¶ao³Q> Q>°³Q> H$moS> 2012 Zo A{Y^ma d e¡j{UH$ H$a Amho VgmM Mmby R>odbm.
n¶m©¶r CÎmao …
1) ’$º$ (a) ¶mo½¶ Amho 3) ’$º$ (b) ¶mo½¶ Amho 3) ’$º$ (c) ¶mo½¶ Amho 4) darbn¡H$s gd©

2) Consider the following statements :

a) Direct Tax Code 2012 has continued tax exemption on Education loan.

b) Direct Tax Code 2012 has continued tax exemption on leave travel allowance.

c) Direct Tax Code 2012 has continued surcharge and education cess.

Which of the statement/s given above is/are correct ?

1) Only (a) is correct 2) Only (b) is correct 3) Only (c) is correct 4) All of the above

3) Imbrb {dYmZo {dMmamV ¿¶m …
a) 1 Owb¡ 2017 nmgyZ ^maVmV OrEgQ>r bmJy Pmbm Amho.
b) amÁ¶ gaH$mao EgOrEgQ>r Jmoim H$aVmV.
c) grOrEgQ>r H|$Ð gaH$ma Jmoim H$aVo.
d) Am¶OrEgQ>r amÁ¶ gaH$mao VgoM H|$Ð gaH$ma Jmoim H$aVmV.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶  Amho/V?
1) Ho$di (a) Am{U (d) ~amo~a AmhoV. 2) Ho$di (b), (c) Am{U (d) ~amo~a AmhoV.
3) Ho$di (d) ~amo~a Amho 4) Ho$di (a), (b) Am{U (c) ~amo~a AmhoV.
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3) Consider the following statements :

a) GST has been implemented in India from July 1, 2017.

b) SGST, collected by the State Governments.

c) CGST, collected by the Central Government.

d) IGST, collected by State Governments as well as Central Governments.

Which of the statement/s given above is/are correct ?

1) Only (a) and (d) are correct 2) Only (b), (c) and (d) are correct

3) Only (d) is correct 4) Only (a), (b) and (c) are correct

4) amOH$mofr¶ nÌm§Mr ‘wXV ...... AgVo.
a) 182 {Xdgm§Mr b) 368 {Xdgm§Mr c) 364 {Xdgm§Mr d) 91 {Xdgm§Mr
n¶m©¶r CÎmao …
1) (a), (c) Am{U (d) 2) (c) Am{U (d) 3) ’$º$ (a) 4) ’$º$ (d)

4) Treasury bills have a maturity of ......

a) 182 days b) 368 days c) 364 days d) 91 days

Answer Options :

1) (a), (c) and (d) 2) (c) and (d) 3) Only (a) 4) Only (d)

5) H|$Ðr¶ H$am§Mr amÁ¶m‘Ü¶o H$amdr bmJUmar {d^mJUr ...... KQ>H$mda AmYm[aV Amho.
a) amÁ¶m§Mr bmoH$g§»¶m Am{U amÁ¶m§Mo ŷjoÌ b) amÁ¶m§Mm H$a CËnÞmVrb gh^mJ
c) e¡j{UH$ gw{dYm§Mr CnbãYVm d) amoOJma g§YrMo à‘mU
n¶m©¶r CÎmao …
1) (a) Am{U (c) 2) (a) Am{U (b) 3) (a), (b) Am{U (d) 4) (c) Am{U (d)

5) The share in central taxes is distributed among states based on

a) State’s Population and State’s Area b)  State’s contribution in tax yields

c) Availability of education facilities d) Proportion of job opportunities

Answer Options :

1) (a) and (c) 2) (a) and (b) 3) (a), (b) and (d) 4) (c) and (d)

6) Imcrc {dYmZo H$a AmH$maUrÀ¶m g§X^m©Vrc AmhoV.
a) H$amMm A§{V‘ ~moOm Ë¶m ì¶º$sda nS>Vmo Or ì¶º$s H$a ^aVo.
b) AàË¶j H$amÀ¶m ~m~VrV H$amMm ~moOm Am{U AmKmV EH$M ì¶º$s AZŵ dVo.
c) àË¶j H$am§‘Ü¶o Cƒ nmVirMr cd{MH$Vm AgVo.
d) AàË¶j H$am§‘YyZ {‘iUmè¶m ‘hgwcm~m~V A{ZpíMVVm AgVo.
darc {dYmZm§n¡H$s H$moUVo {dYmZo Iar AmhoV ?
1) (a) Am{U (d) 2) (a) Am{U (b) 3) (c) Am{U (d) 4) (a) Am{U (c)

6) Following are the statements related to taxation.

a) Incidence of a tax is felt by a person who pays it.

b) In case of indirect tax, the incidence and impact are felt by the same person.

c) Direct taxes have high degree of elasticity.

d) There is uncertainty related to the collection from indirect tax.

Which of the above statements are true ?

1) (a) and (d) 2) (a) and (b) 3) (c) and (d) 4) (a) and (c)
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7) Imbrb {dYmZo {dMmamV ¿¶m.
a) d¡¶{º$H$ CËnÞm‘Ü¶o Z’$m, ì¶mO, doVZ, I§S> Am{U gm‘m{OH$ gwajm ¶moJXmZo ¶m§Mm g‘mdoe hmoVmo.
b) ì¶¶e³¶ CËnÞm‘Ü¶o d¡¶{º$H$ CËnÞ Am{U d¡¶{º$H$ H$a ¶m§Mm g‘mdoe hmoVmo.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo MyH$ Amho/V?
n¶m©¶r CÎmao …
1) Ho$di a MyH$ Amho 2) Ho$di b MyH$ Amho
3) XmoÝhr a Am{U b MyH$ AmhoV 4) darbn¡H$s H$moUVohr Zmhr

7) Consider the following statements.

a) Personal Income includes profit, interest, wages, rent and social security contributions.

b) Disposable Income includes personal income and personal taxes.

Which of the statement/s given above is/are incorrect ?

Answer options :

1) Only a is incorrect 2) Only b is incorrect

3) Both a and b are incorrect 4) None of the above

8) nyU© ñnY}Vrb H$a^mam g§X^m©V Imbrb {dYmZm§Mm {dMma H$am.
a) BVa n[apñWVr H$m¶‘ AgVmZm, Oa nwadR>çmMr bd{MH$Vm hr ‘mJUrÀ¶m bd{MH$Vonojm A{YH$ Agob Va H$amMm

^ma hm {dH«o$Ë¶mda A{YH$ amhVmo.
b) BVa n[apñWVr H$m¶‘ AgVmZm, Oa ‘mJUrMr bd{MH$Vm hr nwadR>çmÀ¶m bd{MH$Vonojm A{YH$ Agob Va H$amMm

^ma hm J«mhH$m§da A{YH$ amhrb.
n¶m©¶r CÎmao …
1) ’$º$ a ~amo~a Amho 2) ’$º$ b ~amo~a Amho
3) a Am{U b XmoÝhr ~amo~a Amho 4) darbn¡H$s H$moUVohr ~amo~a ZmhrV

8) Consider the following statements with respect to incidence of tax under perfect competition.

a) Other things being equal, the incidence of tax will be more on sellers if elasticity of supply is

greater than elasticity of demand.

b) Other things being equal, if the elasticity of demand is greater than elasticity of supply, greater

will be the incidence of tax on buyers.

Which of the statement/s given above is/are correct ?

1) Only a is correct 2) Only b is correct

3) Both a and b are correct 4) None of the above are correct

4) AW©g§H$ën

1) ^maVmV "{dÎmr¶ O~m~Xmar d AW©g§H$ën ì¶dñWmnZ H$m¶Xm" H$moUË¶m dfu ‘§Oya Pmcm ?
1) 2003 2) 1991 3)  2009 4) 2014

1) ‘Fiscal Responsibility and Budget Management Act’ in India was passed in which of the following

year ?

1) 2003 2) 1991 3) 2009 4) 2014

2) Imbrbn¡H$s H$moUË¶m g{‘VrMr ñWmnZm {dÎmr¶ O~m~Xmar Am{U AW©g§H$ënr¶ ì¶dñWmnZ H$m¶Xm 2003 À¶m
nwZamdbmoH$ZmgmR>r H$aÊ¶mV Ambr hmoVr?
1) dm¶. ìhr. aoÈ>r g{‘Vr 2013 2) gr. a§JamOZ g{‘Vr 2007
3) ‘hmdra Ë¶mJr g{‘Vr 2005 4) EZ. Ho$. qgJ g{‘Vr 2016
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2) Which of the following Committee was established to review the Fiscal Responsibility and Budget

Management Act, 2003 ?

1) Y. V. Reddy Committee 2013 2) C. Rangarajan Committee 2007

3) Mahaveer Tyagi Committee 2005 4) N. K. Singh Committee 2016

3) Imbrbn¡H$s H$moUVo/Vr {dYmZ/Zo ~amo~a Amho/V?
a) Am{W©H$ df© 2018 nmgyZ aoëdo AW©g§H$ën H|$Ðr¶ AW©g§H$ënmV {dbrZ H$aÊ¶mV Ambm.
b) AW©g§H$ënr¶ Am{W©H$ df© 2019 ‘Ü¶o gaH$mar IMm©Mo {Z¶moOZ Am{U {Z¶moOZoVa dJuH$aU H$aUo ~§X Pmbo Amho.
n¶m©¶r CÎmao …
1) ’$º$ a ~amo~a Amho 2) ’$º$ b ~amo~a Amho
3) XmoÝhr a Am{U b ~amo~a AmhoV 4) darbn¡H$s H$mhrhr Zmhr

3) Which of the following statement/s is /are correct ?

a) The railway budget was merged with Union Budget from financial year 2018.

b) The Budget financial year 2019 discontinued having plan and Non-plan classification of

Government expenditure.

Answer options :

1) Only a is correct 2) Only b is correct

3) Both a and b are correct 4) None of the above

4) Imcrcn¡H$s H$moUVr {dYmZ/{dYmZo ~amo~a AmhoV ?
A) AW© {dYo¶H$ Zgcoë¶m g§nyU© {dYo¶H$mMm nwZ{d©Mma H$amdm Agm g§Xoe XodyZ Vo naV nmR>{dÊ¶mMm amÁ¶nmcm§Zm

A{YH$ma Zmhr.
~) ‘hmamï´>, ‘Ü¶àXoe Am{U H$Zm©Q>H$ ¶m amÁ¶mV amÁ¶nmcm§Zm Am{Xdmgr O‘mVrÀ¶m H$ë¶mUmgmR>r ‘§Ìr Zo‘Ê¶mMr {deof

O~m~Xmar nma nmS>mdr cmJVo.
H$) ghmì¶m n[a{ï>mVrc VaVwXrZwgma Amgm‘ ‘Ü¶o Am{Xdmgr joÌmÀ¶m àemgZm g§X^m©V amÁ¶nmcm§Zm H$mhr {deof

A{YH$ma {Xcoco AmhoV.
S>) Cƒ Ý¶m¶mc¶mMo ñWmZ Ymo³¶mV AmUUmao {dYo¶H$ amÁ¶nmc ñdÀN>oZo amï´>nVtÀ¶m {dMmamW© amIyZ R>ody eH$VmV.
n¶m©¶r CÎmao :
1) A, ~ 2) ~, H$ Am{U S> 3) H$ Am{U S> 4) Ho$di H$

4) Which of the following statement/s is/are correct ?

A) The Governor has no power to return a non-money bill with a message for reconsideration of

the whole bill.

B) In the States of Maharashtra, Madhya Pradesh and Karnataka, it is the special responsibility of

the Governor to see that a Minister is placed in charge of tribal welfare.

C) In Assam, the Governor is given certain special powers with respect to the administration of

the tribal areas as provided in the sixth schedule.

D) The Governor may reserve the bill for the consideration of the President, where the bill

endangers the position of the High Court.

Answer options :

1) A and B 2) B, C and D 3) C and D 4) Only C
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5) Imbrbn¡H$s H$moUVr CÎm‘ 'AW©g§H$ën' ~Z{dÊ¶mMr VÎdo AmhoV?
a) A§XmO ‘hgwbr VÎdmda AgmdoV. b) A§XmO {d^mJdma Agmdo.
c) A§XmO OdiMo AgmdoV. d) ‘hgwbr Am{U ^m§S>dbr ~m~r EH${ÌV
e) A§XmOnÌH$ {Zìdi VÎdmda Agmdm, gH$b Zgmdm.
n¶m©¶r CÎmao …
1) (a), (b) Am{U (c) 2) (c), (d) Am{U (e) 3) (b) Am{U (c) 4) darb gd©

5) Which of the following are the principles of sound budgeting ?

a) Estimates should be on a revenue basis b) Estimates should be on departmental basis

c) Estimating should be close d) Integration of the revenue and capital aspects

e) Budgeting should be net and not gross

Answer Options :

1) (a), (b) and (c) 2) (c), (d) and (e) 3) (b) and (c) 4) All above

6) ^maVmV 'H$m¶©bú‘r (H$m¶©{ZînmXZ) AW©g§H$ën' ¶mMr gwédmV H$moUmÀ¶m {e’$maerZwgma H$aÊ¶mV Ambr?
1) àemgH$s¶ gwYmaUm Am¶moJ 2) A§XmO g{‘Vr
3) A°nb~r Ahdmb 4) ^maVmMm {Z¶§ÌH$ d ‘hmboIm narjH$

6) The Performance budget was introduced in India on the recommendation of -

1) Administrative Reforms Commission 2) Estimate Committee

3) Appleby Report 4) Comptroller and Auditor General of India

5) gmd©O{ZH$ IM©
1) Imcrc AW©emók Am{U Ë¶m§Mr gmd©O{ZH$ IMm©Mr g§H$ënZm XoÊ¶mV Amcoë¶m AmhoV. ¶mo½¶ OmoS>çm Owidm.

¶w{ZQ> - I                     ¶w{ZQ> - II

a) àmo. am°{~ÝgZ i) {dH$mgmË‘H$ H$m¶m©darc IM©,g§ajUmdarc IM©
b) àmo. A°S>åg ii) àemgZ IM© Am{U gm‘m{OH$ IM©
c) àmo. lr‘Vr {hŠg iii) AZwXmZo Am{U H«$¶ ‘yë¶
a) àmo. S>mëQ>Z iv) CËnmXH$ IM© d AZwËnmXH$ IM©
n¶m©¶r CÎmao :

(a) (b) (c) (d)

1) (iv) (i) (ii) (iii)
2) (i) (ii) (iii) (iv)
3) (ii) (iii) (iv) (i)
4) (iii) (iv) (i) (ii)

1) Match the following Economist and their ideas about types of public expenditure given below.
  Unit - I                          Unit - II

a) Prof. Robinson i) Development Expenditure and Security Expenditure .
b) Prof. Adams ii) Administrative and Social Expenditure
c) Prof. Smt. Hicks iii) Subsidies and purchasing value
d) Prof. Dalton iv) Productive and Non-productive Expenditure
n¶m©¶r CÎmao :

(a) (b) (c) (d)

1) (iv) (i) (ii) (iii)
2) (i) (ii) (iii) (iv)
3) (ii) (iii) (iv) (i)
4) (iii) (iv) (i) (ii)
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2) H$WZ I … ''Mmby ‘hgwbmVyZ Úmì¶m bmJUmè¶m ì¶mOm‘wio gmd©O{ZH$ H$Om©Mm ~moOm dmT>bm Amho.''
H$WZ II … ''gmd©O{ZH$ H$Om©À¶m naV’o$S>rgmR>r à{V~§YmË‘H$ Cnm¶¶moOZm H$aÊ¶mgmR>r {dÎmr¶ gmYZm§Mm dmna
Ho$ë¶m‘wio ImOJr joÌmbm CnbãY hmoUmè¶m {ZYrMr H$‘VaVm ^mgVo.''
n¶m©¶r CÎmao …
1) H$WZ I ¶mo½¶ AmhoV. 2) H$WZ I A¶mo½¶ Amho.
3) H$WZ I Am{U II, XmoÝhrhr ¶mo½¶ AmhoV. 4) H$WZ I Am{U II, XmoÝhrhr A¶mo½¶ AmhoV.

2) Statement I : "Public debt carries burden of interest which is to be paid out of current revenue".

Statement II : "Public debt pre-empting financial resources may reduce availability of funds to

the private sectors".

Answer options :

1) Statement I is correct 2) Statement II is correct

3) Statement I and II both are correct 4) Statement I and II both are incorrect

6) Am{W©H$ gwYmaUm

1) Imcrcn¡H$s H$moUVo {dYmZ ~amo~a Amho ?
a) OmJ{VH$ nmVirda Am{W©H$ gwYmaUm§Zm 1970 nmgyZ gwédmV Pmcr hmoVr.
b) ^maVmZo Owc¡ 1991 nmgyZ Am{W©H$ gwYmaUm§Zm gwédmV Ho$cr hmoVr.
n¶m©¶r CÎmao :
1) (a) ~amo~a Amho 2) (b) ~amo~a Amho
3) (a) Am{U (b) ~amo~a Amho 4) darcn¡H$s H$moUVohr ~amo~a Zmhr

1) Which of the following statement is correct ?

a) Global Economic Reforms had begun since 1970's.

b) India had begun Economic Reforms since July 1991.

Answer options : ,

1) (a) is correct 2) (b) is correct

3) (a) and (b) are correct 4) None of above are correct

2) ¶wZgrQ>rES>rÀ¶m OmJ{VH$ Jw§VdUyH$ AhdmbmZwgma (2022) ^maV 2021 ‘Ü¶o E’$S>rAm¶ àmá H$aÊ¶mV ...... ì¶m
H«$‘m§H$mda hmoVm.
1) 6 ì¶m 2) 7 ì¶m 3) 8 ì¶m 4) darbn¡H$s Zmhr

2) According to the UNCTAD’s World Investment Report (2022), India was ______ recipient of

FDI in 2021.

1) 6th 2) 7th 3) 8th 4) None of the above

3) ì¶dgm¶ gwb^Vm åhUOo H$m¶?
a) ApñVËdmV Agboë¶m {Z¶‘mbm gai d gwgy{ÌV H$aUo.
b) ‘m{hVr V§ÌkmZmMm dmna H$ê$Z emgZ H$m¶©j‘ Am{U n[aUm‘H$maH$ H$aUo.
c) ì¶dgm¶ Z’$m{^‘wI ~ZdUo.
d) ì¶dgm¶ g‘mOH$ë¶mUm{^‘wI ~ZdUo.
n¶m©¶r CÎmao …
1) (a) Am{U (c) hr {dYmZo ~amo~a AmhoV. 2) (c) Am{U (d) hr {dYmZo ~amo~a AmhoV.
3) ’$º$ (b) ho {dYmZ ~amo~a Amho. 4) (a) Am{U (b) hr {dYmZo ~amo~a AmhoV.
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3) What does the Ease of Doing Business mean ?

a) Making the existing rule simple and rational

b) Using of information technology to make governance more efficient and effective

c) To make business profit-oriented

d) To make business Social-welfare-oriented

Answer Options :

1) (a) and (c) statements are correct 2) (c) and (d) statements are correct

3) Only (b) statement is correct 4) (a) and (b) statements are correct

4) ^maVmV ~hþamï´>r¶ H§$nÝ¶m§À¶m {H«$¶m§da {Z¶§ÌU R>odÊ¶mMr O~m~Xmar ...... ¶mda Amho.
a) H§$nZr ì¶dhma ‘§Ìmb¶ b) ^maVr¶ [aPìh© ~±H$
c) Am¡Úmo{JH$ {dH$mg ‘§Ìmb¶ d) {dÎm ‘§Ìmb¶
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (d) 2) ’$º$ (b) Am{U (c) 3) ’$º$ (b), (c) Am{U (d) 4) (a), (b), (c) Am{U (d)

4) In India, the responsibility of controlling the activities of multinational corporations rests on

a) The Ministry of Company Affairs b) The Reserve Bank of India

c) The Ministry of Industrial Development d) The Ministry of Finance

Answer Options :

1) Only (a) and (d) 2) Only (b) and (c) 3) Only (b), (c) and (d) 4) (a), (b), (c) and (d)

5) ............. ho OmJ{VH$sH$aUmMo Xmof Amho/V.
a) Am§Vaamï´>r¶ ì¶mnmamV dmT> H$aUo b) V§ÌkmZmMr CncãYVm dmT>{dUo
c) H¥$fr joÌmdarc ZH$mamË‘H$ n[aUm‘ d) {dXoer McZ gmR>çmV dmT> hmoUo
n¶m©¶r CÎmao :
1) ’$º$ (a) ¶mo½¶ Amho 2) ’$º$ (b) ¶mo½¶ Amho
3) ’$º$ (c) ¶mo½¶ Amho 4) (a),(c) Am{U (d) ¶mo½¶ AmhoV

5) ............. is/are the demerits of Globalization.

a) Increase in foreign Trade b) Increase in availability of Technology

c) Negative impact on Agriculture d) Increase in foreign currency

Answer options :

1) Only (a) is correct 2) Only (b) and (c) are correct

3) Only (c) is correct 4) (a), (c) and (d) are correct

6) nwT>rb {dYmZmn¡H$s H$moUVo ¶mo½¶ Amho?
a) OmJ{VH$sH$aUmÀ¶m ^mdZoMm AW© Agm Amho H$s YmoaU {Z‘m©Ë¶m§Zr OmJ{VH$ g§X^m©V AO|S>m {Z{‘©Vr Am{U g‘ñ¶m

ì`m»`rV H$aUo ¶mMm {dMma Ho$bm nm{hOo.
b) àË¶oH$ XoemVrb YmoaUH$V} g‘¥Õr, ‘§Xr, Z¡amí¶ Am{U nwZàm©ár ¶m Am§Vaamï´>r¶ Am{W©H$ MH«$mÛmao V¶ma Ho$bobo YmoaU

g§X ©̂ gm‘m{¶H$ H$aVmV.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b)

3) XmoÝhr (a) d (b) ~amo~a AmhoV 4) H$moUVohr ~amo~a Zmhr
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6) Which of the following statements are correct ? oy

a) The implications of the notion of globalization are that policy-makers must consider agenda

formation and problem definition within a global context.

b) The policy-makers in each country share a policy context formed by the international economic

cycle of prosperity, recession, depression and recovery.

Answer Options :

1) Only (a) 2) Only (6)

3) Both (a) and (b) are correct 4) None is correct

7) Zd-CXma YmoaUo ‘w»¶V… ¶mda ^a XoVmV …
a) ~mOma AW©ì¶dñWm b) H$ë¶mUH$mar AW©ì¶dñWm
c) {‘l AW©ì¶dñWm d) qMVmOZH$ joÌmVrb Jw§VdUyH$ H$‘r H$aUo.
n¶m©¶r CÎmao …
1) (a), (b) Am{U (c) n¶m©¶ ¶mo½¶ AmhoV. 2) (b), (c) Am{U (d) n¶m©¶ ¶mo½¶ AmhoV.
3) (a) Am{U (d) n¶m©¶ ¶mo½¶ AmhoV. 4) (b) Am{U (c) n¶m©¶ ¶mo½¶ AmhoV.

7) The neo-liberal policies mainly emphasises on :

a) Market Economy b) Welfare Economy

c) Mixed Economy d) Diminish public investment in critical areas

Answer Options :

1) (a), (b) and (c) alternatives are correct 2) (b), (c) and (d) alternatives are correct

3) (a) and (d) alternatives are correct 4) (b) and (c) alternatives are correct

6) d§{MVm§gmR>r ({ó¶m, ‘wbo, ¶wdH$, d¶mod¥Õ, {Xì¶m§J, Hw$Qw>§~) Am{W©H$ {dH$mg CnH«$‘

d g~brH$aU

1) {ó¶m, ‘wbo, ¶wdH$, Hw$Qw>§~mMo g~brH$aU
2) d¶mod¥Õ, {Xì¶m§J ¶m§Mo g~brH$aU

1) ^maV gaH$maÀ¶m 2020-21 À¶m AW©g§H$ënm‘Ü¶o :
a) gm‘m{OH$ godm joÌmdarc IMm©Mm ‘hgwcr IMm©Vrc dmQ>m gdm©{YH$ Amho.
b) Am{W©H$ godm§darc IMm©Mm ^m§S>dcr IMm©Vrc dmQ>m gdm©{YH$ Amho.
darcn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/V ?
1) ’$º$ {dYmZ (a) 2) ’$º$ {dYmZ (b)

3) (a) Am{U (b) XmoÝhr ~amo~a AmhoV 4) (a) Am{U (b) XmoÝhr {dYmZo MwH$sMr AmhoV
1) In GOI Budget 2020-21 :

a) Social services expenditure accounted for the lion’s share of revenue expenditure.

b) Economic services;accounted for major share. of capital expenditure.

Which of above statements is/are correct ?

1) Only statement (a) 2) Only statement (b)

3) Both statements (a) and (b) are correct 4) Both statements (a) and (b) are wrong
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1) {ó¶m, ‘wbo, ¶wdH$, Hw$Qw>§~mMo g~brH$aU

1) ^maVmVrc qcJmYm[aV AW©g§H$ënmMr pñWVr ¶m g§X^m©V nwT>rc {dYmZo {dMmamV ¿¶m :
a) 2000 - 01 À¶m Am{W©H gd©ojUm‘Ü¶o ^maVmV qcJmYm[aV AW©g§H$ënmMr JaO Agë¶mMm {deof g§X ©̂ XoÊ¶mV

Amcm hmoVm.$
b) qcJmYm[aV AW©g§H$ën Am{U Am{W©H$ dJuH$aU ¶m g§X^m©V gm‘mÝ¶ Ñ{ï>H$moZ gy{MV H$aÊ¶mgmR>r S>m°. AemoH$ cm{har

¶m§À¶m AÜ¶jVoImcr g{‘Vr Zo‘Ê¶mV Amcr hmoVr.
c) ^maVmV AÚmnhr qcJmYm[aV AW©g§H$ënmMr à{H«$¶m gwé H$aÊ¶mV Amcocr Zmhr.
n¶m©¶r CÎmao :
1) {dYmZ (a) MyH$ Amho 2) {dYmZ  (b) MyH$ Amho
3)  {dYmZ (c) MyH$ Amho 4)  {dYmZ (b) Am{U (c) MwH$sMr AmhoV

1) Consider the following statements related to status of gender budgeting in India.

a) The Economic Survey for 2000-01 made a specific reference to need for gender budgeting in

India.

b) Dr. Ashok Lahiri Committee was constituted to suggest general approach to gender budgeting

and economic classification.

c) The gender budget process is not yet initiated in India.

Answer Options :

1) Statement (a) is false 2) Statement (b) is false

3) Statement (c) is false 4) Statements (b) and (c) are false

2) d¶mod¥Õ, {Xì¶m§J ¶m§Mo g~brH$aU

1) ............. amoOr  amï´>r¶ AÞ gwajm H$m¶Xm 2013  (NFSA)  A{Ygy{MV H$aÊ¶mV Amcm.
1) 15 Am°JñQ> 2013 2) 26 OmZodmar 2013
3) 10 gßQ>|~a 2013 4) darcn¡H$s Zmhr

1) National Food Security Act 2013 (NFSA) was notified on ......

1) 15th  Aug. 2013 2) 26th Jan. 2013.

3) 10th Sept. 2013 4) None of the above

2) ‘hmamï´> emgZmZo "{deof AZwXm{ZV gmd©O{ZH$ {dVaU ¶moOZm" H$Yr gwé H$aÊ¶mV Amcr Amho ?
1) 1990 OmZodmar 2) 1991 Zmoìh|~a
3) 1992 Zmoìh|~a 4) 1993 OmZodmar

2) When was the ‘Special Granted Public Distribution Programme’ started by government of

Maharashtra ?

1) 1990 January 2) 1991 November

3) 1992 November 4) 1993 January
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7) H¥$fr d J««m‘rU {dH$mg

1) H¥$fr AW©emó
2) J««m‘rU nm¶m ŷV gw{dYm {dH$mg
3) J««m‘rU {dH$mg àH$ën
4) eoVH$è¶m§Mo  Am{W©H$ gj‘rH$aU
5) H¥$fr nVnwadR>m
6) eoV‘mb qH$‘V YmoaU
7) H¥$fr CÚmoJ

1) H¥$fr AW©emó

1) Imcrc H¥$fr AW©emómMr ì¶m»¶m H$moUr ‘m§S>cr Amho ?
""eoVr‘Ü¶o g§nÎmr {‘idÊ¶mÀ¶m Am{U IM© H$aÊ¶mÀ¶m {H«$¶m§‘wio Oo g§~§Y {Z‘m©U hmoVmV Ë¶m§Mm Aä¶mg H¥$fr AW©emómV
Ho$cm OmVmo"".
1) Q>oca 2) J«o 3) {h~mS>© 4) hm°dS>©

1) Who stated the following definition of agricultural economics ?

"Agricultural Economics is the study of relationship arising from the wealth-getting and wealth

1) Taylor 2) Gray 3) Hibbard 4) Haurd

2) I) 2017-18 ‘Ü¶o eoVrd¥ÕrMo à‘mU 2.1% BVHo$ H$‘r Pmbo Á¶m‘wio ̂ maVr¶ AW©ì¶dñWobm g‘ñ¶m§Zm gm‘moao Omdo
bmJbo.

II) 2017-18 ‘Ü¶o GDP d¥ÕrMo à‘mU 6.75% n¶ªV nmohMbo.
darbn¡H$s H$moUVr {dYmZ/Zo ~amo~a Amho/AmhoV?
1) ’$º$ {dYmZ (I) ~amo~a Amho. 2) ’$º$ {dYmZ (II) ~amo~a Amho.
3) {dYmZ (I) Am{U {dYmZ (II) ~amo~a AmhoV. 4) {dYmZ (I) Am{U {dYmZ (II) MwH$sMo AmhoV.

2) I) Indian Economy faced challenges due to low growth rate of agriculture in 2017-18 at 2.1%.
II) GDP Growth reached to 6.75% in the year 2017-18.
Which of the above statement/s is/are correct ?
1) Statement (I) is correct only. 2) Statement (II) is correct only.
3) Both statements (I) and (II) are correct. 4) Both statements (I) and (II) are incorrect.

3) ¶mo½¶ OmoS>çm Owidm …
                 ñV§̂  - I                   ñV§̂  - II

a) A§~a ~m°³g i) ‘mZd {dH$mgmMo KQ>H$
b) gm‘m{OH$ Am{U {dH$mg ~m°³g ii) AÞ gwajogmR>r gmd©O{ZH$ gmR>dU-j‘Vm
c) {Zim ~m°³g iii) {H$‘mZ AmYma ŷV qH$‘V
d) J«rZ ~m°³g iv) J«m‘rU {dH$mg
Answer options :

a b c d

1) iii iv ii i
2) iii i iv ii
3) iv iii ii i

4) iii ii i iv
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3) Match the following :

                 Unit - I                   Unit - II

a) Amber Box i) Human Development issues
b) Social and Development Box (S and D Box) ii) Public storage for food security
c) Blue Box iii) Minimum support prices
d) Green Box iv) Rural Development
Answer options :

a b c d

1) iii iv ii i
2) iii i iv ii
3) iv iii ii i

4) iii ii i iv

2) J««m‘rU nm¶m ŷV gw{dYm {dH$mg

1) Oc OrdZ {‘eZ g§X^m©V Imcrcn¡H$s H$moUVr {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
a) H|$Ðr¶ Oceº$s ‘§Ìmc¶mÀ¶m ‘mÜ¶‘mVyZ 15 Am°JñQ 2019 amoOr Oc OrdZ {‘eZMr KmofUm H$aÊ¶mV Amcr. >
b) "ha Ka, Zc go Oc" ho ¶m ¶moOZoMo ~«rX dm³¶ Amho.
c) Adf©U àdU joÌmVrc Jmdo, g§gX AmXe© J«m‘ ¶moOZoVrc Jmdo, Am{Xdmgr joÌmVrc Jmdo, AZwgy{MV OmVr-O‘mVr

~hþc dñVr Agcocr Jmdo ¶m§Mm g‘mdoe ¶m {‘eZH$[aVm Ho$cm Amho.
n¶m©¶r CÎmao :
1) ’$º$ b 2) b Am{U c 3) ’$º$ a 4) a,b Am{U c

1) Which of the following statement(s) is/are correct regarding Jal Jeevan Mission ?
a) Jal Jeevan Mission was announced on 15‘ August 2019 through the Union Ministry of Water

Power.
b) The motto of this scheme is ‘Har Ghar, Nal Se Jal’.
c) Villages in drought prone areas, villages under Sansad Adarsh Gram Yojana, villages in tribal

areas, villages with majority of Scheduled Castes and Scheduled Tribes have been included for
this Mission.

Answer options :

1) Only b 2) b and c 3) Only a 4) a,b and c

2) àYmZ‘§Ìr J«m‘ gS>H$ ¶moOZo g§X^m©V Imcrcn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
a) hr ¶moOZm H|$Ð nwañH¥$V AgyZ 2000 nmgyZ gwé H$aÊ¶mV Amcr Amho.
b) ¶m ¶moOZoMm CÔoe åhUOo 2001 À¶m OZJUZonmgyZ gd©gmYmaU joÌmV 1000 nojm OmñV cmooH$dñVtMr Z OmoS>cocr

Jmdo ~ma‘mhr añË¶mÛmao OmoS>Uo hm Amho.
c) Am{Xdmgr ^mJmVrc 500 nojm OmñV cmoH$dñVtMr Z OmoS>cocr Jmdo ~ma‘mhr añË¶mÛmao OmoS>Uo hm hr CÔoe Amho.
n¶m©¶r CÎmao :
1) darcn¡H$s gd© 2) darcn¡H$s Zmhr 3) a Am{U c 4)  b Am{U a

2) Which of the following statement(s) is/are correct regarding Pradhan Mantri Gram Sadak Yojana?
a) This Scheme is centrally sponsored and was started in 2000.
b) The objective of this scheme is to connect the unconnected villages of more than 1000

population in general area as per 2001 census through Baramahi road.
c) The objective of this scheme is also to connect unconnected villages of more than 500

population in tribal areas through Baramahi road.
Answer options :

1) All of the above 2) None of the above 3) a and c 4) b and a
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3) ñV§̂  I - ‘Yrc ¶moOZm§Mr Ë¶m§À¶m ñV§̂  - II ‘Yrc C{Ôï>m§gh OmoS>r Owidm.
ñV§̂  I ñV§̂  - II

a) nr. E‘. H¥$fr qgMmB© ¶moOZm i) g|{Ð¶ eoVrgmR>r eoVH$è¶m§Zm àmoËgmhZ XoUo.
b) na§namJV H¥$fr {dH$mg ¶moOZm ii) {~¶mUo, IVo B. IaoXrgmR>r eoVH$è¶m§Zm nV gw{dYm CncãY H$aUo.
c) nr. E‘. nrH$ {d‘m ¶moOZm iii) H¥$fr CËnmXZ dmT>{dUo Am{U Ocg§nXoMm H$m¶©j‘ dmna H$aUo.
d) nr. E‘. {H$gmZ ‘mZ YZ ¶moOZm iv) Aën d AË¶ën ŷYmaH  eoVH$ar d¶moJQ> 18-40 ¶m§Zm d¶ 60 df©oZ§Va

‘m{gH$ é. 3,000 CËnÞ {‘ioc. $
e) {H$gmZ nV H$mS>© v) eoVH$è¶m§Zm AW©ghmæ¶ XoUo Am{U nrH$ hmZr, Z¡g{J©H$ AmnÎmr, {nH$m§da

{H$S>tMm àmXþ̂ m©d Pmë¶mg OmoIr‘ H$‘r H$aUo.
n¶m©¶r CÎmao :

a b c d e

1) iii i v iv ii

2) i ii iii iv v

3) ii iii iv v i

4) iv v ii i iii

3) Match the Schemes in Column — I with their objective in Column — II,

       Column - I                           Column - II

a) PM-—Krishi Sinchayee Yojana i) Promote farmers to use organic farming practices

b) Paramparagat Krishi  Vikas Yojana ii) To provide credit facility to farmers for buying

seeds, fertilizers etc.

c) PM-—FBY  (Fasal Bima Yojana) iii)Increase farm output and efficient use of water

resources

d) PM - Kisan Maan Dhan Yojana iv) Small, marginal farmers between 18-40 will get

monthly income of Rs. 3,000 after the age of 60

e) Kisan Credit Card v) To offer farmers financial assistance and risk

reduction in the event of crop loss due to natural

disaster, pests

Answer options :

a b c d e

1) iii i v iv ii

2) i ii iii iv v

3) ii iii iv v i

4) iv v ii i iii

3) J««m‘rU {dH$mg àH$ën

1) "^maVmV gKZ H¥$fr {Oëhm H$m¶©H«$‘" ............. ‘Ü¶o V¶ma H$aÊ¶mV Amcm hmoVm.
1) 1956 2) 1961 3) 1966 4) 1971

1) In the ‘Intensive Agricultural District Programme’ was prepared in India.

1) 1956 2) 1961 3) 1966 4) 1971
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2) amï´>r¶ H¥$fr {dH$mg ¶moOZoMo Zmd amï´>r¶ H¥$fr {dH$mg ¶moOZm-aâVma (RKVY-RAFTAAR) H$aÊ¶mg ...... ‘Ü¶o
‘mÝ¶Vm XoÊ¶mV Ambr.
1) Zmoìh|~a 2018 2) OmZodmar 2018 3) Zmoìh|~a 2017 4) Owb¡ 2017

2) In permission was a given to change the name of Rashtriya Krishi Vikas Yojana to RKVY-RAFTAAR.

1) November 2018 2) January 2018 3) November 2017 4) July 2017

3) Imbrb {dYmZo {dMmamV ¿¶m …
a) 2018-19 À¶m H|$Ðr¶ AW©g§H$ënmV Am°naoeZ J«rÝg ¶moOZm Om{ha H$aÊ¶mV Ambr hmoVr.
b) 11-06-2020 nmgyZ Am°naoeZ J«rÝg ¶moOZoA§VJ©V Aën‘wXVrÀ¶m Cnm¶¶moOZm§Mr ì¶már Q>m°n (TOP) nmgyZ

Q>moQ>b (TOTAL) (61 A{Ygy{MV ’$io Am{U ^mÁ¶m) n¶ªV dmT>{dÊ¶mV Ambr hmoVr.
n¶m©¶r CÎmao …
1) ’$º$ (b) ~amo~a Amho 2) XmoÝhr (a) Am{U (b) ~amo~a AmhoV
3) ’$º$ (a) ~amo~a Amho 4) XmoÝhr (a) Am{U (b) MyH$ AmhoV

3) Consider the following statements :

a) Operation Greens Scheme was announced in the Union Budget for 2018-19.

b) The scope of short-term measures under the operation Greens Scheme was extracted from

TOP to TOTAL (61 notified fruits and vegetables) with effect from 11-06-2020.

Answer Options :

1) Only (b) is correct 2) Both (a) and (b) are correct

3) Only (a) is correct 4) Both (a) and (b) are incorrect

4) "ídoV-Ydc H«$m§Vr ‘White Revolution’ ~m~V Imcrcn¡H$s H$moUVo {dYmZ A¶mo½¶ Amho ?
1) ^maVmVrc XþYmÀ¶m KZ nXmWm©Mr Am¶mV g§ncr Am{U ^maVmZo AZoH$ naXoer Xoem§Zm XþY nmdS>a  {Z¶m©V H$aÊ¶mg

gwédmV Ho$cr.
2) Xþ½Y CÚmoJ Am{U nm¶m ŷV gw{dYm AmYw{ZH$ Am{U {dñVmarV Pmë¶m.
3) Xþ½YOÝ¶ JaOm ñWm{ZH$ nmVirdaM nyU© Ho$ë¶m OmVmV.
4) darcn¡H$s H$moUVohr Zmhr

4) Which one of the following statements about ‘White Revolution’ is false ?

1) It ended the imports of milk solids in India and India started exporting milk powder to many

foreign countries.

2) Dairy industries and infrastructures modernised and expanded

3) Dairy needs are met locally

4) None of the above

5) Imcrc {dYmZo {dMmamV ¿¶m :
a) ‘hmamḯ>mV OmJ{VH$ ~±Ho$À¶m AW©ghmæ¶mZo am~{dcocm "hdm‘mZ AZwHy$c H¥$fr àH$ën" nmoH$am ¶m ZmdmZo AmoiIcm OmVmo.
b) nmoH$am `moOZoH$[aVm OmJ{VH$ ~±H$ 70% d amÁ¶ emgZmH$Sy>Z 30% {ZYr CncãY hmoVmo.
c) nmoH$am ¶moOZocm ZmZmOr Xoe‘wI H¥${f g§OrdZr àH$ën ¶m ZmdmZo hr AmoiIco OmVoo.
d) nmoH$am àH$ënmMm hoVy {dX ©̂-‘amR>dmS>çmVrc 4000 Jm§do ì¶mnUo hm hmoVm.
darcn¡H$s H$moUVo {dYmZ/{dYmZo MwH$sMo Amho/AmhoV ?
1) darcn¡H$s Zmhr 2) ’$º$ c 3) ’$º$ b 4) ’$º$ a
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5) Consider the following statements :

a) A World Bank funded ‘Project on Climate Resilient Agriculture’ in Maharashtra is known as

POCRA.

b) World Bank 70% and State Government 30% funds are available for the POCRA Scheme.

c) POCRA Scheme is also known as Nanaji Deshmukh Agricultural Sanjeevani Project.

d) POCRA Project aims to cover 4000 villages from Vidarba and Marathwada.

Which of the above statement(s) is/are incorrect ?

1) None of the above 2) Only c 3) Only b 4) Only a

6) Imbrb {dYmZo {dMmamV ¿¶m.
a) ‘o 2021 ‘Ü¶o ^maV gaH$maZo àYmZ‘§Ìr ‘Ëñ¶ g§nXm ¶moOZm gwê$ Ho$br.
b) àYmZ‘§Ìr ‘Ëñ¶ g§nXm ¶moOZm 2021 Vo 2025 ¶m nmM dfm©V ’$º$ gd© amÁ¶m§‘Ü¶o am~{dbr OmUma Amho.
n¶m©¶r CÎmao …
1) XmoÝhr a Am{U b MyH$ AmhoV 2) ’$º$ a MyH$ Amho
3) ’$º$ b MyH$ Amho 4) darbn¡H$s H$moUVohr MyH$ Zmhr

6) Consider the following statements.

a) In May 2021 the Government of India have launched Pradhan Mantri Matsya Sampada Yojana.

b) Pradhan Mantri Matsya Sampada Yojana is to be implemented over Five Years from 2021 to

2025 in all states only.

Answer options :

1) Both a and b are incorrect 2) Only a is incorrect

3) Only b is incorrect 4) None of the above are incorrect

4) eoVH$è¶m§Mo  Am{W©H$ gj‘rH$aU
1) àYmZ‘§Ìr {nH$ {d‘m ¶moOZoMr d¡{eîQ>ço Imbrbn¡H$s H$moUVr AmhoV?

a) ¶m ¶moOZoMr A§‘b~OmdUr 1 E{àb 2016 nmgyZ H$aÊ¶mV Ambr.
b) ¶m ¶moOZ|VJ©V ¶moOZoV g‘m{dï> Pmboë¶m EImÚm {d{eï> JmdmVrb eoVH$è¶m§À¶m {nH$mMo ZwH$gmZ Pmbo Va Ë¶mbm

ZwH$gmZ ^anmB© {‘iy eH$V Zmhr.
c) ¶m ¶moOZoVrb gh^mJr eoVH$è¶m§Zm {nH$mMo ZwH$gmZ Pmë¶mg ZwH$gmZ ^anmB©Mr a¸$‘ Ë¶mÀ¶m ~±H$ ImË¶mda O‘m

hmoVo.
d) ¶m ¶moOZoÀ¶m ‘mJ©Xe©H$ gyMZoZwgma eoVH$è¶m§Zr g§~§{YV {nH$mMm {d‘m CVa{dbm Agob d Ë¶m {nH$mMo ZwH$gmZ Pmbo

Va 24 VmgmV ZwH$gmZrMm Ahdmb XoUo Amdí¶H$ Amho.
n¶m©¶r CÎmao …
1) {dYmZ$a Am{U c 2) {dYmZ a, b Am{U c 3) {dYmZ$a, c Am{U d 4) {dYmZ a, b, c Am{U d

1) Which of the following are characteristics of Pradhan Mantri Fasal Bima Yojana ?
a) The implementation of this scheme started from 1st April 2016.
b) As per this scheme if the farmers take the crop insurance and a farmer’s crop is damaged in a

specific village, he will not get the benefit of insurance.
c) The farmer participated in this scheme will get the benefit of crop loss directly in bank account.
d) As per operational guidelines of this scheme, if the farmers have taken the insurance of concerned

crop and the crop is damaged, then they should report crop loss within 24 hours.
Answer options :

1) Statement a and c 2) Statement a, b and c
3) Statement a, c and d 4) Statement a, b, c and d
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2) Imcrc {dYmZo {dMmamV ¿¶m :
a) ‘hmamï´>mV eoVH$è¶m§Zm Ho$di 1 (EH$) én¶mV nrH$ {d‘m¶moOZoMm cm^ XoÊ¶mMm {ZU©¶ Iarn d aã~r h§Jm‘ 2023-

24 Vo 2025-26 ¶m VrZ dfm©À¶m H$mcmdYrH$[aVm KoÊ¶mV Amcm Amho.
b) ‘hmamï´> emgZmZo àYmZ‘§Ìr H¥$fr gÝ‘mZ {ZYr ¶moOZoÀ¶m YVuda "Z‘mo eoVH$ar ‘hmgÝ‘mZ {ZYr ¶moOZm" gwé Ho$cr

Amho.
darcn¡H$s H$moUVo {dYmZ ~amo~a Amho ?
n¶m©¶r CÎmao :
1) ’$º$ b 2) ’$º$ a. 3) ’$º$ a Am{U b 4) darcn¡H$s Zmhr

2) Consider the following statements :

a) In Maharashtra, it has been decided to provide the benefit of crop insurance scheme to the

farmers for only one rupee for kharif and rabbi season for the period of three years from

2023-24 to 2025-26.

b) Government of Maharashtra has started ‘Namo Shetkari Mahasanman Nidhi Yojana’ on the

lines of Pradhan Mantri Krishi Sanman Nidhi Yojana.

Which of the above statements are correct ?

1) Only b 2) Only a 3) a and b 4) None of the above

5) H¥$fr nVnwadR>m

1) amï´>r¶ H¥$fr d J«m‘rU {dH$mg ~±Ho$Mr (Zm~mS>©) Mr H$m¶©o :
a)$ghH$mar d àmXo{eH$ J«m‘rU ~±H$m§Zm nwZ{d©ÎmnwadR>m H$aUo.
b)$H¥$fr joÌmMm emídV {dH$mg H$aUo.
c)$J«m‘rU Amamo½¶ godm§Zm {dÎmnwadR>m H$aUo.
d)$H¥$fr Am{U H$Om©g§~§Yr YmoaU R>adUo.
darcn¡H$s H$moUVo/H$moUVr {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
1) ’$º$  (a)$ 2) ’$º$ (a)$Am{U (b)$ 3)  (a), (b)$ Am{U (c)$ 4)  (a) ,(b)$,(c)$Am{U (d)$

1) Function(s) of the National Bank for Agriculture and Rural Development (NABARD) is/are :

a) Refinance of co-operative and regional rural banks. fb)  Sustainable development of  agricultural

field.

c) Financing of rural health services.

d) To determine policy for agriculture and debt.

Which of the statements given above is/are  correct?

1) Only (a)                  2)  Only (a) and (b) 3)  (a), (b) and (c) 4)  (a), (b), (c) and (d)

2) Imbrb {dYmZo {dMmamV ¿¶m.
a) gwYm[aV ì¶mO g~ìh|eZ ¶moOZm hr eoVH$è¶m§Zm AZwXm{ZV ì¶mOXamV XrK©H$mbrZ nV nwadR>m H$aVo.
b) ¶m ¶moOZ|VJ©V Oa EImÚm eoVH$è¶mZo doioda H$Om©Mr naV’o$S> Ho$br Va Ë¶mbm dm{f©H$ 4 Q> o̧$ XamZo H$O© {‘iVo.
n¶m©¶r CÎmao …
1) Ho$di a ¶mo½¶ Amho 2) Ho$di b ¶mo½¶ Amho
3) XmoÝhr a Am{U b ¶mo½¶ AmhoV 4) darbn¡H$s H$moUVohr ¶mo½¶ Zmhr
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2) Consider the following statement.

a) Modified Interest Subvention Scheme provides long-term credit to farmer at subsidised interest

rates.

b) Under this scheme if a farmer repays his loan on time, he gets credit at 4 percent per annum.

Answer options :

1) Only a is correct 2) Only b is correct

3) Both a and b are correct 4) None of the above are correct

6) eoV‘mb qH$‘V YmoaU

1) ^maVr¶ eoV‘mb qH$‘V YmoaUmMr C{ÔîQ>ço Imbrbn¡H$s H$moUVr AmhoV.
a) H¥$fr joÌmV ~mOma dmT>mdm {Z‘m©U H$aUo.
b) eoV‘mb qH$‘VdmT>rÀ¶m H$mimV CËnmXH$m§Mo g§ajU H$aUo.
c) eoVH$è¶m§Zm {H$‘mZ CËnÞ {‘idyZ XoÊ¶mMr h‘r XoUo.
d) H¥$fr joÌmV ZdrZ V§ÌkmZmÀ¶m dmnamg CÎmoOZ XoUo.
n¶m©¶r CÎmao …
1) {dYmZ a, c Am{U d 2) {dYmZ b, c Am{U d
3) {dYmZ a, b Am{U c 4) {dYmZ a, b, c Am{U d

1) Which of the following are objectives of Indian agricultural price policy ?

a) To create marketable surplus in agricultural sector.

b) To protect the producers in period of increasing agricultural product prices.

c) To provide the guarantee of minimum income to farmers.

d) To give incentives for using new technology in agricultural sector.

Answer options :

1) Statement a, c and d 2) Statement b, c and d

3) Statement a, b and c 4) Statement a, b, c and d

7) H¥$fr CÚmoJ

1) OmoS>çm cmdm
¶mXr - I ¶mXr - II

a) grS> nmH©$ i) ‘w§~B©
b) {‘ëH$ àmoO³Q> ii) nmcKa
c) newYZ àOZZ à{ejU H|$Ð iii) OmcZm
d) Amao {‘ëH$H$m iv) XmnMmar
n¶m©¶r CÎmao :

a b c d

1) i ii iii iv

2) ii iii iv i

3) iii iv ii i

4) iv iii ii i
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1) Match the following :

       List - I List - II

a) Seed Park i) Mumbai

b) Milk Project ii) Palghar

c) Livestock Breeding Training Centre iii) Jalana

d) Aarey Milk Colony iv) Dapchari

Answer options :

a b c d

1) i ii iii iv

2) ii iii iv i

3) iii iv ii i

4) iv iii ii i

2) OmoS>çm Owidm
                      JQ>-A        JQ>-~
A)hm CÚmoJ åhUOo J«m‘rU ^mJmV Agcocm H$moUVmhr CÚmoJ Omo H$moUVmhr i) ZmJar CÚmoJ

CÚmoJ Omo H$moUË¶mhr dñVyMo CËnmXZ H$aVmo. drO dmnéZ qH$dm Z dmnaVm
H$moUVrhr godm XoVmo Am{U Á¶m‘Ü¶o H|$Ð gaH$maZo doimodoir {ZpíMV Ho$cocr
^m§S>dcr Jw§VdUyH$ àVr ì¶º$s qH$dm H$mamJra qH$dm H$m‘Jma {Z{X©ï> Ho$cr Amho

~) hm CÚmoJ J«m‘rU CÚmoJ qH$dm nma§n[aH$ CÚmoJ åhUyZ AmoiIcm OmVmo. BVa ii) Hw$Q>ra CÚmoJ
cKwCÚmoJm§‘Ü¶o ^m§S>dcr J§wVdUwH$sÀ¶m {ZH$fm§Zwgma CÚmoJ åhUyZ Jw§VdUyH$
Ho$cocr Zmhr

iii) J«m‘ CÚmoJ
n¶m©¶r CÎmao :
1)A-iii., ~-ii 2) A-i., ~-ii 3) A-ii., ~-iii 4)A-ii., ~-i

2) Match the pair :

               Group A       Group B

a) This industry has been defined as any industry located i) Urban Industries

in a rural area which produces any goods, renders any

service with or without the use of power and in which

the fixed capital investment per head or artisan or worker

is specified by the central government from time to time

b) This industry is also known as rural industry or traditional ii) Cottage Industries

industry. This is not defined by capital investment criteria

as in the case of other scale industries

iii) Village Industries

Answer options :

1) a-iii, b-ii 2) a-i, b—ii 3) a-ii,b—-iii 4) a-ii,b—i
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8) CÚmoJ d nm¶m ŷV gw{dYm {dH$mg

1)  CÚmoJ
2)  nm¶m ŷV gw{dYm {dH$mg

1) CÚmoJ

1) ‘hmamï´>mVrc Am¡Úmo{JH$ YmoaUo Am{U Ë¶m§Mr C{ÔîQ>ço Imcr XoÊ¶mV Amcr AmhoV. ¶mo½¶ OmoS>çm Owidm :
                          ñV§̂ > - I                   ñV§̂ > - II

a) n§MVmam§{H$V Am¡Úmo{JH$ g§Hw$co ñWmnrV H$aUo i) 1981 Mo Am¡Úmo{JH$ YmoaU
b) Am§Vaamï´>r¶ XOm©Mr àXe©Z H|$Ðo ñWmnrV H$aUo ii) 1993 Mo ZdrZ Am¡Úmo{JH$ YmoaU
c) ñd¶§amoOJmamgmR>r {deof à¶ËZ H$aUo iii) 1995 Mo ZdrZ Am¡Úmo{JH$ YmoaU
a) {Z¶m©V àYmZ CÚmoJm§Zm A{YH$ ‘hÎd XoUo iv) 3006 Mo Am¡Úmo{JH$ YmoaU
n¶m©¶r CÎmao :

(a) (b) (c) (d)

1) (iii) (i) (ii) (iv)

2) (iii) (iv) (i) (ii)

3) (iii) (ii) (iv) (i)

4) (ii) (iii) (iv) (i)

1) Maharashtra State Industrial Policies and their objectives are given are below.Match the correct:

                            Unit - I                   Unit - II

a) To establish five star industrial campuses i) Industrial Policy 1981

b) To establish International exhibition centers ii) New Industrial Policy 1993

c) To take special efforts for self employment iii) New Industrial Policy 1995

d) To given importance to export oriented business iv) Industrial Policy 2006

Answer options :

(a) (b) (c) (d)

1) (iii) (i) (ii) (iv)

2) (iii) (iv) (i) (ii)

3) (iii) (ii) (iv) (i)

4) (ii) (iii) (iv) (i)

2) Imbrb {dYmZo {dMmamV ¿¶m …
a) 31 {S>g|~a 2021 n¶ªV ‘hmamï´> Am¡Úmo{JH$ {dH$mg ‘hm‘§S>imZo 289 Am¡Úmo{JH$ joÌo {Z‘m©U Ho$br.
b) 289 Am¡Úmo{JH$ joÌm§n¡H$s 253 ‘moR>r Am¡Úmo{JH$ joÌo AmhoV.
c) 289 Am¡Úmo{JH$ joÌm§n¡H$s 24 bhmZ Am¡Úmo{JH$ joÌo d 12 J«moW g|Q>g© AmhoV.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ Amho/V?
1) ’$º$ (a) Am{U (c) ¶mo½¶ AmhoV 2) ’$º$ (a) Am{U (b) ¶mo½¶ AmhoV
3) ’$º$ (a) ¶mo½¶ Amho 4) ’$º$ (b) Am{U (c) ¶mo½¶ AmhoV
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2) Consider the following statements :

a) As on 318t December, 2021 Maharashtra Industrial Development Corporation has built 289

industrial areas.

b) Among 289 industrial areas of which 253 are large industrial areas.

c) Among 289 industrial areas of which 24 are mini industrial areas and 12 are growth centres.

Which of the statement/s given above is/are correct ?

1) Only (a) and (c) are correct 2) Only (a) and (b) are correct

3) Only (a) is correct 4) Only (b) and (c) are correct

3) Imbrb {dYmZo {dMmamV ¿¶m.
a) ^maV gaH$maZo Owb¡ 2020 ‘Ü¶o ZdrZ CÚ‘ Zm|XUr nmoQ>©b gwê$ Ho$bo Amho.
b) ZdrZ CÚ‘ Zm|XUr nmoQ>©bbm Zm|XUrgmR>r AmYma H$mS>© Am{U n°Z H$mS>© Amdí¶H$ Zmhr.
c) ZdrZ CÚ‘ Zm|XUr nmoQ>©b A§VJ©V gyú‘, bKw Am{U ‘Ü¶‘ CÚmoJ åhUyZ Zm|XUr H$aÊ¶mgmR>r H$moUVrhr H$mJXnÌo

qH$dm nwamdm AncmoS> H$aÊ¶mMr Amdí¶H$Vm Zmhr.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo gË¶ Amho/V?
n¶m©¶r CÎmao …
1) Ho$di a Am{U b gË¶ AmhoV 2) Ho$di b Am{U c gË¶ AmhoV
3) Ho$di a Am{U c gË¶ AmhoV 4) Ho$di c gË¶ Amho

3) Consider the following statements.

a) Government of India has launched new Udyam Registration Portal in July 2020.

b) New Udyam Registration Portal does not require Aadhar Card and PAN Card for registration.

c) No documents or proof are required to be uploaded for registering as a micro, small and

medium enterprise under new Udyam Registration Portal.

Which of the above statement/s is/are true ?

1) Only a and b are true 2) Only b and c are true

3) Only a and c are true 4) Only c is true

4) Imbrb {dYmZo {dMmamV ¿¶m.
a) 2021-22 ¶m H$mbmdYrV Am¡fYo CËnmXZmV ^maVr¶ Am¡fY CÚmoJ OJmV nmMì¶m H«$‘m§H$mda hmoVm.
b) 2020-21 ¶m H$mbmdYrV EHy$U ’$m‘m© {Z¶m©V US $ 24.4 AãOm§Mr Va ¶m {déÕ EHy$U ’$m‘m© Am¶mV US $ 19.5

AãOm§Mr hmoVr.
n¶m©¶r CÎmao …
1) Ho$di a MyH$ Amho 2) Ho$di b MyH$ Amho
3) XmoÝhr a Am{U b ~amo~a AmhoV 4) XmoÝhr a Am{U b MyH$ AmhoV

4) Consider the following statements.

a) Indian Pharmaceutical Industry ranked fifth in the World in Pharmaceutical Production by

volume during 2021-22.

b) During 2020-21 total Pharma export was US $ 24.4 Bn. against the total Pharma import of US

$19.5 Bn.

Answer options :

1) Only a is incorrect 2) Only b is incorrect

3) Both a and b are correct 4) Both a and b are incorrect
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5) 1966 ‘Ü¶o bKw CÚmoJmMr Jw§VdUyH$ ‘¶m©Xm ...... H$aÊ¶mV Ambr hmoVr.
1) 5 bmI é. 2) 6 bmI é. 3) 7.5 bmI é. 4) 8 bmI é.

5) Investment limit of small scale industries was done in 1966.

1) 5 Lakhs Rs. 2) 6 Lakhs Rs. 3) 7.5 Lakhs Rs. 4) 8 Lakhs Rs.

6) ‘hmamï´>mMr Am{W©H$ nmhUr 2021-22 Zwgma ‘hmamï´>mVrb dómoÚmoJ g§Hw$bo H$moUË¶m {OëømV AmhoV?
a) H$moëhmnya b) nwUo c) qhJmobr d) Ywio
n¶m©¶r CÎmao …
1) (a), (c) Am{U (d) 2) (a) Am{U (d) 3) (b), (d) Am{U (a) 4) darbn¡H$s gd©

6) According to Economic Survey of Maharashtra 2021-22 in which districts of Maharashtra are

Textile Parks located ?

a) Kolhapur b) Pune c) Hingoli d) Dhule

Answer Options :

1) (a), (c) and (d) 2) (a) and (d) 3) (b), (d) and (a) 4) All of the above

7) ^maVmV ...... ¶m {R>H$mUr Mma à‘wI OhmO ~m§YUr H|$Ð AmhoV.
1) H$mobH$mVm, ‘§w~B©, H$moMrZ, {demImnÅ>U‘² 2) {demImnÅ>U‘², Jmodm, nmoa~§Xa, H$moMrZ
3) Jmodm, ‘§w~B©, ^ê$M, MoÞB© 4) ‘§w~B©, {demImnÅ>U‘², am¶nya, H$moMr

7) India has four major ship-building yard located at

1) Kolkatta, Mumbai, Cochin, Vishakhapatanam

2) Vishakhapatanam, Goa, Porbandar, Cochin

3) Goa, Mumbai, Bharuch, Chennai

4) Mumbai, Vishakhapatanam, Raipur, Kochi

8) ‘hmamï´>mÀ¶m H$moUË¶m Am¡Úmo{JH$ joÌmMm g‘mdoe {X„r-‘§w~B© B§S>pñQ´>¶b H$m°[aS>m°a‘Ü¶o H$aÊ¶mV Ambm Amho?
a) {‘hmZ àH$ën b) {XKr ~§Xa c) g‘¥Õr ‘hm‘mJ© d) e|Ðm-{~S>H$sZ
n¶m©¶r CÎmao …
1) (a) Am{U (b) 2) (b) Am{U (c) 3) (b) Am{U (d) 4) ’$º$ (c)

8) Which of the Maharashtra’s Industrial Regions are included in The Delhi-Mumbai Industrial

Corridor Project ?

a) MIHAN Project b) Dighi port

c) Samrudhi Mahamarg d) Shendra-Bidkin

Answer Options :

1) (a) and (b) 2) (b) and (c) 3) (b) and (d) 4) Only (c)

9) ...... ho/hr ~hþamï´>r¶ H§$nÝ¶m§À¶m dmT>rMo H$maU/H$maUo Zmhr/ZmhrV.
a) {dnUZ loð>Ëd/CËH¥$ï>Vm b) ^mfm loð>Ëd/CËH¥$ï>Vm
c) {dÎmr¶ loð>Ëd/CËH¥$ï>Vm d) Vm§{ÌH$ loð>Ëd/CËH¥$ï>Vm
n¶m©¶r CÎmao …
1) a Am{U c 2) b 3) b Am{U d 4) darb gd©

9) ______ is/are not correct reason/s for the growth of MNCs.

a) Marketing superiorities b) Language superiorities

c) Financial superiorities d) Technological superiorities

Answer options :

1) a and c 2) b 3) b and d 4) All above
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10) Imcrcn¡H$s H$moUVo {dYmZ MyH$ Amho ?
a) ‘hmamï´> amÁ¶mÀ¶m ñWmnZonmgyZ Am¡Úmo{JH$ joÌmMr àJVr doJmZo Pmcr Zmhr.
b) ‘hmamï´>mMo XaS>moB© CËnÞ XoemÀ¶m XaS>moB© CËnÞmnojm OmñV Amho.
n¶m©¶r CÎmao :
1) (a) MyH$ 2) (b) MyH$
3) (a) Am{U (b) MyH$ AmhoV 4) darcn¡H$s H$moUVohr MyH$ Zmhr

10) Which of the following statement is incorrect ?

a) The industrial sector did not progress rapidly after the establishment of the Maharashtra state.

b) Maharashtra’s per-capita income is higher than the country’s per-capita income.

Answer options :

1) (a) is incorrect 2) (b) is incorrect

3) (a) and (b) are incorrect 4) None of the above are incorrect

11) 1990 À¶m H$mbI§S>mV Am¡Úmo{JH$ joÌmMr H$m‘{Jar Ag‘mYmZH$maH$ AgÊ¶mMr H$maUo ...... hr AmhoV.
a) ‘§XJVr Jw§VdUyH$ b) ~mø ñnY}Mo AmìhmZ
c) nm¶m ŷV gw{dYmMm A^md d) J«mhH$m§À¶m ‘mJUrVrb {damoYm^mg
n¶m©¶r CÎmao …
1) a Am{U d 2) a, c Am{U d 3) a, b, c Am{U d 4) b Am{U d

11) ______ are the causes of unsatisfactory industrial performance in 1990's.

a) Slowdown in Investment b) Exposure of external competition

c) Infrastructural constraints d) Contraction in consumer demand

Answer options :

1) a and b 2) a, c and d 3) a, b, c and d 4) b and d

2) nm¶m ŷV gw{dYm {dH$mg

1) b³Par n¶©Q>Z aoëdo Am{U Ë¶m gwê$ hmoÊ¶mMo df© Imbr XoÊ¶mV Ambo AmhoV. OmoS>çm Owidm.
      ñV§̂  - I ñV§̂  - II

a) ‘hmamOm E³gàog i) 2008
b) JmoëS>Z M°[a¶mQ> ii) 2007
c) n°bog Am°Z ìhrb iii) 2010
d) S>o̧ $Z AmoS>rer iv) 1982
n¶m©¶r CÎmao …

a b c d

1) ii iv i iii

2) iii i iv ii

3) iv iii i ii

4) iv ii iii i
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1) Luxury Tourist Train’s and their launching year are given below. Match the pairs.

     Unit — I Unit — II

a) Maharaja Express i) 2008

b) Golden Chariot ii) 2007

c) Palace on Wheel iii) 2010

d) Deccan Odyssey iv) 1982

Answer options :

a b c d

1) ii iv i iii

2) iii i iv ii

3) iv iii i ii

4) iv ii iii i

2) ^maVr¶ aoëdoZo l{‘H$ {deof Q>óÝg ...... nmgyZ gwê$ Ho$br.
1) 1 E{àb 2020 2) 1 ‘o 2020 3) 1 OyZ 2020 4) 6 E{àb 2020

2) Indian Railways started Shramik Special Trains from .

1) April 1, 2020 2) May 1, 2020 3) June 1, 2020 4) April 6, 2020

3) Owb¡ 2019 - Am°³Q>mo~a 2020 ‘Ü¶o, 20 gmJa‘mbm àH$ën nyU© Pmbo Á¶mV ...... ¶m§Mm g‘mdoe hmoVmo.
a) 9 ~§Xa Am¡Úmo{JH$aU àH$ën b) 9 ~§Xa AmYw{ZH$sH$aU àH$ën
c) 7 ~§Xa OmoS>Ur àH$ën d) 4 {H$Zmar g‘wXm¶ {dH$mg àH$ën
n¶m©¶r CÎmao …
1) (a), (b) Am{U (c) 2) (b), (c) Am{U (d) 3) (a), (c) Am{U (d) 4) (a), (b) Am{U (d)

3) Between July 2019 - October 2020, 20 Sagarmala Project was completed which comprise ......

a) 9 port industrialization projects b) 9 port modernization projects

c) 7 port connectivity projects d) 4 coastal community development projects

Answer Options :

1) (a), (b) and (c) 2) (b), (c) and (d) 3) (a), (c) and (d) 4) (a), (b) and (d)

4) à‘wI ~§Xa àm{YH$aU H$m¶Xm 2021 ...... amoOr A{Ygy{MV H$aÊ¶mV Ambm.
1) 18 E{àb 2021 2) 18 gßQ>|~a 2021 3) 18 ’o$~«wdmar 2021 4) 18 {S>g|~a 2021

4) The Major Port Authorities Act, 2021 was notified on

1) 18 April 2021 2) 18 September 20213) 18 February 2021 4) 18 December 2021

5) Imcrcn¡H$s H$moUVo {dYmZ/{dYmZo MwH$sMo Amho/AmhoV ?
a) 2 Am°³Q>mo~a 2014 amoOr ñdÀN> ^maV {‘eZ (J«m‘rU) Mr KmofUm H$aÊ¶mV Amcr.
b) ñdÀN> ^maV {‘eZÀ¶m ‘mÜ¶‘mVyZ ‘hmamï´>mVrc gdm©V n{hcm "Jmo~aYZ" àH$ën J«m‘ n§Mm¶V A§Xagwc, VmcwH$m

¶odcm, {Oëhm Zm{eH$ ¶oWo nyU© Ho$cm.
c) ñdÀN> ^maV {‘eZÀ¶m ‘mÜ¶‘mVyZ amÁ¶mVrc n{hcm "‘¡im Jmi" ì¶dñWmnZ àH$ën J«m‘n§Mm¶V ZmMUo, Vm. {O.

aËZm{Jar ¶oWo nyU© H$aÊ¶mV Amcm.
n¶m©¶r CÎmao :
1) a Am{U c 2) a Am{U b 3) b  Am{U c 4) darcn¡H$s Zmhr
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5) Which of the following statement(s) is/are incorrect ?

a. Swachchha Bharat Mission (Rural) was announced on 2"4 October 2014.

b. Through the Swachchha Bharat Mission, Maharashtra’s First ‘Gobardhan’ project was completed

at Gram Panchayat Andarsul, Taluka Yewla, District Nashik.

c. Through the Swachchha Bharat Mission, the first Maila Gal’ Management project in the State

was completed at Gram Panchayat Nachne, Taluka- Dist. Ratnagiri.

Answer options :

1) a and c 2) a and b 3) b and c 4) None of the above

6) ‘§w~B©-ZmJnya g‘¥Õr H$m°[aS>m°a ...... ‘YyZ OmVmo.
1) 24 {Oëho, 26 VmbwHo$ Am{U 392 IoS>r 2) 10 {Oëho, 30 VmbwHo$ Am{U 420 IoS>r
3) 24 {Oëho, 36 VmbwHo$ Am{U 354 IoS>r 4) 10 {Oëho, 30 VmbwHo$ Am{U 354 IoS>r

6) Mumbai-Nagpur Samruddhi Mahamarg goes through the

1) 24 Districts, 26 Talukas and 392 Villages 2) 10 Districts, 30 Talukas and 420 Villages

3) 24 Districts, 36 Talukas and 354 Villages 4) 10 Districts, 30 Talukas and 354 Villages

7) nm¶m ŷV gw{dYm§‘Ü¶o ...... hm ¶m joÌmVrb Jw§VdUwH$sMm EH$ ‘hÎdmMm òmoV Amho.
1) ‘¶m©{XV ^mJrXmar 2) gm‘mÝ¶ ^mJrXmar
3) gmd©O{ZH$ ImOJr ^mJrXmar 4) ‘¶m©{XV Xm{¶Ëd ^mJrXmar

7) in infrastructure has been an important source of investment in the sector.

1) Limited Partnership 2) General Partnership

3) Public Private Partnership 4) Limited Liability Partnership

8) Imcrcn¡H$s H$moUË¶m ¶moOZm/H$m¶©H«$‘ ho ehar {dH$mgm g§~§Yr Amho / AmhoV ?
A) ñ‘mQ>© {gQ>rO² ~) ñdÀN> ^maV {‘eZ
H$) A‘¥V {‘eZ S>) öX¶ (HRIDAY)

n¶m©¶r CÎmao :
1) Ho$di A 2) A Am{U ~ 3) A, ~ Am{U H$ 4) darc gd©

8) Which of the following schemes/programmes are related to Urban development ?

A) Smart Cities B) Swachh Bharat Mission

C) AMRUT Mission D) HRIDAY

Answer options :

1) Only A 2) A and B 3) A, B and C 4) All of the above

9) Imbrb {dYmZo {dMmamV ¿¶m.
a) Am{W©H$ÑîQ>çm Aì¶dhm¶© na§Vw gm‘m{OH$/Am{W©H$ÑîQ>çm JaOoÀ¶m nrnrnr àH$ënm§gmR>r Am{W©H$ ghmæ¶ XoÊ¶mgmR>r

^maV gaH$maZo ì¶dhm¶©Vm A§Va {ZYr ¶moOZm gwê$ Ho$br.
b) àH$ën IMm©À¶m 20 Q>³³¶m§n¶ªV ñdñV H$O© åhUyZ ì¶dhm¶©Vm A§Va {ZYr ¶moOZoA§VJ©V {ZYr {Xbm OmVmo.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ Amho/V?
n¶m©¶r CÎmao …
1) Ho$di a ¶mo½¶ Amho 2) Ho$di b ¶mo½¶ Amho
3) XmoÝhr a Am{U b ¶mo½¶ AmhoV 4) darbn¡H$s H$moUVohr Zmhr
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9) Consider the following statements.

a) The Government of India has launched the viability gap funding scheme for providing financial

assistance to financially unviable but socially/economically desirable PPP projects.

b) Upto 20 percent of project cost is funded under viability gap funding scheme as a cheap loan.

Which of the statement/s given above is/are correct ?

1) Only a is correct 2) Only b is correct

3) Both a and b are correct 4) None of the above

10) Z°eZb BÝ’«$mñQ´>³Ma nmB©nbmB©Z 2020-2025 (NIP) Mo ‘w»¶ ’$m¶Xo H$m¶ AmhoV?
a) Or.S>r.nr. V dmT> H$aUo. b) amoOJma {Z{‘©Vr
c) g§nyU© XoemV nm¶m ŷV gw{dYm§Mr {Z{‘©Vr d) darb gd©
n¶m©¶r CÎmao …
1) (a) Am{U (b) {dYmZo ~amo~a AmhoV 2) ’$º$ (d) {dYmZ ~amo~a Amho
3) ’$º$ (b) Am{U (c) [dYmZo ~amo~a AmhoV 4) ’$º$ (b) {dYmZ ~amo~a Amho

10) What are key benefits of National Infrastructure Pipeline 2020-2025 (NIP) ?

a) To increase GDP b) Job Creation

c) Creation of the infrastructure across the country d) All of the above

Answer Options :

1) (a) and (b) statements are correct 2) Only (d) statement is correct

3) Only (b) and (c) statements are correct 4) Only (b) statement is correct

11) Imbrb {dYmZo {dMmamV ¿¶m …
a) dmhVyH$ ~~ëg (~wS>~wS>o) åhUOo H$mo{dS>-19 ‘hm‘mar‘wio XmoZ eham§‘Yrb Xoem§VJ©V VmËnwaVr aoëdo dmhVyH$ ì¶dñWm

hmo¶.
b) H$mo{dS>-19 ‘hm‘mar‘wio XmoZ Xoem§Xaå¶mZ dmhVyH$ ~~ëg (~wS>~wS>o) hr VmËnwaVr hdmB© àdmg ì¶dñWm hmo¶.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ~amo~a Amho/V?
1) ’$º$ (a) ~amo~a Amho. 2) ’$º$ (b) ~amo~a Amho.
3) XmoÝhr (a) Am{U (b) ~amo~a AmhoV 4) darbn¡H$s H$moUVohr Zmhr

11) Consider the following statements :

a) Transport Bubbles are temporary Railways Transport Arrangements within the country between

two cities due to COVID-19 pandemic.

b) Transport Bubbles are temporary Air Travel Arrangements between two countries due to COVID-

19 pandemic.

Which of the statement/s given above is/are correct ?

1) Only (a) is correct 2) Only (b) is correct

3) Both (a) and (b) are correct 4) None of the above
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9) bmoH$g§»¶m{df¶H$ g‘ñ¶m-AZmamo½¶ d {ZajaVm

1) bmoH$g§»¶m{df¶H$ g‘ñ¶m
2) AZmamo½¶ d {ZajaVm

1) bmoH$g§»¶m{df¶H$ g‘ñ¶m

1) ñd. B§{Xam Jm§Yr ¶m§Zr 20 Am°JñQ> 1984 amoOr Om{ha Ho$coë¶m 20 H$c‘r H$m¶©H«$‘mZwgma H$moUVo H$c‘ ho cmoH$g§»¶ocm
Amim KmcÊ¶mgmR>r ‘hÎdmMo R>aco ?
1) H$c‘ - 17 2) H$c‘ - 10 3) H$c‘ - 15 4) H$c‘ - 9

1) According to the 20 Point Program announced by Late Indira Gandhi on 20 August 1984. Which

Point was important in curbing population ?

1) Point — 17 2) Point — 10 3) Point — 15 4) Point —9

2) ¶mo½¶ H$WZ/Zo AmoiIm
a)$g§¶wº$ amîQ´>m§À¶m ‘mZd {dH$mg {ZX}em§H$, 2020 ‘Ü¶o ^maV 131 ì¶m ñWmZmda Amho.
b)$2019 ‘Ü¶o OÝ‘coë¶m ^maVr¶m§Mo Am¶w‘m©Z 72.6 df©o Amho Va ~m§½cmXoemVrc cmoH$m§Mo Am¶w‘m©Z 69.7 df©o Amho.
c)$g§¶wº$ amï´>m§À¶m ‘mZd {dH$mg {ZX}em§H$, 2020 ‘Ü¶o pñdËP©c°ÊS> 1 ë¶m ñWmZmda Amho.
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (b)$ 2) ’$º$ (b) Am{U (c)$ 3)  ’$º$ (a) 4)  ’$º$ (c)

2) Select the correct statement/s.

a) India ranks 131 in United Nation's Human Development Index, 2020.
b) Life expectancy of Indians at birth in 2019 was 7Z-6 years while Bangladesh had life  expectancy

of 69 7 years

c) Switzerland ranks 1" in United Nation's Human Development Index, 2020.

Answer Options :

1)  Only (a) and (b) 2)  Only (b) and (c) 3) Only (a) 4) Only (c)

3) a) bmoH$g§»¶oMm AmH$ma Am{U gm‘m{OH$ {dH$mgmMm nañna g§~§Y Amho.
b) bmoH$g§»¶m H$‘r Agë¶mg Ë¶mMm gm‘m{OH$ {dH$mgmda n[aUm‘ hmoVmo.
c) bmoH$g§»¶m A{YH$ Agë¶mg hr Ë¶mMm n[aUm‘ gm‘m{OH$ {dH$mgmda hmoVmo.
d) bmoH$g§»¶oMm AmH$ma Iyn OmñV qH$dm Iyn H$‘r AgUo ¶m XmoÝhr ~m~r gm‘m{OH$ {dH$mgmbm ‘maH$ R>aVmV.
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV?
1) (a) Am{U (c) 2) (a), (b) Am{U (d) 3) (b), (c) Am{U (d) 4) darbn¡H$s gd©

3) a) The size of the population and social development are interrelated.

b) If population is low then it affects social development.

c) Even if the population is high, it affects social development.

d) Whether the size of the population is too high or too low, both are deterimental to social

development.

Which of the statement(s) given above is/are correct?

1) (a) and (c) 2) (a), (b) and (d) 3) (b), (c) and (d) 4) All of the above
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4) Imcrcn¡H$s H$moUVo ‘mZdr {dH$mg {ZX}em§H$mMo n[a‘mU Zmhr ?
1) Amamo½¶ 2) {ejU 3) CËnÞ 4) Y‘©

4) Which of the following is not a dimension of Human Development Indez ?

1)  Health 2)  Education 3)  Income 4)  Religion

5) ‘mZd {dH$mg {ZX}em§H$ cmoH$g§»¶oÀ¶m ........... gyMH$ AgVmo.
1) KZVoMm 2) gmjaVoMm 3) CÐoH$mMm 4) JwUdÎmoMm

5) Human Development Index indicates        of population.

1)  Deztsity 2)  Literacy 3)  Explosion 4)  Quality

6) EMS>rAm¶Mr JUZm VrZ à‘wI n[a‘mUm§da AmYm[aV Ho$cr OmVo. Imcrcn¡H$s H$moUVo n[a‘mU ¶mn¡H$s EH$ Zmhr ?
1) OÝ‘mÀ¶m doir Ano{jV Am¶w‘m©Z 2) emco¶ {ejUmMr gamgar df}
3) EHy$U Xoe§mVJ©V CËnmXZ (GDP) 4) emco¶ {ejUmMr Ano{jV dfo}

6) The HDI is calculated based on three key dimensions, which of the following is  not one of these

dimensions ?

1) Life expectancy at birth 2) Mean years of schooling

3) Gross Domestic Product (GDP) 4) Expected years of schooling

2) AZmamo½¶ d {ZajaVm

1) ^maVmVyZ j¶amoJmMo 2025 nydu CƒmQ>Z H$aÊ¶mÀ¶m H$m¶©H«$‘mMr d¡{eîQ>ço Imcrcn¡H$s H$moUVr AmhoV ?
a) g‘wXm¶mMm gh^mJ - gd© {OëømÀ¶m ñVamda 'Q>r ~r ’$moaåg"
b) Mma cmImhÿZ A{YH$ j¶ amoJ CnMma g‘W©H$
c) {Zj¶ nmofU ¶moOZm
d) 173 ehao Am{U 348 {OëømV ImgJr joÌmMm gh^mJ
e) 27.4 H$moQ>r Agwa{jV cmoH$g§»¶oMr Q>r ~r gmR>r MmiUr (‘o 2020 n¶ªV)
n¶m©¶r CÎmao :
1) darcn¡H$s gd© 2) b Am{U e 3) c Am{U e 4) darcn¡H$s Zmhr

1) Which of the following are features of programme for eradication of T.B. before 2025 from

India ?

a) Community engagement — T.B. Forums in all Districts

b) More than 4 lakh T.B. treatment supporters

c) Nikshay Poshan Yojana

d) Private Sector engagement in 173 cities and 348 districts

e) 27.4 Cr. vulnerable population screened for T.B. (upto May 2020)

Answer options :

1) All of the above 2) b and e 3) cande 4) None of the above
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2) ‘hmamï´> emgZmMr ‘hmË‘m Á`moVramd ’w$co OZ Amamo½¶ ¶moOZm Am{U Am¶wî¶‘mZ ^maV-àYmZ‘§Ìr OZ Amamo½¶ ¶moOZm
EH$ AJ«Ur ¶moOZm Amho. Imcrc {dYmZm§n¡H$s H$moUVo/Vr ~amo~a Amho/V ?
a) hr ¶moOZm amOrd Jm§Yr OrdZXm¶r Amamo½¶ ¶moOZm åhUyZ AmoiIcr OmV hmoVr Am{U Vr 2 Owc¡, 2012 cm gwé Ho$cr

hmoVr.
b) E‘. Oo.nr.Oo.E.dm. hr nyU©V: ‘hmamï´> emgZmZo {ZYr {Xcocr Am{U Am¶wî¶‘mZ ^maV nrE‘OoEdm¶ hr amÁ¶ Am{U

H|$Ð emgZmZo g§¶wº$nUo 40:60 ¶m {hñgm VÎdmda {ZYr {Xcocr ¶moOZm Amho.
c) amoI {dahrV Amamo½¶ godm Am{U {d‘m AmYm[aV d¡ÚH$s¶ CnMma (1356 àH$maMo) {dd{jV Hw$Qw>§~mZm {d‘m N>Ì én¶o

nmM cmI n¶ªV Xadfu Hw$Qw>§~mg CncãY H$éZ XoVmV.
n¶m©¶r CÎmao :
1) a ~amo~a Amho 2)  b ~amo~a Amho 3) c ~amo~a Amho 4) darc gd© ~amo~a AmhoV

2) MJPJAY and Ayushman Bharat PMJAY is a flagship scheme of Government of Maharashtra. Which

of the following statements is/are right ?

a) The scheme was known as Rajiv Gandhi Jeevandayee Arogya Yojana and was started from 2"¢

July, 2012.

b) MJPJAY is fully funded by Government of Maharashtra and AB-PMJAY is jointly funded by the

State and Central Government sharing 40:60 basis.

c) Cashless health services and insurance based funding for medical treatment (for 1356 types)

is provided to specified category of families with insurance cover of Rs. 5 lakh per family per

annum.

Answer options :

1) a is right 2) b is right 3) c is right             4) All of the above are right

3) OZZr gwajm g§X^m©V Imcrcn¡H$s H$moUVr {dYmZ/{dYmZo ~amo~a Amho/AmhoV ?
a) ^maV gaH$maZo 2005-2006 ‘Ü¶o OZZr gwajm ¶moOZm gwé Ho$cr.
b) ¶m ¶moOZoMo C{ÔîQ>ç ho ehar Am{U J«m‘rU ^mJmV g§ñWmË‘H$ àgyVr dmT>dUo Amho.
c) Xm[aÐç aofoImcrc, AZwgy{MV OmVr Am{U O‘mVr ‘Yrc ‘mVm ‘¥Ë ỳ Am{U ~mc‘¥Ë ỳ H$‘r H$aÊ¶mgmR>r hr ¶moOZm

gwé H$aÊ¶mV Amcr.
d) ¶m ¶moOZoMm cm^ KoÊ¶mgmR>r Zm|XUrH¥$V JamoXa ‘mVm§Mo d¶ 19 dfm© nojm H$‘r Zgmdo.
n¶m©¶r CÎmao :
1) ’$º$  d 2) a,b ’$º$ d 3) darcn¡H$s gd© 4) darcn¡H$s Zmhr

3) Which of the following statement(s) regarding Janani Suraksha Yojana is/are correct ?

a) Janani Suraksha Yojana was started during 2005-2006 by Government of India.

b) The objective of this scheme is to increase the institutional deliveries in urban and rural areas.

c) The scheme was launched to reduce the maternal mortality and infant mortality among the

below poverty line, scheduled castes and scheduled tribes.

d) The age of the registered expectant mothers should not be less than 19 years to avail the

benefit of this scheme.

Answer options :

1) Only d 2) a,b and d 3) All of the above 4) None of the above
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10) {dXoer ì¶mnma

1) Am§Vaamḯ>r¶ ì¶mnma {gÕm§V
2) {dXoer ì`mnma - AmH$ma‘mZ
3) {dXoer ì`mnma - {Xem
4) {dXoer ì`mnma aMZm
5) {dXoer ì`mnma YmoaU
6) OmJ{VH$ ì¶mnma g§KQ>Zm
7) Am§Vaamḯ>r¶ ZmUo{ZYr
8) OmJ{VH$ ì¶mnma ¶§ÌUm d ì¶mgnrR>o
9) {dXoer Jw§VdUyH$

1) Am§Vaamḯ>r¶ ì¶mnma,  {gÕm§V d ^maV

1) Am§Vaamï´>r¶ ì¶mnmamÀ¶m hoŠñMa-AmohcrZ {gÕm§VmZwgma :
a) Am§VaamîQ´>r¶ ì¶mnmamMr aMZm CËnmXZ KQ>H$ {dnwcVm Am{U CËnmXZ KQ>H$ àXmZVm ¶m§À¶m Ûmao {ZYm©[aV hmoVo.
b) H$mimÀ¶m AmoKmV CËnmXZ KQ>H$ {dnwcVm Am{U CËnmXZ KQ>H$ àXmZVm ¶m§À¶m‘Ü¶o ~Xc hmoUo e³¶ ZgVo.
darcn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/V ?
1) (a) Am{U (c) {dYmZo ~amo~a Amho 2) Ho$di (b)  ~amo~a Amho
3) Ho$di (a) ~amo~a Amho 4) darcn¡H$s H$moUVohr Zmhr

1) According to the Heckscher - Ohlin theory of international trade -

a)  the pattern of international trade is determined by factor endowments and factor intensities.

b) changes in factor endowments and factor intensities is not possible over time

Which of the statement/s given above is/are correct ?

1) (a) and (b) are correct statements 2) Only (b) is correct

3) Only (a) is correct 4) None of the above

2) Vm¡c{ZH$ IMm©À¶m {gÕm§VmZwgma Am§Vaamï´>r¶ ì¶mnma KSy>Z ¶oVmo H$maU .........
a) doJdoJù¶m Xoem§Zm doJdoJù¶m dñVy§À¶m CËnmXZmV doJdoJio cm^ AgVmV.
b) doJdoJù¶m Xoem§Zm g‘mZ dñVy§À¶m CËnmXZmV doJdoJio cm^ AgVmV.
c) doJdoJù¶m Xoem§Zm g‘mZ dñVy§À¶m CËnmXZm‘Ü¶o g‘mZ cm^ AgVmV.
n¶m©¶r CÎmao :
1) (a),(b) {dYmZo ¶mo½¶ AmhoV 2) (a) {dYmZ ¶mo½¶ Amho
3) (b) {dYmZ ¶mo½¶ Amho 4) (b), (c) {dYmZo ¶mo½¶ AmhoV.

2) According to the theory of comparative costs, International Trade takes place because

a) different countries have different advantages in the production of different commodities.

b) different countries have different advantages in the production of same commodities.

c) different countries have same advantages in the production of same commodities.

Answer Options :

1) (a), (b) statements are correct 2) (a) statement is correct

3) (b) statement is correct 4) (b), (c) statements are correct
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3) àm. AmohcrZ ¶m§Zr Am§Vaamï´>r¶ ^m§S>dcr hmcMmcrgmR>r H$moUVr H$maUo gwM{dcr AmhoV ?
1) ì¶mOXamVrc {^ÞVm 2) H$aZrVr
3) Z¡g{J©H$ gmYZ g§nÎmrMr CncãYVm 4) darc gd©

3) Which are the suggested causes by Prof. Ohlin for International Capital Movement ?

1) Difference in interest rate 2) Taxation policy

3) Availability of Natural Resources 4) All of above

2) {dXoer ì`mnma - AmH$ma‘mZ
1) Imbrbn¡H$s H$moUVr df} 1949-50 Vo 2019-20 À¶m Xaå¶mZ ì¶mnma {e„H$sMr gH$mamË‘H$ hmoVr?

a) 1972-73 b) 2016-17 c) 2007-08 d) 1976-77
n¶m©¶r CÎmao …
1) ’$º$  (a), (b) Am{U (c) 2) ’$º$  (b), (c) Am{U (d)

3) ’$º$  (b) Am{U (c) 4) ’$º$  (a) Am{U (d)

1) Which of the following years trade balance was positive during 1949-50 to 2019-20 ?

a) 1972-73 b) 2016-17 c) 2007-08 d) 1976-77

Answer Options :

1) Only (a), (b) and (c) 2) Only (b), (c) and (d)

3) Only (b) and (c) 4) Only (a) and (d)

2) Ad‘yë¶Z {XZm§H$ d Ad‘yë¶ZmMr Q> o̧$dmar Imbr XoÊ¶mV Ambr Amho. OmoS>çm Owidm.
      ñV§̂  - I ñV§̂  - II

a) 26 gßQ>|~a 1949 i) 9.5%
b) 6 OyZ 1966 ii) 30.5%
c) 1 Owb¡ 1991 iii) 2.00%
d) 15 Owb¡ 1991 iv) 36.5%
n¶m©¶r CÎmao …

a b c d

1) ii iv i iii

2) iii ii iv i

3) i iii ii iv

4) iv i iii ii

2) Date of devaluation and percentage of devaluation are given below. Match the pairs.

     Unit — I Unit — II

a) 26th September 1949 i) 9.5%

b) 6th June 1966 ii) 30.5%

c) 1st July 1991 iii) 2.00%

d) 15th July 1991 iv) 36.5%

Answer options :

a b c d

1) ii iv i iii

2) iii ii iv i

3) i iii ii iv

4) iv i iii ii
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3) {dXoer ì`mnma - {Xem

1) 2021-22 Xaå¶mZ ‘o{Q´>H$ Q>Z‘Ü¶o ^maVr¶ {Z¶m©VrÀ¶m g§X^m©V Imbrb ’$im§Mr MT>Ë¶mH«$‘mZo ‘m§S>Ur H$am.
a) Ho$ir b) Am§~m c) Ðmjo d) g§Ìr
n¶m©¶r CÎmao …
1) a, b, c, d 2) b, d, c, a 3) b, c, d, a 4) a, c, b, d

1) Arrange the following fruits in ascending order in the context of India’s exports in metric tonnes

during 2021 — 22.

a) Banana b) Mango c) Grapes d) Orange

Answer options :

1) a, b, c, d 2) b, d, c, a 3) b, c, d, a 4) a, c, b, d

2) H$WZ I … ''gZ 2016-2017 ‘Ü¶o ^maVmÀ¶m {Z¶m©Vr‘Ü¶o A{^¶m§{ÌH$s dñVy§Zr àW‘ ñWmZ nQ>H$m{dbo.''
H$WZ II … ''EHy$U {Z¶m©V CËnÞmÀ¶m Odinmg 3/4 {hñgm CËnm{XV dñVyÀ¶m {Z¶m©VrMm hmoVm.''
n¶m©¶r CÎmao …
1) H$WZ I Am{U II, XmoÝhrhr gË¶ AmhoV. 2) ’$º$ H$WZ I gË¶ Amho.
3) ’$º$ H$WZ II gË¶ Amho. 4) H$WZ I Am{U II, XmoÝhrhr gË¶ AmhoV.

2) Statement I : "Engineering goods occupied the first place in the India’s export earning in 2016

— 2017".

Statement II : "Export of manufactured products accounted for almost 3/4 of total exports

earnings".

Answer options :

1) Statement I and II, both are true 2) Only statement I is true

3) Only statement II is true 4) Statement I and II, both are false

3) Imbrbn¡H$s H$moUVo/Vr {dYmZ/Zo ~amo~a Amho/AmhoV?
a) 1991 Vo 2016 ¶m Xaå¶mZ ^maVmMr godm§Mr {Z¶m©V H$‘r Pmbr.
b) 2016-17 ‘Ü¶o ^maVmÀ¶m EHy$U {Z¶m©V H¥$fr Am{U g§~§{YV dñVy§Mm dmQ>m 12.3% hmoVm.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) (a) Am{U (b) XmoÝhr 3) ’$º$ (b) 4) darbn¡H$s H$moUVohr Zmhr

3) Which of the following statement/statements is/are correct ?

a) During 1991 to 2016, India’s export of services decreased.

b) In 2016-17, the share of agriculture and allied products in total export of India was 12.3%,

Answer Options :

1) Only (a) 2) Both (a) and (b) 3) Only (b) 4) None of the above

4) Imbrb {dYmZo {dMmamV ¿¶m.
a) E{àb - Zmoìh|~a, 2022 ‘Ü¶o ¶yEgE ho gdm}ƒ {Z¶m©VrMo {R>H$mU hmoVo.
b) E{àb - Zmoìh|~a, 2022 ‘Ü¶o ZoXac±S>g ^maVmÀ¶m {Z¶m©VXma ^mJrXmarV {Vgè¶m H«$‘m§H$mda hmoVm.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ Amho/V?
n¶m©¶r CÎmao …
1) XmoÝhr a Am{U b ¶mo½¶ AmhoV 2) Ho$di b ¶mo½¶ Amho
3) Ho$di a ¶mo½¶ Amho 4) darbn¡H$s H$moUVohr ¶mo½¶ Zmhr
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4) Consider the following statements.

a) The USA was the top export destination in April — November, 2022.

b) Netherlands was the 3rd spot as India’s exporting partner in April—November, 2022.

Which of the statement/s given above is /are correct ?

Answer options :

1) Both a and b are correct 2) Only b is correct

3) Only a is correct 4) None of the above are correct

5) Imbrbn¡H$s H$moUVo/Vr {dYmZ/Zo MyH$ Amho/V?
a) 2022-23 ‘Ü¶o ̂ maVr¶ ì¶mnmar ‘mbmMr {Z¶m©V US $ 450.4 AãO BVH$s hmoVr Vr ‘mJrb dfu 44.6 Q>³³¶m§À¶m

VwbZoV 6.7 Q>³³¶m§Zr dmT>br.
b) 2022-23 ‘Ü¶o ^maVr¶ ì¶mnmar ‘mbmMr Am¶mV US $ 613.1 AãO BVH$s hmoVr Vr ‘mJrb dfuÀ¶m 30.3

Q>³³¶m§À¶m VwbZoV 4.4 Q>³³¶m§Zr dmT>br.
n¶m©¶r CÎmao …
1) ’$º$ a MyH$ Amho 2) ’$º$ b MyH$ Amho
3) XmoÝhr a Am{U b MyH$ Amho 4) darbn¡H$s H$moUVohr MyH$ Zmhr

5) Which of the following statement/s is/are incorrect ?

a) Indias merchandise exports at US $ 450.4 billion in 2022-23 grew by 6.7 percent as compared

with 44.6 percent in the previous year.

b) Indias merchandise imports at US $ 613.1 billion in 2022-23 grew by 4.4 percent as compared

with 30.3 percent in the previous year.

Answer options :

1) Only a is incorrect 2) Only b is incorrect

3) Both a and b are incorrect 4) None of the above are incorrect

4) {dXoer ì`mnma aMZm

5) {dXoer ì`mnma YmoaU

1) ...... hr g{‘Vr ^maV gaH$maZo Am¶mV-{Z¶m©V ì¶mnma {ddmX gmoS>{dÊ¶mgmR>r ñWmnZ Ho$bobr Amho.

1) EPCs 2) APEDA 3) CQCTD 4) EICs

1) ______ committee is set up to resolve import-export trade dispute by the Indian government.

1) EPCs 2) APEDA 3) CQCTD 4) EICs

2) {Z¶m©V àmoËgmhZmgmR>r ^maVr¶ {Z¶m©VXmam§Zm ^maV gaH$maH$Sy>Z ...... ho àmoËgmhZ {Xbo OmVo.
a) amoI ‘XV b) H$a à{VJ«h c) Am¶mV bm^
n¶m©¶r CÎmao …
1) ’$º$ a 2) ’$º$ c 3) ’$º$ b Am{U c 4) darb gd©

2) For purpose of export promotion the incentives offered to the Indian exporters by the Government

of India are as

a) Cash Assistance. b) Duty Drawbacks. c) Import entitlement.

Answer options :

1) Only a 2) Only c 3) Only b and c 4) All the above
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3) 'VobmgmR>r AÞ' ¶moOZoMo H$maU ...... hmoVo.
a) S>m°ba g§H$Q> b) XwîH$mi
c) AÞYmÝ¶mÀ¶m Cƒ {H$‘Vr d) g§¶wº$ amï´>g§KmMo à{V~§Y
n¶m©¶r CÎmao …
1) (a), (b), (c) 2) (b) and (c) 3) (a) 4) (d)

3) Oil for food program was result of .......

a) Dollar crisis b) Drought

c) High food prices d) U. N. sanctions

Answer Options :

1) (a), (b), (c) 2) (b) and (c) 3) (a) 4) (d)

6) OmJ{VH$ ì¶mnma g§KQ>Zm

1) WTO À¶m ~m~VrV Imcrcn¡H$s H$moUVo/Vr {dYmZ/Zo ~amo~a Amho/V ?
a) WTO Am§Vaamï´>r¶ ì¶mnmamVrc ôX^mdmÀ¶m dmJUwH$sÀ`m CƒmQ>ZmgmR>r H$m¶© H$aVo.
b) WTO Amnë¶m gXñ¶ Xoem§Zm XrK©H$mcrZ {dH$mgmË‘H$ AW©ghmæ¶ nwa{dVo.
c) WTO g§¶wº$ amï´>g§§KmMm à{V{ZYr Zmhr.
n¶m©¶r CÎmao :
1) ’$º$ (a) 2) (a) Am{U (c) 3) ’$º$  (b) 4) ¶mn¡H$s Zmhr

1) Which of the following statement/s is/are true about WTO ?

a) WTO works to eliminate discriminatory treatment in international trade.

b) WTO provides long term developmental assistance to its members.

c) WTO is not an agent of the United Nations.

Answer Options :

1) Only (a) 2) (a) and (c) 3) Only (b) 4) None of the above

2) '{Q´>åg' g§X^m©Vrb nwT>rbn¡H$s H$moUË¶m ~m~r OmJ{VH$ ì¶mnma g§KQ>ZoÀ¶m {Z¶‘m§er OwiUmè¶m ZmhrV?
a) ñWm{ZH$ H$ÀÀ¶m ‘mbmMr Amdí¶H$Vm b) ì¶mnma g§VwbZmMr Amdí¶H$Vm
c) naH$s¶ MbZmMr Amdí¶H$Vm d) Xoem§VJ©V {dH«$sMr Amdí¶H$Vm
n¶m©¶r CÎmao …
1) a Am{U c 2) b Am{U d 3) a Am{U b 4) a, b, c Am{U d

2) Which of the following TRIMS is/are inconsistent with the WTO Articles ?

a) Local content requirements b) Trade balancing requirements

c) Foreign exchange requirements d) Domestic sales requirements

Answer options :

1) a and c 2) b and d 3) a and b 4) a, b, c and d
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7) Am§Vaamḯ>r¶ ZmUo{ZYr

1) Am§Vaamï´>r¶ ZmUo{ZYrMr Imcrcn¡H$s XmoZ à‘wI H$m¶©©o H$moUVr ?
a) gXñ¶ Xoem§À¶m {d{Z‘¶ XamMo {Z¶§ÌU H$aUo.
b) gXñ¶ Xoem§Zm naH$s¶ McZ Anwao nS>ë¶mg Am§Vaamï´>r¶ amoIVm CncãY H$éZ XoUo.
c) A{dH${gV gXñ¶ Xoem§Zm nm¶m ŷV gw{dYm {dH$mgmgmR>r ‘XV H$aUo.
d) gXñ¶ amï´>mVrc ^mddmT> àË¶jnUo {Z¶§ÌUmV R>odUo.
¶mo½¶ n¶m©¶ {ZdS>m :
1) (a) Am{U (c) 2) (b) Am{U (c) 3) (a) Am{U (b) 4) (c) Am{U (d)

1) Which of the following are two important functions of IMF ?

a) To control exchange rate of member countries,

b) To provide International Liquidity to member countries in inadequacy of foreign exchange

reserves.

c) To assist for infrastructural development to undeveloped member countries.

d) To control inflation directly in member countries.

Choose the correct options.

1) (a) and (c) 2) (b) and (c) 3) (a) and (b) 4) (c) and (d)

8) OmJ{VH$ ì¶mnma ¶§ÌUm d ì¶mgnrR>o

1) Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV ?
a) AmonoH$ (OPEC) Mo ‘w»¶mb¶ Xþ~B© ¶oWo Amho.
b) AmonoH$ (OPEC) Mr ñWmnZm gßQ>|~a 1960 ‘Ü¶o H$aÊ¶mV Ambr.
c) gÜ¶m AmonoH$ Mr gXñ¶g§»¶m 15 Amho.
c) ^maV AmonoH$Mm gXñ¶ Amho.
n¶m©¶r CÎmao …
1) (a), (c) (d) 2) (b), (d) 3) (b),  (c) 4) (c),  (d)

1) Which of the following statements are correct ?

a) The headquarter of OPEC is at Dubai.

b) OPEC was established in September 1960.

c) At present membership of OPEC is 15.

d) India is a member of OPEC.

Answer Options :

1) (a), (c) (d) 2) (b), (d) 3) (b),  (c) 4) (c),  (d)

2) {~«³g (BRICS) g§X^m©V Imbrbn¡H$s H$moUVo {dYmZ gË¶ Amho ?
1) {~«³gMr ñWmnZm 2011 ‘Ü¶o H$aÊ¶mV Ambr. 2) {~«³gMo ‘w»¶mb¶ ‘mñH$mo ¶oWo Amho.
3) ^maV hm {~«³gMm gXñ¶ Amho. 4) {~«Q>Z, a{e¶m ho {~«³gMo gXñ¶ AmhoV

2) Which one of the following statements is correct regarding BRICS ?

1) BRICS was established in 2011. 2) The headquarter of BRICS is at Moscow.

3) India is a member of BRICS. 4) Britain, Russia are members of the BRICS.
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3) àmXo{eH$ g‘J« Am{W©H$ gh^mJ ........... g§X^m©V nwT>rb {dYmZm§VyZ A¶mo½¶ {dYmZ AmoiIm …
a) hm Am{g¶mZ Am{U gmH©$ Xoem§Vrb ‘wº$ ì¶mnma H$ama Amho.
b) øm dmQ>mKmQ>r MMmªMr gdm©V àW‘ gwédmV ^maVmV 2030 ‘Ü¶o Pmbr.
c) ¶m‘Ü¶o ~m¡{ÕH$ g§nXm Am{U godm§Vrb ì¶mnma ¶m§MmM g‘mdoe Amho.
d) OZVobm Ë¶m§Mo A{YH$ma {‘idyZ XoUo.
n¶m©¶r CÎmao …
1) (a), (b) 2) (b) 3) (b), (c)$ 4) (a), (b), (c)

3) Find the incorrect statement about Regional Comprehensive Economic Partmership (RCEP) from

below :

a) It is free trade agreement between ASEAN and SAARC members.

b) It’s negotiations of began in India in 2020 for the first time.

c) It covers areas of trade in services, intellectual property only.

Answer Options :

1) (a), (b) 2) (b) 3) (b), (c) 4) (a), (b), (c)

4) ¶wamo{nAZ ‘hmg§K …
a) ¶wamo{nAZ ‘hmg§K 1991 À¶m ‘°ñQ´>re H$amamVyZ {Z‘m©U Pmbm.
b) ¶wamonÀ¶m gm‘whrH$ g§ajU d naamï´> YmoaUmgmR>r à¶ËZerb AgUo.
c) nyU© ¶wamongmR>r EH$ MbZ d EH$ ZmJ[aH$Ëd {Z‘m©U H$aUo.
d) ¶wamo{nAZ ‘hmg§K hm ‘w»¶V… gm‘arH$ g§K Amho.
n¶m©¶r CÎmao …
1) n¶m©¶ (a), (b) Am{U (d) ~amo~a AmhoV. 2) n¶m©¶ (a), (b) Am{U (c) ~amo~a AmhoV.
3) (b), (c) Am{U (d) ~amo~a AmhoV 4) (a), (b), (c) Am{U (d) ~amo~a AmhoV

4) European Union ............

a) The European Union emerged from the Maastricht Treaty at 1991 . ,

b) To strive for Europe's collective defense and foreign policy

c) Creating one currency and one citizenship for the whole of Europe

d) The European Union is primarily a strategic alliance

Answer Options :

1) Option (a), (b) and (d) are correct 2) Option (a), (b) and (c) are correct

3) (b), (c) and (d) are correct 4) (a), (b), (c)  and (d) are correct

5) X{jUnyd© Am{e¶mB© amï´> g§KQ>Zm (ASEAN) ~m~V Imbrbn¡H$s H$moUVo {dYmZ AgË¶ Amho ?
a) Am{g¶ZMr ñWmnZm ~±H$m°H$‘Ü¶o 1968 gmbr nmM gXñ¶ amï´>m§H$Sy>Z Ho$br Jobr.
b) qgJmnya Am{g¶mZÀ¶m g§ñWmnH$ gXñ¶ amï´>m§n¡H$s EH$ Amho.
c) ^maV hm Am{g¶ZÀ¶m joÌr¶ g§dmX à{H«$¶oVrb ^mJrXma Amho.
d) Am{g¶mZMo Xhm gXñ¶ Xoe AmhoV
n¶m©¶r CÎmao …
1) (a) Am{U (b) 2) ’$º$ (b)$ 3) ’$º$ (a) 4) ’$º$ (d)
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5) Which one of the following statements regarding the Association of South East Asian Nations

(ASEAN) is not correct ?

a) ASEAN was established in the year 1968 in Bangkok by five member countries. .

b) Singapore is one of the founder members of ASEAN. (tes

c) India is sectoral dialogue partner of ASEAN. Get a

d) ASEAN has ten members.

Answer Options :

1) (a)  and (b) 2) Only (b) 3) Only (a) 4) Only (d)

6) ¶mo½¶ H$WZ AmoiIm …
a) noQ´>mob {Z¶m©V H$aUmè¶m Xoem§Mo g§KQ>Z (OPEC) Mr ñWmnZm 1960 ‘Ü¶o Pmbr.
b) BamU d BamH$ hr OPEC Mr g§ñWmnH$ gXñ¶ amï´>o AmhoV.
c) OPEC Mm CÔoe noQ´>mo{b¶‘Mo ^md pñWa R>odUo Amho.
d) Zm`Oo[a`m d {b{~¶m ho gwÕm OPEC Mr g§ñWmnH$ gXñ¶ amï´>o AmhoV.
n¶m©¶r CÎmao …
1) ’$º$ (a), (b), (c) 2) ’$º$ (b), (c), (d) 3) ’$º$ (a), (c), (d) 4) ’$º$ (a), (b), (d)

6) Select the correct statements :

a) The Organisation of Petroleum Exporting Countries is established in 1960.

b) Iran and Iraq are founder members of OPEC.

c) To maintain or stable the rates of petroleum is objectives of OPEC.

d) Nigeria and Libia are also founder members of OPEC.

Answer options :

1) Only (a),(b),(c) 2) Only (b),(c),(d) 3) Only (a), (c),(d) 4) Only (a), (b),(d)

7) ¶wamo{n¶Z ¶w{Z¶Z ~m~V Imbrb {dYmZo {dMmamV ¿¶m …
a) ¶wamo{n¶Z ¶w{Z¶ZMm {dH$mg hm ghm g§ñWmnH$ amï´>m§H$Sy>Z Pmbobm Amho.
b) ¶wamo{n¶Z ¶w{Z¶ZMo Am°pñQ´̀ m Am{U ñdrS>Z ho g§ñWmnH$ gXñ¶ AmhoV.
c) ẁamonr` ¶w{Z¶ZMo g^mgX hmoÊ¶mgmR>r Ë¶m XoemV pñWa bmoH$emhr Or ‘mZdr A{YH$ma Am{U H$m¶ÚmMo A{YamÁ¶

¶m§Mm gÝ‘mZ H$aUmar AgUo Amdí¶H$ Amho.
d) {bñ~Z H$amamVrb AZwÀN>oX 50 ‘Ü¶o ¶wamo{n¶Z ¶w{Z¶ZMo g^mgXËd gmoS>Ê¶mMr VaVyX Amho.
darbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV ?
1) (a), (b), (c) 2) darb gd© 3) (b), (c), (d) 4) (a), (c), (d)

7) Consider the following statements regarding European Union :

a) European Union has been growth from the six founding states.

b) Austria and Sweden are the founding members.

c) To become a member, a country must requires a stable democracy that respects human rights

and the rule of law.

d) The Lisbon Treaty contains a clause under Article 50, providing for a member to leave the

European Union.

Which of the statements given above are correct ?

1) (a) (b) , (c) 2) All above 3) (b) ,(c), (d ) 4)  (a),(c),(d)



Am¶wº$/A{YH$mar g‘mOH$ë¶mU ImVo narjm / 66

For Private Circulation Only

8) ì¶mnH$ àmXo{eH$ Am{W©H$ ^mJrXmar hm eãXà¶moJ ...... ¶m Xoem§À¶m JQ>mÀ¶m KS>m‘moS>r g§X^m©V Zoh‘rM ~mVå¶m§‘Ü¶o
AgVmo.
1) Or-20 2) Am{e¶mZ 3) gmH©$ 4) Eg. gr. Amo.

8) The term 'Regional Comprehensive Economic Partnership' often appears in the news in the context

of the affairs of a group of countries known as ......

1) G-20 2) ASEAN 3) SAARC 4) SCO

9) Imbrbn¡H$s H$moUVm Xoe Am{g¶m n°{g{’$H$ BH$m°Zm°{‘H$ H$moAm°naoeZ (APEC) Mm gXñ¶ Zmhr ?
1) Am°ñQ´>o{b¶m 2) hm±JH$m±J 3) ^maV 4) MrZ

9) Which of the following Countries is not a member of the Asia-Pacific Economic Cooperation

(APEC) ?

1) Australia 2) Hongkong 3) India 4) China

9) {dXoer Jw§VdUyH$

1) 2020-21 ‘Ü¶o WoQ> {dXoer Jw§VdUwH$sÀ¶m g§X^m©V Imbrb amÁ¶m§Mr MT>Ë¶m H«$‘mZo ‘m§S>Ur H$am.
a) H$Zm©Q>H$ b) ‘hmamï´> c) JwOamV d) Vm{‘iZmSy>
n¶m©¶r CÎmao …
1) (a), (d), (c) Am{U (b) 2) (b), (c), (d) Am{U (a)

3) (d), (a), (b) Am{U (c) 4) (c), (b), (d) Am{U (a)

1) Arrange the following states in ascending order in respect of foreign direct investment during

a) Karnataka b) Maharashtra c) Gujarat d) Tamil Nadu

Answer Options :

1) (a), (d), (c) and (d) 2) (b), (c), (d) and (a)

3) (d), (a), (b) and (c) 4) (c), (b), (d) and (a)

2) ^maV gaH$maH$Sy>Z ...... ‘Ü¶o 100 Q> o̧$ n¶ªV {dXoer àË¶j Jw§VdUwH$scm nadmZJr XoÊ¶mV Ambr Amho.
a) {d‘mZVio b) Hw$[aAa godm
c) hm°Q>ob Am{U n¶©Q>Z joÌ d) Vob ewÕrH$aU
n¶m©¶r CÎmao …
1) ’$º$ (a), (b) Am{U (c) 2) ’$º$ (a) Am{U (b)

3) ’$º$ (b) Am{U (c) 4) (a), (b), (c) Am{U (d)

2) Foreign direct investment upto 100 percent is permitted in by Government of India.

a) Airports b) Courier Services

c) Hotel and Tourism sector d) Oil refining

Answer Options :

1) Only (a), (b) and (c) 2) Only (a) and (b)

3) Only (b) and (c) 4) (a), (b), (c) and (d)
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11) ~±qH$J - MbZ nwadR>m, H«o${S>Q> Am{U ‘m°{ZQ>ar nm°{bgr

1) ~±qH$J
2) MbZ nwadR>m, H«o${S>Q> Am{U ‘m°{ZQ>ar nm°{bgr
3) {dÎmr¶ joÌ

1) ~±qH$J

1) ^maVr¶ [aPìh© ~±Ho$Zo ...... amoOr Amnë¶m B©-Hw$~oa àUmbrda ñd¶§M{bV ñdrn-BZ Am{‘ ñdrn-AmD$Q> gw{dYm gwê$
Ho$br.
1) 2 Am°³Q>mo~a 2020 2) 1 E{àb 2020 3) 6 Am°JñQ> 2020 4) 1 Owb¡ 2020

1) The Reserve Bank of India introduced the automated sweep-in and sweep-out facility on its e-

kuber system on ....

1) October 2, 2020 2) April 1, 2020 3) August 6, 2020 4) July 1, 2020

2) ...... ¶m§À¶m AÜ¶jVoImbrb ~±qH$J joÌmVrb gwYmaUm g{‘VrZo Amnbm Ahdmb ^maV gaH$maÀ¶m AW©‘§Ìmb¶mg
...... ‘Ü¶o gmXa Ho$bm.
1) E‘. Za{g§hZ, E{àb 1998 2) S>r. E‘. ZmMUo, 2004-2005
3) E‘. ZaqghZ, Am°JñQ> 1998 4) g§gXr¶ bmoH$boIm g{‘Vr, gßQ>|~a 2016

2) Committee on Banking Sector’s Reform’s under the chairmanship of has submitted their reports

to the ministry of finance, Government of India, in

1) M. Narasimhan, April 1998

2) D. M. Nachane, 2004-2005

3) M. Narasimhan, August 1998

4) Parliamentary Accounts Committee, September 2016

3) ^maVmVrb R>odtÀ¶m g§X^m©V Imbrb {dYmZo {dMmamV ¿¶m.
a) 2022-23 ‘Ü¶o nmoñQ> Am°{’$g‘Yrb EHy$U R>odr ~±H$m§‘Yrb doioÀ¶m R>odtnojm OmñV hmoË¶m.
b) 2022-23 ‘Ü¶o ^maVr¶ [aPìh© ~±Ho$À¶m BVa R>odtnojm nmoñQ> Am°{’$g ~MV R>odr OmñV hmoË¶m.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ Amho/V?
1) ’$º$ a ¶mo½¶ Amho 2) ’$º$ b ¶mo½¶ Amho
3) XmoÝhr a Am{U b XmoÝhr ¶mo½¶ AmhoV 4) darbn¡H$s H$moUVohr ¶mo½¶ Zmhr

3) Consider the following statements in the context of deposits in India.

a) During 2022-23 the total post office deposits was higher than time deposits with banks.

b) Post office saving bank deposits was higher than ‘other’ deposits with Reserve Bank of India in

2022-23.

Which of the statement/s given above is /are correct ?

1) Only a is correct 2) Only b is correct

3) Botha and b are correct 4) None of above are correct
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4) gmd©O{ZH$ joÌmVrb ~±H$m {dcrZrH$aUmÀ`m OmoS>çm Owidm.
hñVm§VaU ~±H$ hñVm§VaU ~±H$
a) Abmhm~mX ~±H$ i) n§Om~ Z°eZb ~±H$
b) Amo[aE§Q>b ~±H$ Am°’$ H$m°‘g© ii) ¶w{Z¶Z ~±H$ Am°’$ B§{S>¶m
c) H$m°nm}aoeZ ~±H$ iii) H°$Zam ~±H$
d) qg{S>Ho$Q> ~±H$ iv) B§{S>¶Z ~±H$
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (iv) (iii) (ii) (i)

3) (iv) (i) (ii) (iii)

4) (i) (iv) (iv) (ii)

4) Match the following Merger of Public Sector Banks :

Transferor Banks Transferee Bank

a) Allahabad Bank i) Punjab National Bank

b) Oriental Bank of Commerce ii) Union Bank of India

c) Corporation Bank iii) Canara Bank

d) Syndicate Bank iv) Indian Bank

Answer Options :

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (iv) (iii) (ii) (i)

3) (iv) (i) (ii) (iii)

4) (i) (iv) (iv) (ii)

5) R>od {d‘m Am{U nV h‘r ‘hm‘§S>i (gwYmaUm) H$m¶Xm 2021 À¶m g§X^m©V Imbrb {dYmZo {dMmamV ¿¶m …
a) R>od {d‘m hám gd© {d‘mYmaH$ VgoM {d‘mYmaH$ Zgboë¶m ~±H$mgmR>r A{Zdm¶© Amho.
b) R>od {då¶mMm hám R>odrXmam§H$Sy>Z dgyb Ho$bm OmV Zmhr.
c) R>od {d‘m hám ~±H$m§Ûmao ^abm OmVmo.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ Amho/V?
1) Ho$di (a) Am{U (b) ¶mo½¶ AmhoV 2) Ho$di (b) Am{U (c) ¶mo½¶ AmhoV
3) Ho$di (a) Am{U (c) ¶mo½¶ AmhoV 4) Ho$di (a) ¶mo½¶ Amho

5) Consider the following statements in the context of the Deposit Insurance and Credit Guarantee

Corporation (Amendment) Act, 2021 :

a) The deposit insurance premium is compulsory for all insured as well as non-insured banks.

b) The deposit insurance premium is not recovered from the depositors,

c) The deposit insurance premium is paid by banks.

Which of the statement/s given above is/are correct ?

1) Only (a) and (b) are correct 2) Only (b) and (c) are correct

3) Only (a) and (c) are correct 4) Only (a) is correct
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6) H$mo{dS>-19 À¶m nmíd©̂ y‘rda ^maVr¶ [aPìh© ~±Ho$Zo ...... Anma§nm[aH$ ‘m¡{ÐH$ YmoaUmMr gmYZo gmXa Ho$br.
a) XrK©H$mbrZ aonmo Am°naoeÝg b) CbQ> aonmo Am°naoeÝg
c) b{jV XrK©H$mbrZ aonmo Am°naoeÝg d) Xo¶ àUmbr Am°naoeÝg
n¶m©¶r CÎmao …
1) Ho$di (a) Am{U (b) 2) Ho$di (a) Am{U (c) 3) Ho$di (a) Am{U (d) 4) darbn¡H$s gd©

6) In the wake of the COVID-19, Reserve Bank of India introduced Unconventional Monetary Policy

tools in terms of

a) Long Term Repo Operations b) Reverse Repo Operations

c) Targeted Long Term Repo Operations d) Payment System Operations

Answer Options :

1) Only (a) and (b) 2) Only (a) and (c) 3) Only (a) and (d) 4) All of the above

7) 30 gßQ>|~a 2021 amoOrÀ¶m [aPìh© ~±Ho$À¶m {Z¶‘m§Zwgma ~±Ho$Va {dÎm g§ñWm§À¶m aMZoÀ¶m g§X^m©V Imbrb {dYmZo
{dMmamV ¿¶m …
a) Zm~mS>© hr EH$ ~±Ho$Va {dÎm g§ñWm Amho.
b) J¥h{Z‘m©U {dÎm H§$nÝ¶m ~±qH$J {dÎmr¶ g§ñWm AmhoV.
c) amï´>r¶ J¥h{Z‘m©U ~±H$ hr EH$ ~±Ho$Va {dÎm g§ñWm Amho.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶  Amho/V?
n¶m©¶r CÎmao …
1) ’$º$ (b) ¶mo½¶ Amho 2) ’$º$ (c) ¶mo½¶ Amho
3) ’$º$ (a) Am{U (c) ¶mo½¶ AmhoV 4) ’$º$ (b) Am{U (c) ¶mo½¶ AmhoV

7) Consider the following statements in the context of structure of Non-Banking Financial Institutions

under Reserve Bank’s Regulations as on September 30, 2021 :

a) NABARD is a Non-Banking Financial Institution.

b) Housing Finance Companies are Banking Financial Institutions.

c) National Housing Bank is a Non-Banking Financial Institution.

Which of the statement/s given above is/are correct ?

1) Only (b) is correct 2) Only (c) is correct

3) Only (a) and (c) are correct 4) Only (b) and (c) are correct

8) Zaqgh‘ g{‘VrÀ¶m (1991) {e’$magrMo hoVr ...... hmoVo.
a) n[aMmbZ cdMrH$VoMo à‘mU {ZpíMV H$aUo.
b) gmd©O{ZH$ ~±H$m§Zm {ZU©¶ à{H«$¶o‘Yrb A§VJ©V ñdm¶ÎmVm {ZpíMV H$aUo.
c) ~±Ho$Vrb ì¶mdgm{¶H$Vm ‘moR>çm à‘mUmV {ZpíMV H$aUo.
d) darbn¡H$s gd©
n¶m©¶r CÎmao …
1) ’$º$ a 2) a Am{U b 3) ’$º$ c 4) ’$º$ d

8) The Narasimham Committee (1991) recommendations were aimed at

a) Ensuring a degree of operational flexibility.

b) Ensuring internal autonomy for the public banks in their decision making process.

c) Ensuring greater degree of professionalism in banking operations.

d) All of the above.

Answer options :

1) only a 2) a and b 3) only c 4) only d
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9) Imbrb {dYmZo {dMmamV ¿¶m.
a) 2018 ‘Ü¶o Ama~rAm¶Zo ñWm¶r R>od gw{dYm gwê$ Ho$br.
b) ~±Ho$À¶m gwQ²>Q>çm dJiVm AmR>dS>çmVrb gd© {Xdg ñWm¶r R>od gw{dYm CnbãY Agob.
c) ñWm¶r R>od gw{dYm hr cdMrH$ Xa [aìhg© aonmoÀ¶m EodOr Agob.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo MyH$ Amho/V?
1) ’$º$ a Am{U b MyH$ AmhoV 2) ’$º$ a Am{U c MyH$ AmhoV
3) ’$º$ a MyH$ Amho 4) ’$º$ b Am{U c MyH$ AmhoV

9) Consider the following statements.

a) In 2018, the RBI has introduced the Standing Deposit Facility.

b) The Standing Deposit Facility will be available on all days of the week except bank holidays.

c) The Standing Deposit Facility will replace the flexible rate reverse repo.

Which of the statement/s given above is/are incorrect ?

1) Only a and b are incorrect 2) Only a and c are incorrect

3) Only a is incorrect 4) Only b and c are incorrect

2) MbZ nwadR>m, H«o${S>Q> Am{U ‘m°{ZQ>ar nm°{bgr

1) n¡emMr H$m¶} ¶m g§X^m©V nwT>rbn¡H$s H$moUVr/H$moUVo {dYmZo/{dYmZ MwH$sMo Amho/AmhoV?
a) {d{Z‘¶ ‘mÜ¶‘ ho n¡emMo Xþæ¶‘ H$m¶© Amho.
b) nm°b BÝPtJÀ¶m ‘Vo n¡emMr Xþæ¶‘ ñdê$nmMr H$m¶} hr J{Verb H$m¶} AmhoV.
n¶m©¶r CÎmao …
1) a Am{U b 2) Ho$di a 3) Ho$di b 4) darbn¡H$s H$moUVohr Zmhr

1) Which of the following statement/s is/are false in reference to functions of money ?

a) Medium of exchange is a secondary function of money.

b) According to Paul Einzing secondary functions of money are dynamic functions.

Answer options :

1) a and b 2) Only a 3) Only b 4) None of the above

3) {dÎmr¶ joÌ

1) ~±Ho$Va {dÎmr¶ g§ñWm d Ë¶m§Mo ñWmnZm df© Imbr XoÊ¶mV Ambo Amho. OmoS>çm Owidm.
              ñV§̂  - I       ñV§̂  - II

a) Am¶grAm¶grAm¶ (ICICI) i) Owb¡ 1948
b) Am¶S>r~rAm¶ (IDBI) ii) E{àb 1990
c) E‘Am¶S>r~rAm¶ (SIDBI) iii) OmZodmar 1955
d) Am¶E’$grAm¶ (IFCI) iv) Owb¡ 1964
n¶m©¶r CÎmao …

a b c d

1) i iii iv ii

2) iii iv ii i

3) iv ii i iii

4) ii i iii iv
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1) Non-banking financial institutions and their establishment year are given below. Match the pairs.

Unit — I Unit — II

a) ICICI i) July 1948

b) IDBI ii) April 1990

c) SIDBI iii) January 1955

d) IFCI iv) July 1964

Answer options :

a b c d

1) i iii iv ii

2) iii iv ii i

3) iv ii i iii

4) ii i iii iv

2) Imbrbn¡H$s H$moUVo/Vr {dYmZ/Zo ~amo~a Amho/AmhoV?
a) à{V ŷVr ~mOmamer g§~§{YV gd© ‘Ü¶ñW go~rÛmao {Z`{‘V Ho$bo OmVmV.
b) ^maVr¶ à{V ŷVr Am{U {d{Z‘¶ ‘§S>imMr ñWmnZm 1988 ‘Ü¶o Pmbr.
c) MH«$dVu g{‘VrÀ¶m {e’$maerda go~rbm 1992 ‘Ü¶o d¡Ym{ZH$ ‘mÝ¶Vm XoÊ¶mV Ambr.
n¶m©¶r CÎmao …
1) ’$º$ a {dYmZ 2) ’$º$ a Am{U b {dYmZo 3) a, b Am{U c {dYmZo 4) ’$º$ c {dYmZ

2) Which of the following statement/statements is/are correct ?

a) All intermediaries associated with the securities market are regulated by SEBI.

b) The securities and exchange board of India was set up in 1988.

c) SEBI was given statutory recognition in 1992 on recommendation of the Chakravarty

committee.

Answer options :

1) Only a statement 2) Only a and b statements

3) a, b and c statements 4) Only c statement
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CÎmao … (15) AW©ì¶dñWm

1) ZrVr Am¶moJ d amḯ>r¶ {dH$mg n[afX

1-4 2-3 3-4 4-4 5-4 6-3 7-2

2) Am{W©H$ {dH$mg d {Z¶moOZ - n§Mdm{f©H$ ¶moOZm§Mm B{Vhmg, emídV {dH$mg -
E‘S>rOr, EgS>rOr

1) Am{W©H$ {dH$mg d {Z¶moOZ,n§Mdm{f©H$ ¶moOZm§Mm B{Vhmg

1-4 2-3 3-3 4-1 5-4

2) emídV {dH$mg - E‘S>rOr, EgS>rOr

1-4 2-2 3-3 4-1 5-2 6-4 7-1 8-2

3) gyú‘ {Z¶moOZ, ‘hmJmB© - H$maUo, n[aUm‘, {Z §̀ÌU

‘hmJmB© - H$maUo, n[aUm‘, {Z §̀ÌU

1-3 2-3 3-3 4-4 5-1 6-4 7-1 8-3 9-1 10-1
11-2

4) ~oamoOJmar, H$m¡eë¶ {dH$mg d ñd¶§amoOJma , J[a~r

1) ~oamoOJmar d amoOJma {Z{‘©Vr H$m ©̀H«$‘

1-4 2-2 3-3 4-1 5-1 6-4 7-2 8-2 9-3

2) H$m¡eë¶ {dH$mg d ñd¶§amoOJma

1-3 2-2 3-4

3) J[a~r - g§H$ënZm, J[a~rMo ‘moO‘mn, Xm[aX²Œ¶ {Z‘y©bZ H$m ©̀H«$‘

1-4 2-4 3-3 4-2 5-3 6-3 7-4 8-3 9-2
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5) ^maVr¶ AW©ì¶dñWm d Am{W©H$ gwYmaUm

1) CËnÞ - OrìhrE, OrS>rnr

1-2 2-3 3-4 4-3 5-1 6-2 7-2 8-4 9-2 10-3

2) Am{W©H$ Am{U {dÎmr` YmoaUo

1-2

3) H$a ‘hgyb

1-3 2-1 3-4 4-1 5-2 6-3 7-3 8-4

4) AW©g§H$ën

1-1 2-4 3-1 4-4 5-3 6-1

5) gmd©O{ZH$ IM©

1-1 2-3

6) Am{W©H$ gwYmaUm

1-3 2-2 3-4 4-4 5-3 6-3 7-3

6) d§{MVm§gmR>r ({ó¶m, ‘wbo, ¶wdH$, d¶mod¥Õ, {Xì¶m§J, Hw$Qw>§~) Am{W©H$ {dH$mg CnH«$‘ d g~brH$aU

1-2

1) {ó¶m, ‘wbo, ¶wdH$, Hw$Qw>§~mMo g~brH$aU

1-3

2) d¶mod¥Õ, {Xì¶m§J ¶m§Mo g~brH$aU

1-3 2-3

7) H¥$fr d J««m‘rU {dH$mg

1) H¥$fr AW©emó

1-3 2-3 3-2

2) J««m‘rU nm¶m ŷV gw{dYm {dH$mg

1-4 2-1 3-1
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3) J««m‘rU {dH$mg àH$ën

1-2 2-3 3-3 4-4 5-1 6-1

4) eoVH$è¶m§Mo  Am{W©H$ gj‘rH$aU

1-1 2-3

5) H¥$fr nVnwadR>m

1-4 2-2

6) eoV‘mb qH$‘V YmoaU

1-1

7) H¥$fr CÚmoJ

1-3 2-1

8) CÚmoJ d nm¶m ŷV gw{dYm {dH$mg

1) CÚmoJ

1-2 2-2 3-3 4-4 5-3 6-4 7-1 8-3 9-2 10-1
11-3

2) nm¶m ŷV gw{dYm {dH$mg

1-2 2-2 3-2 4-3 5-4 6-4 7-3 8-4 9-1 10-3
11-2

9) bmoH$g§»¶m{df¶H$ g‘ñ¶m-AZmamo½¶ d {ZajaVm

1) bmoH$g§»¶m{df¶H$ g‘ñ¶m

1-4 2-3 3-4 4-4 5-4 6-3

2) AZmamo½¶ d {ZajaVm

1-1 2-4 3-3
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10) {dXoer ì¶mnma

1) Am§Vaamḯ>r¶ ì¶mnma,  {gÕm§V d ^maV

1-3 2-2 3-4

2) {dXoer ì`mnma - AmH$ma‘mZ

1-4 2-1

3) {dXoer ì`mnma - {Xem

1-2 2-1 3-3 4-1 5-2

4) {dXoer ì`mnma aMZm

5) {dXoer ì`mnma YmoaU

1-3 2-4 3-4

6) OmJ{VH$ ì¶mnma g§KQ>Zm

1-2 2-4

7) Am§Vaamḯ>r¶ ZmUo{ZYr

1-3

8) OmJ{VH$ ì¶mnma ¶§ÌUm d ì¶mgnrR>o

1-3 2-3 3-4 4-2 5-3 6-1 7-4 8-2 9-3

9) {dXoer Jw§VdUyH$

1-3 2-4

11) ~±qH$J - MbZ nwadR>m, H«o${S>Q> Am{U ‘m°{ZQ>ar nm°{bgr

1) ~±qH$J

1-3 2-1 3-2 4-3 5-2 6-2 7-3 8-4 9-4

2) MbZ nwadR>m, H«o${S>Q> Am{U ‘m°{ZQ>ar nm°{bgr

1-1

3) {dÎmr¶ joÌ

1-1 2-2


